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supp (X:,i) �� ��� ����. ��� �* ���"/��� ���	���� �� X:,i ���� supp (X:,i) = {k : Xk,i �= 0}�

��0�� Di = Dsupp(X:,i) �� ��� ���"	����. �* D ���������& ��� ����	�� ����.�� �)

supp (X:,i)� 1��� �� ����� ����

f (D) =
∑
i

inf
X:,i: X∈X

‖Y:,i −DX:,i‖22

=
∑
i

inf
X

supp(X:,i),i
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������� �	 
��
������� �

�� �� ���������� ������ ��

����� �	 Dsupp(X:,i)
 ����
�� �� λmin

(
Dsupp(X:,i)

)

 �� �����

���� �����
��� �� ��
���
�� �� 
�� 	�������� 	��
��

����������� 	
	
 ����� 
�� ����� ������
����

�� f (D) �� ���
������ 	�� ��� D�� 
��
 ��� ��
 ���������

��  ������ 
��
 D �� ��������
 ����
 ∃i ���� 
��
 rank (Di) < ‖supp (X:,i)‖0� !	 �����
��� 
���� i�
 
���� �"��
� ��� i ���� 
��
 Y:,i /∈ span (Di)
 
��� f (D) �� ������
�������

��� ����	 �� ����� �� �������" ��#�

$�� ����� 
�� �"�����
 �"������ ���� �"����� �� �������� �� ���� � ��� 
��
 %&'


() *'
  ��+& ��� �����������  ��+& ���� �������� 
� � �������� ����
 ��
��� 
��� 
��

������ �������� ������ 
��� ,����)����- �"����� ��� ���. ��
������
 
�� �������������

�������� �� ���������� 
� 
�� ������� �����

!� 
��� �"�����
 
�� 
������� ������ ��
��" Y �� ��
����� 	��� Y = D∗X∗ /
����

�� �� �����0 ����� D∗ ∈ D ��� 
�� ������
� ��

�� Ω �	 X∗ �� ������ �� ������	� 
��

��
�
����
 ����
� Ω �� � ������ ��
��" Ω ����� 1 ����� 
��
 
�� ������������� ��
�� ��

X∗ �� ���� ��� ��� ������� �
�������� !� ���
������


Y =

⎡
⎢⎢⎢⎢⎢⎢⎢⎣

1 0 0.7 0

0 1 0.7 0

0 0 −0.1 1

0 0 −0.1 1

⎤
⎥⎥⎥⎥⎥⎥⎥⎦
, Ω =

⎡
⎢⎢⎢⎢⎣

1 0 0 1

0 1 0 1

0 0 1 1

⎤
⎥⎥⎥⎥⎦ .

'�� 
� 
�� ���
������ �
���
��� �	 
��� �������
 
�� ��
���� D∗ ��� X∗ ��� �� ��
�����

�� ����� 
�� ���
 
���� ������� �	 Y ��� Ω2

D∗ =

⎡
⎢⎢⎢⎢⎢⎢⎢⎣

1 0 0.7

0 1 0.7

0 0 −0.1

0 0 −0.1

⎤
⎥⎥⎥⎥⎥⎥⎥⎦
, X∗ =

⎡
⎢⎢⎢⎢⎣

1 0 0 7

0 1 0 7

0 0 1 −10

⎤
⎥⎥⎥⎥⎦ . /3�40

�� ������� 
�� �������� �	 ��������. ������
��� 56#
 �
 378
 �� 	������
� 
�� ���
��)

���� ����
� ������� �� 
���� �	 
�� ��
�����
��� ������� �
�
�� �� (2.5)� �� ������	� 
��



������� �	 
��
������� �

�� �� ���������� ������ ��

��������	 
� ���
��� ������� ���������� �� ��� �����
���� D� ���
�� ��� ith �
��

�� 
�

�����
���� D �� di� �
������� ��
� ��� D∗ ����� �� (2.8)	 
� ������ ����

D (ε) =

[
d1, d2, d3 (ε)

]
, �����


���� d1 = [1, 0, 0, 0]T 	 d2 = [0, 1, 0, 0]T 	 ��� d3 (ε) = 1√
2

[√
1− ε2,

√
1− ε2, ε, ε

]T

���� ε ∈ [−1, 1]� �� ���� 
��	 ��� �����
���� ��  ��������!�� �� 
��� 
��  �������� ε ���

��� 
 ����!���
�  �
���� �� ������
��

inf
D∈D

f (D) = inf
ε

f (ε) = inf
ε

inf
X∈X (Ω)

‖Y −DX‖2F . ���"#�

�� �� ����� ���� ��� ��
��� 
 ����� ε∗ = −0.1
√
2 ��� ���� ��� �����
���� D (ε) �� �
����

���$ ��%����� 
��� ε = 0�

&��� ��� ��
�� ��� ��%����
�	 ��� �������� 
� ��������$ ���
������ �� ������� �


�����!��� ��� �
��������� 
� � ������  �������� ε� '
 ���� ���	 
� ���
�� ��� ������� �����


� ε �� ε0� (
� ��������� ���
������	 ��� εk ���
�� ��� ����� 
� ε �� ��� ��� 
� ��� kth

�������
�� �� ��� ����	 
� ����� ��

 ���� εk �
������� �
 !��
	 ��� �������� �����
����	

������ ���� ��� ��
��� 
 ����� ε∗ = −0.1
√
2� '��  �

� �$���� ��  �
����� ���

 
����

��� ������� ���  
�� 
��� �
 )  ����* )���

����� ����	
	 ��
�	�� �����
���� �����

�+� ���
����� �� �
�� �� 
 ����!���
�  �
������ ���� ��� �����
���� ��� ��� � ����

�
�,������ ��� ����������� � �����- %* D ��� � ���� X. ���� %* X ��� � ���� D�

)  ����� �+� �
 
�� �*�� ��	 
� ������ ���� 
��� ��� ������� ε0 �� �
� �  �
 �������

��
��� ��� ���� ����	 ε0 ∈ (0, 1]�	 ��� ���
����� 
��� ����� '�� �������� ����� �� )  ����*

��� �������� ��� � ���� 
� εk ��� �������� �������� ������� ����� �/����  �
������ '��

������ ��

� ���� ����� ��� �������
� k	 εk �� ����� ��

εk = εk−1

(
1− 0.07εk−1 − 0.48ε2k−1 + o(ε2k−1)

)
. ���""�


���� εk ∈ (0, ε0)� 0
�� ����εk �� �������� ������� ���� εk−1� '��� �� ���� 
��� k → ∞	 εk

�
������� �
 0 ������ ���� −0.1
√
2	 ����	 ��� �����
���� D �
�� �
� �
������ �
 D∗�



������� �	 
��
������� �

�� �� ���������� ������ ��

����� �����

�� ������	�
� ��� ��
������� ���� �� ε0 ∈ (0, 1]� ��� xT
i ������ ��� ith ��� �� X� ��

��� ���������		� ������
(
di, x

T
i

)
�� i ∈ [3]� �� ���� ���� !� ��� ������ �

(
d1, x

T
1

)
���(

d2, x
T
2

)
��� ����"�
�� ��� #$��� !� ��%
�� �� ����"�
�

(
d3, x

T
3

)
��	�� &� �� ����� ���

#��� 
��
�	� ��� �'�
�� ���" ����� 
�������� �� 
�"����� Y r = Y −
2∑

i=1
dix

T
i ��� ����

�������
(
d3, x

T
3

)
�� ���� ��� ����� ��� ��� �	�� (�
���� �� Y r )�������� ���" ���*� +�

��� ���� �����	�� �� +������$ ���� ��� ε ������ ��� ����� ��� kth ��������� 
�� �� ��	����

(�� (2.11) � ����

����� 	
���
��� ��� ������
���� �����

��",- ���"����. ���� ��� 	��� ����
� "������ ��� �������� /�� ���"���(� ��",-� ���

��
������� D (0) �� ��� �� ��		 
�	�"� ���. ���
� �"�	��� � ��� �	�� ����� �� f (0)� 0� �	���

�
�� ��",-� �������� �� 1234� ���� � ����	�� ���" f (D) ���� ��� "���(����� �� "�.� ���

�	�������� ��5�
��(� ���
���� �� �� 
���������� ��
� "���#
����� �		�(����� ��� ��� �	�����

������ ��� �������
�� ��"� ���������� �������

!� ��� ��		���� �� 
������� μ‖X:,4‖2F �� ��� �� �	���
�� ���" ����� �� ��� ��� ���	

��5�
��(� ���
���� �� ����� �� ��
�	����� ��� ���	����� ��
� �� �	���
�� ���"�	����� ��"�(��

��� ���
��������� �� ��� ��5�
��(� ���
���� ��� �� ��� ��	� �� 
�	
�	��� ��� ����(���(��� /��

�  �(�� D (ε)� 	�� X (ε) ��(� ��� ��"� ����� �� �� ��� 6-� 
���� &�� �� �	���
�� ��5�
��(�

���
���� �� ������� ��

inf
ε|D∈D

fμ (ε) = inf
ε|D∈D

inf
X(ε)

‖Y −D (ε)X (ε) ‖2F

+ μ‖X:,4 (ε) ‖2F . )2�72*

&��� �� � 	���� ������� ����	�" ��� �� 
�� �� ����(�� ����

fμ (ε) =

⎧⎪⎪⎨
⎪⎪⎩
2.02 ���� μ��� ε��

3− 2ε2

μ+1− 1−ε2

μ+1

− 2
(
0.7

√
1− ε2 − 0.1ε

)2
otherwise.

���� μ = 0� ��� ����	�" �� �������� �� ���"���(� ��",-� /��" +������$ ��� ��

.��� ���� �����(�� ε ∈ (0, 1
√
2]� f0 (ε) < 1 < f0 (0) = 2.02� ��� ��� ����(���(� f ′

0 (ε) ≥



������� �	 
��
������� �

�� �� ���������� ������ ��

0.28� ������	�� 
� ����� 
��
 
�� �����
��� ����� ����
� ��	���� 
��� ������ �
����
�

�
 ε = 0 �� 
�� ���
��� ε0 ∈ (0, 1
√
2]� �� ���	 ��	
 �� �������� ��� 
��
 
�������

ε ∈ (0, 1
√
2] ��� μ ∈

(
0, min

(√
1 + 100ε2,

√
2− 1

))
 
���� ��
��� ����
 � ε̄ ∈ (0, ε)


�
� fμ (ε̄) > fμ (ε)� !���� ���� ������ ��
�	�� �	 �	
 ��"� D (εk) ���� 
��	��� D (0)

�� 
�� �
���
�	� ���#�� k → ∞ 
	 ����� 
�� ��	#�� �������� $��
����	�� �� μ → 0 
��

���
�	���� D �	������� 
	 
�� �������� �	��
 �� 
����

��� ������	
� �
��
	��


� ��		
���� 
�����%�� �� �����	��� 
	 ������� 
�� ���������
� ����� �� 
��� ���
�	�� ���� ��

��������
���� ��&����
 ��	� 
�� ��������'�
�	� 
�����%�� ��	�	��� �� ()*+ �� 

	 �����
��

$���
�� �� �� ��	
� �� 
�� �������
 ������� ��	� 
�� ���
 ���
�	� 
�� ����
��� �����
�


��� �� 
�� ��������'�
�	� 
�����%�� �������
�� 
�� ���������
� ����� #�
 ��
�	����� ��


�
�
�	���� �	��
 
���� �� 
�� ��		
���� 
�����%�� ��	���
��� 
���� ��� ����� 
����

��� �	
 ����
� ��
 �
�
�	���� �	��
� ���	���� ��	
��� ��
��� #���� ������	� 
	 
��

��������'�
�	� 
�����%�� �� 
� ��	�� 
��
 �� 
�� ����
 ���� 
�� ��	�	��� 	#,��
��� ����
�	� 

�� 
�� #��
 �	
�� ����-�	�
���	�� ����	����
�	� 	� 
�� 	������� 	�� ������
��� 
��
 
��

�	��
�	� ��
 �� ��	����

����� �����	
� ���
�

������ �
 
�� ���������
� ����� 
� ��	�	�� � ��
 ���� 
����� 
	 ���	�� 
�� ����	�
����
�

�� 
�� 	#,��
��� ����
�	� f (D)� ���
� f (D) ��
	 � �����
�	� 	� �
	��� ����
�	���

f(D) = ‖Y −DX‖2F
=
∑
i

‖Y:,i −DiXsupp(X:,i),i‖22

=
∑
i

fi(Di), .)�/01


���� ���� fi(Di) �� 
����� �� �� �
	��� ����
�	�� 2�
 I #� 
�� ����� ��
 �	�����	�����


	 
�� Di3� 	� ���� �	���� ���"� 4���� �� ������
	� ����
�	� XI ��
� XI (i) = 1 �� i ∈ I
��� XI (i) = 0 �� i ∈ Ic� 5�� XI (i) �� � ���
������
��� �	����
�	� ����
�	� ��� ����� �



	 ���� fi (Di)� ���� 	�� 	#
���



������� �	 
��
������� �

�� �� ���������� ������ ��

gi (λmin (Di)) =

⎧⎪⎪⎪⎨
⎪⎪⎪⎩
0 λmin ≤ δ

(i)
1

6

(
λmin−δ

(i)
1

δ
(i)
2 −δ

(i)
1

)5

− 15

(
λmin−δ

(i)
1

δ
(i)
2 −δ

(i)
1

)4

+ 10

(
λmin−δ

(i)
1

δ
(i)
2 −δ

(i)
1

)3

δ
(i)
1 < λmin ≤ δ

(i)
2

1 λmin > δ
(i)
2

.

������

��	
�� ���
 � ���
�������� ����� �� �������� �
������ g (·)�

f̄(D) =
∑
i

fi(Di)XI (i) =
∑
i∈I

fi(Di). ������

���� ��� �
������ f̄ �� ���
���� ���  ��� ����� �� ����� ����!������
�
� �����"������� ��

f ��� ����� �� �� ��� ���������� ����� ��������

#��� ���� XI (i) �� � ���� �
������ �� Di� ��������� $����	 ��� ���������� �� f̄(D) �� ��

���!����� ��� ���� ��� %��&' ��������( ��
�� ��� ����� �� f̄(D)� )� ��������* ���� D

�� ��� ���	
���  
� ���!�����������* f̄(D) = f(D) ���� �����  � ��
	�� ���� ���� ������	�����

�� ������� ��� � ��� ��� ���
��* �� ������� � ������
�
� �
������ gi (Di) ��� ����� ��

������
���� ��� ���������� 
����� ���	� ��

inf
D∈D

f̃(D) = inf
D∈D

inf
X∈X (Ω)

∑
i

‖Y:,i −DiXΩ(:,i),i‖2F · gi (Di)

= inf
D∈D

∑
i

fi(Di) · gi (Di)︸ ︷︷ ︸
f̃i(Di)

, ������

����� ��� ����� �� gi �� 	���� �� ��	
�� ����

+�� δi =
(
δ
(i)
1 , δ

(i)
2

)
* ����� 0 ≤ δ

(i)
1 ≤ δ

(i)
2 ��� ��� ����������� ��� ������
�
� �
������

gi (Di) �� ������
���� ��
 �� gi (Di) = 0 ���� λmin (Di) < δ
(i)
1 , �� gi (Di) = 1 ����



������� �	 
��
������� �

�� �� ���������� ������ ��

λmin (Di) > δ
(i)
2 � �� gi (Di) �� �	
	�	
��
��� �
���
��
�� �� gi (Di) �� ���	
� 	���� ������

�
��
���� ��
���	
 λmin (Di) �
���
��� ������� Di �� �����	
����	
��� ���� �� ��	���� 


�	
��
�	���� ���	
� 	���� ������
��
��� �	��
	��
� gi (Di) = gi (λmin (Di)) �
 (2.14) 
�

��� ��		�� ����� ������

(
δ
(i)
1 , δ

(i)
2

)
�

�	�� ��
� ��� ��	�	��� �	��
	��
� �� 	
� 	 ��� ��	��� ��	���� ��
�� gi (Di) �� �	
��
�

�	�� 

� ���	
� 	���� ������
��
��� �
 λmin ∈ R� !��
��� δi"� 
�� ������
�  	� ������
� i



� ��� �����#� ��	���� 	 ���� ���� �� �$��
�
�� �
 %����	
 ������ &  	��
� ���������	
 	 

f̃(D) �� ����
 �
 '��	��� ����

������� ��	� (	
����� ��� ��		���� 	�)������  �
���	
 f̃ 

� ��� 	����

� 	�)������

 �
���	
 f ��#
�� �
 (2.16) 

� (2.13) �������������

*� +��
 δ
(i)
2 > δ

(i)
1 > 0, ∀i, f̃(D) �� �	
��
�	���

�� (	
����� ��� ����� �
�� ����� δ
(i)
1 , δ

(i)
2 → 0 ���� δ

(i)
2 > δ

(i)
1 > 0, ∀i� '��  	��	��
��

�	���

-
� f̃(D) 

� f(D) ����� 	
�� 
� ��� ��
���
� �	�
���

-�� f̃(D) �� ��� ���� �	������ �	��� ������	
��
�	�� 
���	$��
��	
 	 f(D)�

�� �	� 

� a ∈ R
+, ��#
� ��� �	��� ����� ��� 	 
  �
���	
 h(D). Dh (a) = {D : h(D) ≤ a}�

/� �� ��	�
��� ��
� ���
 δ
(i)
1 = δ

(i)
2 → 0, Df̃ (a) �� ��� ��	���� 	 Df (a)�

'�� ��		 	 '��	��� &���* �� ����
 �
 &���
��$ &��� /� �� ���
�  �	� ���  
�� ��
�

gi (Di) = 1  	� 
�� 
	
���
���
� Di� '��	��� &���� �����#�� ��� ��	����� 	 ��� ��		����

����
�0�� -'��	��� &����-���  �	� ��� ����������� 	 ��� ���	��� '�� ���	��� 
���
���

��	�� ��
� ��� ��	�
� 	������ 	 f̃(D) �� 
��	 ��� ��	�
� 	������ 	 f(D)�

��
���	
� gi (Di)� ��		�� ��� ����	
��
���� �
 f(D)� +� �
�� gi (Di) 
� 
 ��		���
�

 �
���	
� ��
�� ���� ����
�0�� �� ������ 
� �����	
� ���
��

'�� ����� 	 
���
� gi (Di)"�, �
��������� ���
1�
�, �� �	 	��
 2��

���3 	
 f(D)  	�

��� 	�����4
��	
 ��	���� �	 �
�� ���	���� '�� ��
���� δ
(i)
2 "� 
��, ��� ������ ���  �
���	


f̃(D) 
���	$��
��� ���  �
���	
 f(D)� (	
��0��
��� ��� 

��	��� ��� ��

���, 

� ���

��	��� ��� �	
�����
�� �
��� '��  �
���	
 	 ������	�� δ
(i)
1 "� 
�� �	 ��
���
�� ��� �
���

�	����
��	

� �	�� ���
 Di �� ���� �����	
����	
���



������� �	 
��
������� �

�� �� ���������� ������ ��

δ δ δ δ

������ 	
	� ���� 
���� �� δ� �������� ���� ���� �� ����� ��� δ = (0, 0)� δ = (0.1/200, 0.1)�
δ = (0.5/200, 0.5) ��� δ = (1/200, 1)
 ��� ������ ������� �� ��� �������� ���������
�������� ������� �� d1 = d2 = −0.1
 � �������� 
���� �� ����� �� d1 = d2 = 0 ��� ���� ������
������� ��� ��� ���� �� ���� ��� ���������� �
������ 
��� �������
  ��� ��� ����������
�� δ� ��� ���� ������ ��� �������� 
���� �� ��������� ��
����� �� � �������
 !����� δ �
���
"���� #������# ������ ��� �������� 
���� ��� ��� �$������ ������ ����������� ����
 ���
���� ��� ������ �� ��� ����������� ���� ��� ������


%� 
�������� "� ��"��� ������ � δ
(i)
2 > δ

(i)
1 > 0
 ��� �$��� �� 
������� δ

(i)
1 ��� δ

(i)
2 �

������� �
������� �� �� ������ ��� �������� ������� �� �������� 
������ ��� ��
���� ����

"��� &�������'� "���� "����� ��� ���������� �� δ
(i)
1 ��� δ

(i)
2 � �� ����" ��� �
����(�����


������ �� 
��� �������
 ��� ������� ��� δ
(i)
2 #� ���� ��� ������ f̃ �

��)������ f � ��� ���

�����"�� ��� ������� ���� ��� ��� ���"�� ��� ����������� ���� "��� ��
 �� � ������� ���

���������� δ
(i)
2 #� ������ �� 
��
���� ������
 *������ δ

(i)
1 #� ��� ��� �� �� ��� ��� �����
  �


��
��� ��� �������� δ
(i)
1 = δ

(i)
2 /200 ��� ��� i ∈ [n] ��� ��� �� �� ��� ��
������ �����
 %� ���

�����"��� ���������� "� "��� ��������� � 
��������� "�� �� ������ δ
(i)
2 #�


����� � ����	 
���
����� �� ��� ������ �	 ��� ����� ����������

 � +��� ���� �� �)��
�� �� ����������� ���" ��� �$��� �� 
�������� δi� �� ��� �����������

����
 ,������� ��� �)
����� �)��
�� 
��
���� �� -������ ����  ��� ������ ��$������� ����

��� 3rd ������ �� ��� ���������� �� ��������(��

d3 =

[ √
1−d21−d22

2

√
1−d21−d22

2 d1 d2

]T
,

"���� d21 + d22 ≤ 1� d1, d2 ∈ R
+
 .���� �� ���� /001� "� ������ ���� � �����"�� &������'

�� ��� ��������� �������� ��� ���� ���� ��������� ���
� �� 
��� ������� ��� ���� ���


��� ����� 2��������� �� ���� ��(� ��� ���������
 %� ����� "����� �����"�� &�������' ���� ��

���"�� ����������� ����
  � ���
�� ���� 
���� �� δ ��� 
��� ��� �������� �� f̃(D) �������

(d1, d2) �� ������ ����
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�
 � f̃(D) �= f(D) �� ��� ������ 
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	 ������ �� �
�� � ���
�� �
�����
�� ����� ��� ������
�� �� δi���

�� ���� ����� ���� ��� �
 ����� i! δi ������ �� �
 ������ "���
��� ��� ���� �����

m = 100! ‖supp (X:,1)‖0 = 2 � m ��� ‖supp (X:,2)‖0 = m� #������ ���� ��� �
��
�����

D 
� �����
�� ��������� ���
 ��� ��
���
 �
���
���
�� �� D�� $� 
� ����� ���� �
��

�
�� ������
�
�� λmin (D1) ������� ������ % ��� λmin (D2) 
� ����� �� &���� $���
�
����! ���

���������� δi� ������ �� ������ ���� ���� ��� 
������
�� �����
��� ��'� � ��� �
���! gi < 1�

�
�� �
��� ��� ���
�
�� ������
�
���

(�������� ����'
��! 
� 
� �
)���� �� *����
�� ��� ������
�
�� �� λmin (Di)�� ������������!

���� m ��� ‖supp (X:,i)‖0 ���������� 
���
�� �
�� � �������� ���
�! ��� �
���
���
��

�� λmin �
�� �������� � �
���
���
�� ���� ��������� �� ��� ���
� ‖supp (X:,i)‖0 /m� $�

����
�����!

����������� 	
�
 ��� ��� ��	
� m ��� si = ‖supp (X:,i)‖0 �
�� ���� si ≤ m� �
��
 Dm,si

�� ��
 �
� ���������� ��� ��
 ������
� ���� 
��� ���� ���
���� �������� �
�
���
 Di ����

��
 
������ �������
���� �� Dm,si � ��
� �� m, si → ∞ ���
����
�
��� ���� si/m → ci < 1�

��
 �����
� ����
��� 	��

� λmin (Di) ���	
��
� �� τi � 1−√
ci �� ������������

����������� 	
�
 ��� ��� �������� �
�
���
 Di ���� ��
 
������ �������
���� �� Dm,si �

��� 
��� ��
� t > 0� ��
 ��������� �
	������ ��
�� �����

P (λmin (Di) < τi + o (1)− t) ≤ e−mt2/2.

��� ���
 o (1) 
� � �
��� ��� ����
�� �� &��� �� m → ∞� ��� ����
��� ������ ��

��� �*�
������ ������
�
��� ������������ � � +� ��� �� ����� 
� ,-./ ��� ,0+/ �������
�����

������ ��� ������� ��� ���
����
�! ���� ����
�� � ���� �����	

��
�� ��� ��
�� m ��� si�

1� ��� ����� ����! ���
 �����������  �� ���� ��� ������
�� ��
��'�

�
���! 2�0� ���� m ��� si ��� ��
��� 3�� � �����
 �������
&�� ���� �
��
����� Di!

���� �����	
 ���
	���
��� �� ���� ������ �� D �� � ��
���
 
��������



������� �	 
��
������� �

�� �� ���������� ������ ��

P (λmin (Di) < τi) ������	�	 
��� ��� 
�����	� �� m ��
 si� ���	 ��� ���� 
���������

Dtrue ��� ���� ������ ���� ��	 ������� 	������� ����� 	������ ���� 1−√
ci�

�� ��������� m ��
 si ��� ������ �� ���� ��� 	������
 ��������� �������� f̃(D) �� �	

��� �	 ���������� �� f(D) �����
 ��� ������ �������� �� ��� �������������� 
� ���� �

���� ����� �� ��� ����	���
 	������	� !� 
���� ���	���� α ∈ (0, 1) ��
����
��� �� i ��


	�� δ
(i)
2 = ατi�

��� �������	
�
�
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��� �����

�� ���	 	������� 
� ���	��� � "�
��� #$ �������������� �� ������%� ��� ��������� ��������

f̃ (D)� &	 � 	����
 ��
�� ���� 	����� �����
� "�
��� #$ ���	���	 �'����� �����������

�� ��
��� ��� ������� �������
 
��� ����� ��	� ��
�� �����
	� 	��� �	 ���
���� 
�	����

�� ��������� ���
���� �����
� (� ��� ����� ���
� �� ������ �����������	 �� �	 ���������

��		���� �� ��
 � ���
 
��� 	������� ����� �� ��������%� 
��������� �������� �����		� �����)

���� 	����������� ��������� ��� 
��
���� 
���� ��� "�
��� #$ ����� ����
�����
 
���

��� ������� ����� �	 ��� ���� ��� ��������

�� ��
�� �� ���������� ��� 
�	��		���� 	��� �	���� ��������	 ��� ����� �	 �����
	� !� ����

�������� h (D) ∈ R� D ∈ R
m×d ��
 η ∈ R

m×d� *����� ��� ���
���� �� h (D) �� ∇h (D)�

*����� ��� 
���������� 
��������� �� �������� h (D) ����� 
�������� η +�,- �� ∇ηh (D)�

.���������� 
� ���� ∇ηh (D) = trace (∇h (D) ,η) +/0-�

1�	� ������%����� �����
	 ��� ��	�
 �� ���� 	����� 	��������	� ��� 
����������	 ��

��� ��������� ��
 ��� ��
 �� �� ���������� 
�����
 �� D(k) ��
 D(k+1) ��	���������� ���

�� ������
 ��� D(k+1) = D(k) + α(k)η(k)� 
���� α(k) �	 �� ������������� ���	�� 	��� 	�%�

��
 η(k) �	 ��� ���� 	����� 
��������� 2	��� 
������������	 �� ��� 	��� 	�%� α(k) �����
�

������ ���	�
��� ��
 ���	
� �
�
�
��� +33-� ��� 	����� 
�������� η(k) ��	 ���� ������	

+33� 43- �	 
���� �� ����� ��� ������ �� η(k) ����	 ��� ��� ���� �� ��� ����������� ���� �� ���


���� ���������� $�������� 	�������� � "�
��� 
�������� �	 ��������
 5�������
 
��� ���

���
���� 
�	���� 
��������6 +33-� �� � 	���
��
 "�
��� �����
� ��� ����������� �� ���

"�
��� 
�������� �������	 ��� �
����� �� ��� ��������� ��������� "��� ���� �� ��� �������

�� ���
� ��� 
��������� D ��	 	�%� m × d ��
 ����� ��� �����	���
��� 7�		��� �	 �� 	�%�

md×md� �� ������� ��� 7�		��� � ��������� �� �������	 ����� ������������� ��	�����	 �	
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��	� ���	�� �� �
���
�� � ����� 	� �����	� 	�� ���	�� 
�
��	��� ��	���	

�������	�� �����	��� 	��  ������� !�
� �����"������ 	�� ���	�� �� ��	��
 �	�
	� ��	� 	��

�
�
���	 
�����	 
�
��	��� η(0) ��
 �	�
�	����� 
�"��� �	 	���

� 	�� ���	�� 
�
��	���� #�

���� ���� ���
�� �	��� ���	��
 �$ �����	��� 	��  ������ ∇2f̃ (D) ∈ R
md×md �������	��� ���

���� ���
� 	� �����	� ∇η

(
∇f̃ (D)

)
∈ R

m×d� %�� 
�&��
�
 �����	�	����� ��
 �	�
���


����
��� �
� 	��
�$�
� ���� ���� 	��� ��
'��� ��	� 	��  �������

(� �����
�
 �)����	 �����	�	���� 
���	�
 	� 	��  ������ ��	
�� �$ �� �	���� $���	���

fi (Di) gi (Di) �$ f̃ (D) ��
 �
���
� � 
�	����
 
�
���	��� �$ ∇η (∇ (fi (Di) gi (Di))) ��
�


	�� ������	��� 	��	 Di �� � $��� ������ 
��' 	��� ��	
���

(� 
���	� fi (Di) ��
 gi (Di) *� fi ��
 gi 
�����	����� $�
 ������"��	���� (
�	�

∇η (∇ (figi)) �� 	�� �����	���

∇η (∇ (fi · gi))

=∇η (∇fi) gi + fi∇η (∇gi) +∇fi∇ηgi +∇ηfi∇gi

=∇η (∇fi) gi + fi∇η (∇gi) +∇fitrace (∇gi,η) + trace (∇fi,η)∇gi ������

+����	����� �� �&��	��� (2.17) 	��
� �
� $��
 	�
�� 	� *� �����	�	������� 
�
���
 ��
���
�

�����, ∇fi� ∇η (∇fi)� ∇gi ��
 ∇η (∇gi)� (� ���� ��&���	����� 
�
��� 	�� $��
 	�
�� �� 	��

$�������� ��
 
�����	����� $�
����	� 	��� �� �&��	��� (2.18)� (2.19)� (2.21) ��
 (2.22)�

-�
�	 �� �����
�
 	�
� ∇fi ��
 ∇η (∇fi)� %��� �
� 
���	����� ���� 	� *� 
�
���
� %��

��	����

x∗
i = arg min

xi

‖yi −Dxi‖22 = D†
iyi.

 ����� 	��	 ∂f
∂xi

|x∗
i
= 0� ∇fi ��� *� �
�		�� ��

∇fi =
∂f

∂Di
+

∂f

∂x∗
i

∂x∗
i

∂Di
= −2(yi −Dix

∗
i )x

∗T
i + 0. ./�012

%� �����	� ∇η (∇fi)� �� ����

∇η (∇fi) =2∇η (Dix
∗
i − yi)x

∗T
i + 2 (Dix

∗
i − yi)∇ηx

∗T
i

=2ηx∗
ix

∗T
i + 2Di∇ηx

∗
ix

∗T
i + 2 (Dix

∗
i − yi)∇ηx

∗T
i , ������
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������� �

�� �� ���������� ������ ��

����� ∇ηx
∗
i �� 	
���
�� 
��

∇ηx
∗
i = −(DT

i Di)
−1
((

DT
i η + ηTDi

)
D†

i − ηT
)
y. ������

�	� �� ������ ��� �	������ 	� ∇gi �
� ∇η (∇gi)� ��
�� gi �� � ��
���	
 	� λr =

λmin(Di)� �����Di ∈ R
m×r� �� ����	�� ���� ��� 	���� 
	
� ��	 ��
!���� ������ ��� ���	
!��

���!�� ���
 λr� ���� λ1 � λ2 � . . . � λr−1 > λr �	 �� �	 !����
��� ���� ��� "�� �
� �
�

���������� 	� λmin �� ���� ��#
�� �$�������� ��� %����& ������ ���'��� (
 �	����� (2.17)�

���
 λr ≤ δ1 	� λr > δ2� 
	�� ∇gi �
� ∇η (∇gi) ���  ��	� )��
 δ1 < λr ≤ δ2�

∇gi =
dgi
dλr

· ∇λr, ����"�

∇η (∇gi) =
d2gi
dλ2

r

· trace(∇λr, η) · ∇λr +
dgi
dλr

· ∇η (∇λr) . ������

�	�� ���� gi �� � �	��
	���� 	� λr �
 ���� �
������� ����� ���
� ��� �	�������	
� 	� dgi
dλr

�
� d2gi
dλ2

r
��� �����!�� �	������ *�����	�� ��� &�� ���� �	 �	����� (2.21) �
� (2.22) �� �	

�������
� ∇λr �
� ∇η (∇λr)� (
 +�,- 	
� ��	����� � ����� ��� �	 	
���
 ��� ���������	


�	����� 	� ∇λr �
� ∇η (∇λr)� 
����������� �� 	
�� ������� �	 ��� ����� ���
 Di �� � �.����

�����/� (
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! �� 
��� 	
 ��� ���� �
� �/��
� ��� ��������	
 �	 �	�� !�
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 �� ��� ���/ 	� �������
�
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∇gi �
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∇λr(Di) =
∂λr

∂Di
= U:,rV

T
:,r. ����2�

(
 ����� 	� �������
�
! ���� ∇η (∇λr)� �	�������	
� �
��� �������	
�� 3�������
 �		��
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���� ��� ����	�� �
� ���� �	
����
!� *	 ����!��� ��� �������� �� �	����� ∇η (∇λr)�

�
��� 	�� !�
������ 
���� B =
{
Bij = U:,iV

T
:,j , i ∈ [1,m] , j ∈ [1, n]

}
� 3	
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 	� η = USV T � (
 1���
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∇η (∇λr) = (∇ηU:,r)V
T
:,r +U:,r

(∇ηV
T
:,r

)
. ������

�����

(∇ηU:,r)V
T
:,r =

r−1∑
k=1

λrSkr + λkSrk

λ2
r − λ2

k

Bkr +

m∑
k=r+1

Skr

λr
Bkr.

���

U:,r

(∇ηV
T
:,r

)
=

r−1∑
k=1

λrSrk + λkSkr

λ2
r − λ2

k

·Brk.

������ ���� ���� ∇λr = 0� ��� ��	�
���� 
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���� �� ��� ������������� �� Di� ��������

�� ���� ���� gi = 0 ��� dg
dλr

= 0� ��� ��� ��� ∇fi = 0�

������ ���� �
 ��� ������� �������� ����� �
 Di �� � ���������� �������� ������ ����� �����

� ���� ���� ���� ��� �!����� ������� �������� ������ ���� ∇λr �� ��� ���� ��"���� ���#

���� ���� ������� ���� ����������� $��� ���� ��� ��
������� �� �������� ��������� 
���

��� ���
��� ������������ �� Dm,r =
{
Di ∈ R

m×r : DT
i Di = Ir

}
� %����������� ���� ����
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��� �������� ∇λr = U:,rV
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κ (D) = max
i∈[n]

λmax (Di)

λmin (Di)
,

����� λmax (Di) ��� λmin (Di) ��������� ��� �� ���� ��� ��� ������� �������� �����

�
 ��� ���#��
������� Di �����
�������
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����� D� ������� η�
������ P (η:,i) = (I −D:,iD

T
:,i)η:,i δ2 ���
�� �
 !"�#$ 

� δ2 = 200δ1�

For k = 0, 1, 2, ...

%��
� �	���

�� εk = min

(
0.5,

√∥∥∥∇f̃
∥∥∥)∥∥∥∇f̃

∥∥∥ ����� f̃ �� ���
�� �
 !"�&#$�

��� z0 = 0, r0 = ∇f̃ , d0 = −r0 = −∇f̃ �
For j = 0, 1, 2, ...

��� Hj = ∇dj

(
∇f̃
)

�

∀i ��� (Hj):,i = P
(
(Hj):,i

)
�

If tr
(
dT
j Hj

)
� 0

If j = 0
returnη = −∇f̃ �

else
returnη = zj �

��� αj = tr
(
rTj rj

)
/tr
(
dT
j Hj

)
�

��� rj+1 = rj + αjHj �
If ‖rj+1‖ < εk

returnη = zj+1�

��� βj+1 = tr
(
rTj+1rj+1

)
/tr
(
rTj rj

)
�

��� dj+1 = −rj+1 + βj+1dj �
end
∀i ��� η:,i = P (η:,i)�
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�
���� f0 = f(D)� ∇f0 = ∇f(D)�η̄� D0 = D�
������� D = Dk�
���
������ t = 1� c = 1e− 6�
For k = 1, 2, 3, ...

�� 
����

 � � ∀i� η̄:,i = UiΣiV
T
i �

�����
� ∀i� Dk
:,i = (Dk−1

:,i Vi,Ui)

(
cos (Σi)
sin (Σi)

)
V T
i � !"���		��� 
� Theorem2.3 ��

#$%&'
If fk � fk−1 + c · t · ∇fT

k−1η̄ !Armijo condition �� #%%&'

return Dk�
��
 tk = 0.8tk−1�

end
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�	
��� *�
� 
�� ���� ����
� 
�� 
��+�	���
� ,���+��	 �� -��� .�� �� /	���
�
�+� ������ "�����	���� ����� ��� ����
��� ����� �	� ��0�	��
� �� 
��� ��	
�
���	
�1������ ���� ����
��� ����� �+���� 
��+�	���� 
� � �������	 ����
�
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����� ���� ���� ��� �!�" �������	 ���� ���� ����� �#��� � ����� $���� �
 �� ��� ��%
������������ ����� ������� ����� �� ������������ �� ��� ����� ��&��	 ��� ���� �� '��(	 )��
��&������ �
 �������� ���*+ �� �����,���� ���� ��� ���$�� �
 �������� ������� �� ���
�����	 )�� ��&������ ��������� ��������� ���� ��� ����� ������� �������� ����� ��� $����%
���- ���������� ��&� ����� ���$�$����� ���&���� �� ���%����������� ������������	

"��� ��������� ��� ����� ���� ��� ���������� �� ��� �����	 .�� D̂ ��� X̂ $� ��� �������

���������� ��� ��� ������������� ������ ���/������0 ��������&���	 )�� �������1�� ��������

����� �� ��,��� ��
∥∥∥Y − D̂X̂

∥∥∥2
F
/n	 )�� �������� 
�� ������� �������� ��� �������� 
�� $���

����� ����� ��� �������1�� �������� ������ �� ��� ��������� ����0 � ������� �� ������� ����∥∥∥Y − D̂X̂
∥∥∥2
F
/n ≤ εe ‖Y ‖2F ����� ��� �������� εe �� ������� 1��� $�� ��� �� 10−6 �� ��������2


�� ��� ����� ����0 ��� ��������� 
�� � �������
�� �������� �� ��&�� $�
∥∥∥Y − D̂X̂

∥∥∥2
F
/n ≤

εn ‖Y ‖2F ����� εn := ‖W ‖2F /n/ ‖DtrueXtrue‖2F 	
���� ����������� 3+40 5%�640 ��������1�� ���*+0 ��� �������� ���*+0 ��� ���%

����� �� ��� �����	 ��� ���� �
 ��� ����������0 �!! �����1������ ��� �����������	 )��

��#���� ��������� ���$�� �
 ���� �����1����� �� ��� �� 1000	 ��� ��������1�� ���*+0 ���

��������1����� �������� �� ��������� ��� �� μ = 0.1 ��� ���� ������� �� μ/10 �
��� �&��� 7!!

����������	 8� �������� ���*+0 ��� ���������� δi� ��� ��� �� (0.001, 0.2) 
�� ��� ,��� �!!

���������� ��� ���� �� (0, 0) 
�� ��� ���� �!! ����������	 ����� ���� δi = δj 
�� ∀i, j ∈ [n]
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)�� ���������� ������� ��� ��������� �� ������ �	
0 ����� ��� ��� ��$%,����� �������

��� �������1�� ���������� �� ��������� ��� �!�" ����� ����	 )�� ��&������ �
 ��� ��������

�������� ���*+ �� ����� 
�� $��� ����� ��� �� ������������ �&����� �� ��� ��������� ����	

8� ����� �
 �������
�� ����0 �������� ���*+ ������� 7!!9 �������
�� ���� ���� ���

���$�� �
 �������� ������� n ≥ 66 ����� 3+4 ��� 5%�64 ����� ��� �����&� 7!!9
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�� �
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��� ����������
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���������� ���� �'�" &
�" n ≥ 84
 *� �� ���� �"�������"� �� �#���'� ��� ������ ��� �
�� �
�

��$ �" �
� ���������� ���� &
�" n �� �" �
�  ��������"�� +n = 40 ∼ 60,
 �
�� �� �-$�����


�" �"� 
�"�� �
� ���������� ���� �
���� �"������ &
�" �
� "� #�� �� ����"�"� �� $���

#��� �� ������
 �" �
� ��
�� 
�"�� &
�" �
� "� #�� �� ����"�"� �� $��� �� �-��� ��.

��&� ��� �-� $��� n ≤ d� �
� ����"�"� $��#�� #��� �� ���'���
 /�"��� �
�  ��� ��0����

���� �� &
�" n �� �" �
�  ��������"��
 /�'�"� � ���$ ����. �" �
� ������� ������ �
�. ���

��"'���� �� �
� ������"����� &��
 ����� ��"�����" "� #��� �
�
 ��"����� ������"�����
 ��1�

�
� ����������"� �" ������ ��� &��
 n = 60 ����"�"� �� $��� �� �-� $���� ��� �
� ��������


�'� κ (D) > 65 ��� ��� � κ (D) > 37 ��� ����� �"� κ (D) > 30 ��� ����������� �� !�


�" �
� ��"����. κ (D) < 8 ��� ��� �
� ���������� ����� +��"�� ��� �
� ���� ������"����� ����

�" �
� ����� ��� �� κ (Dtrue) < 8,
 �
��� ������� ��$$��� �
�  ��" �����" �� �
� ������"��.
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���	
� ������� �� ��� ���� ������� ������� �� s1, s2, · · · , ss 	����
������� ���	� si ∈ R
1×N

�� � 	�� ��
��	 �� ������ ��� ith ���	
�� ������ ���� ����� ���	
�� �	� �����	�� ��#�� ����

r ����	������ �������� ������� �� z1, z2, · · · , zr 	����
������ ���	� zj ∈ R
1×N � !� ���

���	�# ��	���� ������ S =
[
sT1 , s

T
2 , · · · , sTs

]T ∈ R
s×N ��� Z =

[
zT
1 , z

T
2 , · · · , zT

r

]T ∈
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� ���
	 ���� 
��� ���

� $�
	 ��
 
%�������	 �� �������
 �����
� S �� �
&	
� ��

P (S) = ([P1, ...,PK ]) · ([sT1 , sT2 , ..., sTs ]⊗ IK) = P · (ST ⊗ IK) ∈ R
n×Ks� ��
�
 ��� �� ⊗

�
	��
� ��
 ,��	
��
� ������� �	� IK �	�����
� ��
 ��
	���� �����%� $�
 ����������	��

���� ��������
� ���� ��	!
���	
 ���� ���

� �� �����
� �� ���� -��� �����	 �� P (S)

�
��
�
	�� �	
 !
�����*
� ������ �
 �����
�� �
��
�
	� P (S)  � ���	
 �	�� �	
 ������	���

D ∈ R
n×d �	� � �����
 ��
.��
	� �����% X ∈ R

d×Ks� ����� ��


��� P (S) ≈ DX� $���

�� ��/
�
	� ���� ������ ��
�
 �������
 ������	���
� ��
 ��
� ��� �������
 �����
��

���� ��
�
 	������	�� ��
 ��� ��� �
� �� ��������
� �� ��
 �������	
 0��	� ������*����	

��� �
�

min
A,S,D,X

λ ‖Z −AS‖2F +
∥∥∥P† (DX)− S

∥∥∥2
F
. "1�1#
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 �����
�
� λ �� �	������
� ��  ���	�
 ��
 �
����
�
	� 
���� �	� ��
 �����
 �����%�2

�����	 
����� �	� X �� �����
� ��  
 �����
�

$� &	� ��
 �������	 �� ��
 � �!
 ��� �
�� �
 ������
 � 0��	� ������*����	 ��
������

�� ��
����!
�� �����
 ��
 �������	
 ��� ����� �� !���� �
� {D,X} �	� {A,S} �!
� ���

���

� �	��� � "�����# ��	���*
� �� ���	�� 3��
 ���� �	 
��� ���

 ��
�
 �� �	�� �	
 ���� ��

!���� �
� ��  
 �����
� �������	
�����  � �

��	
 ��
 ���
� ���� &%
��

����� ���� �� ���	 
������ Pk �	 
����
 �	 � ���
���� �������� ��� ����� 	���
�	� ��� ���
���� ��������

��� ��
�� 	���
�	 
�� �� 	�������� 
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• �������	
� �
	
���� ��	�

min
D,X

‖DX − P (S)‖2F , �����

• �����

 �
	
���� ��	�


min
A,S

λ ‖Z −AS‖2F + ‖DX − P (S)‖2F . �����

������� �
��� 
������� �� ������ 	 ��	
�
 ������ �
��
�� �� ������
� ��
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 ��
���� �'"� #(�& 	

 ��
�

�� ����


min
X

‖X‖0 , s.t. ‖DX − P (S)‖2F ≤ ε,

��


 ‖X‖0 ������ ��
 �� �

 �) ���*

� 
�
 
��� �� X� ��
 �������	
� D �� 	��� 
�

+�
�� 	�� ε > 0 �� 	� ���

 ����� �� ��
 ��	
�
 	��
��� 	���� 


�
�
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��� ��
 ���� �*	����� )�
��

 �����
	���� 	
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 �� ��
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 ��
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 �� ���	
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 )����� ��
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	��
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���� #(�&� 	�� 
�)�
�
 ��
 �������	
� �� �
 ���	�
� �� ��
 �
�

D =
{
D ∈ R

n×d : ‖D:,i‖2 = 1, 1 ≤ i ≤ d
}
, ���.�

��


 D:,i ��	��� )�
 ��
 ith ���� � �) D� / �
�	��
� �
��
������ �) ��
 	��	��	�
 ��

	����� ���� �����
	��� �	� �
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�
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� �� Ω = {(i, j) : Xi,j �= 0}� ����� �� ��
 ���
� �
� �) ��
 ���*
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�) X� �
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 XΩ 	� ��
 �
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� ���)�
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 ��	
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 �	� �
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min
D∈D

fμ (D) = min
D∈D

min
X∈XΩ

‖DX − P (S)‖2F + μ ‖X‖2F ,

= min
D∈D

min
X∈XΩ

∥∥∥∥∥∥∥
⎡
⎢⎣ P (S)

0

⎤
⎥⎦−

⎡
⎢⎣ D

√
μI

⎤
⎥⎦X

∥∥∥∥∥∥∥
2
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��� ���� μ ‖X‖2F 	
����
��� � ��
���� �� �����	��� ��� �	
�
���	�� 	��
��

�
 ��� �	��
�� ����
	
� ������ �	�	��� �� ��� �	��	�
��� ����
	
� ������ �� ��
����	
 ���

�	�	
� ����	� A 	
 ��� ���

A =
{
A ∈ R

r×s : ‖A:,i‖2 = 1, 1 ≤ i ≤ s
}
. �����

��	� ��
����	
� 	� 
��������� ������	�� 	 ��� �	�	
� ����	� A 	� ������ !� � ��
���
� c �
�

��� ��
��� S 	� 	
������� ������ !� c−1� ���
  �� �
� {A,S} �� ��
 ������ "
� � ���
�	�


{cA, c−1S|c > 1} ��	��  
����� ��������� ��� �!#���	��  

��	�
 �����  ��� λ ‖Z −AS‖2F+
‖DX − P (S)‖2F �� λ ‖Z −AS‖2F + c−2 ‖DX − P (S)‖2F � $�� 	 �� �	�� ��� ��
���� S ∈
R
s×n �� � %������& ����	� �	�� ��� �����	�� ������
 Ω′ = {(i, j) : 1 ≤ i ≤ s, 1 ≤ j ≤ N}�

���
 ��� ���	�	'��	�
 ���!���  �� ��� �	��
�� ����
	
� ����� 	� ������� ��� ���� �� ����

 �� ��� �	��	�
��� ����
	
� �����(

min
A∈A

fλ (A) =min
A∈A

min
S∈Rs×n

λ ‖Z −AS‖2F +
∥∥∥P† (DX)− S

∥∥∥2
F

=min
A∈A

min
S∈XΩ′

∥∥∥∥∥∥∥
⎡
⎢⎣

√
λZ

P† (DX)

⎤
⎥⎦−

⎡
⎢⎣

√
λA

I

⎤
⎥⎦S

∥∥∥∥∥∥∥
2

F

, ���)�

����� ���  ��� ���� R
s×n = XΩ′ ��� !��
 
���� *� � ���
��� ��� +	�,� �����
	��

��
 !� �	������ ����	��� -���� �� �� 
�� ��.
	�� ��� ��	�� /
������� �!�
� ��� ����	
�

����	� 	
  ��
� � ��� ��
� �	�	
� ����	� 0123� �� ������	�� ��.
	��� 	
 44,* �
� 54,*

�����	�����

�� ��
��
�� ��	� �
!����	�
� �� ������	'� ���  �����	
� �������
� � ��� ���	�	'��	�


���!���� (3.7) �
� (3.9)� 6��� � ���� 	
����� � #�	
� ���	�	'��	�
 ���� ��� ���	�!����

	���� D �
� X  �� (3.7) �
� A �
� S  �� (3.9)� $��� ���� 	 D �
� A ��� "���� ���


��� ���	��� X �
� S ��
 !� ���	�� ����
��� !� ����	
� ��� ��������
�	
� ����� �.
����

���!����� 4��	����� !� ��	�  ���� �� ��	�� (3.7) �
� (3.9) �� min
D∈D

fμ (D) �
� min
A∈A

fλ (A)

�������	����� ���
 fμ (D) �
� fλ (A) ��� �������� ��"
�� 	
 (3.7) �
� (3.9)� �
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η(k) �� ��
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�
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�
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�
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� �� �
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 ��
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���� �� �� 
*�	��
� &� ������ ���� ��
 �����
�� �
��
�� ���
����� η0 ��� ��
�����
��

�
+�
� �� ������� ��
 #
���� ���
������ ,
���
 ��
 �����
�� �� fμ (D) �� ∇fμ (D)� ,
���


∇η (∇fμ (D)) �� ��
 ���
������� �
�������
 �� ∇fμ (D) ����� η �-��� &� 
��� ���
 �
����

��
� �� ��
 #
���� (" 	
����� ����
�� �� ��	�'���� ��
 .
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�
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 fμ (D) �� (3.7)� ��
  
� ��	�'������� ��


�'		���

� �
���� ,
���
 D̃ =

[
DT μI

]T
��� �
� Ω (:, j) �
 ��
 ���
* �
� �� ���

��


�
	
��� �� X:,j� 0
 ������
� D̃i = D̃:,Ω(:,i) ∈ R
(m+r)×r ���� m > r� �����* D̃i �� � �'��

���'	� ��� ���� 	����*� 0
 �
���


fi(D̃i) = min
xi

‖yi − D̃xi‖22

��� ��
 ����	��

x∗
i = argmin

xi

‖yi − D̃xi‖22.

,
���
 D̃†
i �� ��
 ��
'��1���
��
 �� D̃i� 2� ����'��
� �� ��
 ���� �����
�� �
 ��� ��	�'�


∇fi(D̃i)� ∇η

(
∇fi(D̃i)

)
��� ∇ηx

∗ ��� $3��4%� $3��5% ��� $3�36%� �
��
����
��� 7��	 ��


�
+������ �� D̃i� Di �� � �'�1	����* �� D̃i� ��
�
���
 ∇fi(Di) ��� ∇η (∇fi(Di)) ��
 ����

�
��
����
�� �'�1	�����
� �� ∇fi(D̃i) ��� ∇η

(
∇fi(D̃i)

)
� ��
�� ∇fi(Di) =

(
∇fi(D̃i)

)
1:m,:
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min
A:,i,si,Di,Xi

λ ‖Ei −A:,isi‖2F + ‖DiXi −R (si)‖22 + μ ‖Xi‖0 . +,�#-.

*�/����	 ��
� 	�� 
����	
� P ��0��� ���
��� �� ��������� �
�
��	��� 	�� 
����	
� R
�� �  !� �� ���� 	
 	�&� ��	���� ��
� 
�
� 
�� ��	���	�� ����� si� Di �� 	�� 	������

���	�
������ �
� ��������	��� �
���� si� Ei �� 	�� �������
 ����� ��� �� ���		�� ��

Ei = Z −
∑
j �=i

A:,jsj . +,�##.
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!"#$% &�� 
�� '�( ������) !*#+$ �� ���� ,�
 ��� ��
,�
�	��� ��	��
�����% �� �	
���-

��	
. 	� �����	��� ���
�� ŝ �� ���������� 	� ŝ = starget + einterf + enoise + eartif . ���
�

starget �� ��� �
�� ���
�� ����	�. einterf ������� ��� ����
,�
����� ,
�� ����
 ���
���. enoise


��
������ ��� ��,�
�	���� �	���� �/ ��� �����. 	�� eartif �������� 	�� ����
 	
��,	��� ��-

�
������ �/ ��� ���	
	���� 	���
����% 
	��� �� ��� �������������. ��
�� ��
,�
�	���

�
���
�	 �	� �� ��0���1 ��� ���
��-��-�����
���� 
	��� SDR = 10 log10
‖starget‖2

‖einterf+enoise+eartif‖2 .

��� ���
��-��-����
,�
���� 
	��� SIR = 10 log10
‖starget‖2
‖einterf‖2 . 	�� ��� ���
��-��-	
��,	�� 
	���

SAR = 10 log10
‖starget+einterf+enoise‖2

‖eartif‖2 % ����� ����. ��� ��2 ��	��
�� ��� �3�
	�� ��
,�
-

�	��� 45�	���/6 �, ��� 	���
����. 	�� ��� ��2 ,������ �� ��� ����
,�
���� 
�7������% ��

��3�����	�� ��� �	��� �, ��2�. ��2� 	�� ��2� ,
�� ��� ��)��
�� �� ��� �����	��� ���
���%

��
 �)	����. �SDR = SDRout − SDRin� ����� SDRout �� �	
��
	��
 ���� ��� 
��������

	�
 SDRin �� ���	���
 �� 
������ ŝ = Z ���� ��� �	�� ���	����� ��� ����
�� ��� 
�� 	��

����	����
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	� ρ = 10 log10 ‖AS‖2F / ‖V ‖2F 
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! �������"#$ ���%#�&�$'� #% �(� ��������� � )#�"�(& �� '#&����* �# �������

�$* �	��
� �(� ��#�#��* ��������� � )#�"�(& ���%#�&� ������ �(�$ �(� ��$'(&��+

� )#�"�(&�� ��� � ��
�� �#� �(� ��&� � )#�"�(&, �(� �SDR �$* �SIR ��� �(� ��&� "$

$#"�� ��� '���� �(� �SDRs �$* �SIRs %#� �  �(� �����* � )#�"�(&� ���  ��)� �$* �"&" ��,

�-))���"$) �(�� �  �(� '#&����* � )#�"�(&� ���%#�& .��/ 0�  � �(� ���"%�'� "$��#*-'�*

�/ ��������� "� �&�  �� "�� �SAR "� �#�"�".�� ��� � ��
�� �$ �(� �����$'� #% $#"�� 0"�(

SNR = 20 *�, ��������� �1'� � �(� #�(�� � )#�"�(&� "$ �SDR, �SIR �$* �SAR� 2$�

"$������"$) �(�$#&�$#$ "� �(�� �(� �SDRs ��� &-'( �&�  �� �(�$ �(#�� "$ �(� $#"�� ���

'���, "&� /"$) �(�� �(� *"��#��"#$ "$��#*-'�* �/ �(� $#"�� "� ��"."� � 3#0�.��, ���������

��"  (�� ������ ���%#�&�$'��

�(� �� �'�"#$ #% λ "� �$ "&�#���$� ���'�"'� "��-� �"$'� "� "� �� ���* �# �(� $#"��  �.� 

�$*  ��)� / �4�'�� �(� � )#�"�(& ���%#�&�$'�� ��#& �(� #��"&"5��"#$ %#�&- ��"#$ 6���7, "�

"� ' ��� �(�� 0"�( � 81�* �9�, *"4���$� '(#"'�� #% λ &�/ )".� *"4���$� �������"#$ ���%#��

&�$'�� �# �(#0 �("�, 0� -�� �(� ���"&��"#$ ���#�
∥∥∥Atrue − Â

∥∥∥2
F

#% �(� &"1"$) &���"1 �#

&���-�� �(� �������"#$ ���%#�&�$'�, 0(��� Atrue �$* Â ��� �(� ��-� �$* ���"&���* &"1"$)

&���"'��, �����'�".� /� �(� �"&- ��"#$ ���- �� ��� �����$��* "$ �")-�� ���� �#$�"���$� 0"�(

�(� "$�-"�"#$, �"&- ��"#$� �-))��� �(�� �(� �&�  �� �(� $#"��  �.� �(�  ��)�� �(� #��"&� 

.� -� #% λ� �(� ���- �� "$ �")-�� ��� (� � "$ ����"$) λ 0(�$ �(� $#"��  �.� "� +$#0$ �

��"#�"�

9�1�, 0� �(#0 �$ �1�&� � %#� � "$* "&�)� �������"#$, 0(��� 0� '#$�"*�� �$ #.��*�����

&"$�* '���� �(� &"1�* "&�)�� ��� )�$�����* %�#& �0# �#-�'� "&�)�� -�"$) � 4×2 %-  ��$+

'# -&$ $#�&� "5�* &"1"$) &���"1 A 0"�( "�� � �&�$�� )�$�����* ��$*#& / �''#�*"$) �#

� :�-��"�$ ��#'���� �(� &��$ �;-���* ���#�� 6<�
�7 "� -��* �# '#&���� �(� ��'#$���-'�

�"#$ ���%#�&�$'� #% �(� '�$*"*��� � )#�"�(&� 0(�$ $# $#"�� "� �**�*� <�
 "� *�8$�* ��

MSE = (1/N) ‖χ− χ̃‖2F , 0(��� χ "� �(� �#-�'� "&�)� �$* χ̃ "� �(� ��'#$���-'��* "&�)��



������� �	 
�� 
���� 
� �����
���� �������� ��

��� ����� 	�� 
��
 	�� ��		�� 	�� ������	���	��� ������������ ����� ��� �����	��	�� 	��

�����	� �� ���� 	��	�� ������	���� ��� 	�� ����� ����
 � �������� ���	� ����� ��� ����� 	�

	�� ���� �� 	���� ��	� σ = 10� !� ��� 	�� "��# ������$	�$%���� &�	�� '"�%&( 	� �������
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 ����� �� ��*��� ��
 PSNR = 20log10(
MAX√
MSE

)
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+,
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 '����
 MAX = 255 ��� � ���	$.
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��	
	 A ∈ R
m×n (m < n) �� ��	 �	��

	�	�� ���
��� x ∈ R

n �� ��	 
������ ���
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������� ��� w ∈ R
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�� ��	 	���� ���
��	��� ��� �� �
���	�	�
����� ������

���� ����� �� ��	
������� �� ���
�	��	 ����������� �������	�
��� ���	 �	���	��� 	�����
�����

���
��	��� ��� �	����� �� ��	����	���� 	
 �
���� 
�	�����	�
� �
� ����������� ��
������

 ��
�	���	��� 	��� �
 �
	 ��
���� ������	��������������� 	����
�� �� �

� �� �
���� 
��

	�����	�
�� !���
����	� ������� ������� ���
��	�� "!#$% ��
�
��� �� &'() �� 	�� *��	

���
��	�� 	��	 
���� �
	� 	�� �
� �
������	� 
� +,- ��� 	�� ���
��	���	�
� �
��� 
� �����

������	� +	 ��� ���� ��
��� 	
 �� ����	��� �� ���
��	���	��� ������ ������� ��
� � �����

������ 
� ���
�����	 ������ ����������	��

-�� !#$ ������
�. ���
���� � �
�	 	�����
����� ����	�
� ��� 	�� ���
���	�� #,/

��������� 

������ � ������ ���	�� y = x + w ����� x ∼ pε ��� w ∼ N (
0, σ2

)
� 0����

���	
� y1 !#$ ����
�� 	�� �
�	 	�����
����� ����	�
�

x̂ = η (y; θ) �

⎧⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎩

y − θ if y > θ,

y + θ if y < −θ,

0 otherwise,

"2��%

	
 ��	���	� x1 ����� θ ≥ 0 �� � 	�����
��� 

������ 	�� ���
��	���	�
� #,/

M
(
pε, σ

2
)
= inf

θ≥0
E

{
(x̂− x)2

}
,

����� 	�� 	�����
�� θ �� 
�	������ ��
��� �
� 	�� ����� ���
� ���	����	�
� pε ��� �
���

�������� σ2� +�	�
���� 	�� 	������
��	 ���	��� ���	����	�
�

pε,μ =
ε

2
δ−μ + (1− ε) δ0 +

ε

2
δ+μ, "2�'%

����� δc �� 	�� 3��	� ����	�
� ���	���� �	 c� +	 ��� �� ��
�� 	��	 ��
�� ��� ������ ����

	����	�
�� �� 	�� ������ 
� Fε "2�(2%1 	�� "�����% 
�� 	��	 �����	� �� 	�� ������� ���
��



������� �	 �
��� ���
���

� 
� �
�������� ����
�� ��

������ 	
�� 
��� ������������ �������� ���� ��������� θi


��������� �
� �� ���� μ = ∞
 ������ ��� ����� ���� ������ ����	�
��� ����� ������������

� p#ε �p#ε = pε,∞�
 !�� ���������� �������������� �
� ��� ��� ���� ������� 

M
(
p#ε , σ

2
)
= σ2M

(
p#ε , 1

)
= σ2M# (ε) , �	
	�

����� M# (ε) � M
(
p#ε , 1

)
�� ���������� �� ��"���� ��� ��������� ��� �������� �� ��

��
���� ���
 # ������ ���" �� ��"���� M# (ε) ��� �� ε ∈ (0, 1) ��� ���� ��$�� �� %�	&


!�� ����"�� ��������� �� �� ��� ���" θ = ασ ����� α �� � �������� ��� ��������� ��

���'��� ���������� ε


����	� 	
�� !� ���� �� ��� "��� ������� ����( ��� �����)����� "�*���� pε,μ ���� +���� μ

����"�� �"�������
 !�� ���������� ������� ���� �� ��$�� � M
(
pε,μ, σ

2
)
= σ2M

(
pε,μ/σ, 1

)
,

��� �������������� �
� �� σ2 = 1 ���� ��� �� �*������ ���"
 ������� ��� ���� ���"� ��� ���

������ ����( ��� ����� �$������� ��� �$����� ������"���� ���� ��� ����� ��� "��� ��"��������


,���� �� ��� ������� ��� ��� ������ ����( ��� #�- ��������" �� ����$�� ������ x ���"

��"������� ������� "������"���� �	
�� ��� ���� ����$�� %��&�

xt+1 = η
(
xt +ATrt; θt

)
, �	
.�

rt = y −Axt +
1

m

∥∥xt
∥∥
0
rt−1, �	
/�

����� ��� ����������� t ������� ��� t)�� ���������
 #� n, m → ∞ ��"���������� ���� � ���)

����� ����� m/n → δ( � ������)���" ���"��� �� ��"���� ��� "���"�* �
� 1
nE

{
‖x̂− x‖22

}
��� ���� ����$�� �� %�&
 0� �� ��������� ���� ��� ��������" �	
.(	
/� ��� ��� ���� ��� ���

����� �� ��� ����"����� ���� ��� "����* A �������� �
�
�
 1������� �������
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������	
 ��	 ��
��� ���	� ������ �����
	� �� ��� ��
�
���� ����� ��� ��� ���� ����

��	 ���������� �	
� 1
m

∥∥xt
∥∥
0
rt−1�

xt+1 = η
(
xt +ATrt; θt

)
, �����

rt = y −Axt, �����

 !
��	
 �	���	 ��	 ���
���� "��!	 #� ρ = k
m ��� ��	 �������
 
��	 #� δ = m

n � $%�	���"	

�!�	
�&�� ��
' 
	��
�	� �� (��) ���� ���� ��� �&��	"	� � ρ−δ ����
����*�������
� �
��	�+

���&���
 ��	 ��	�
	��&�� �
��	�+ ���&� ��� #		� �
�"	� ,�
 -�*#��	� 
	&����
!&���� �	�
�

#���� �!
�!���� .	,	

��
 ��  �
!
	 �� (/0)� ��	 ρ−δ ��
��	�	
 ���&	 �
	 �	��
��	� ���� ���

�
	�� #� ��	 ����	 #�!���
� &!
"	1 ��	 ��	
	 ��	 ������
 ������
 ���
��&� �� �!&&	��,!�

�� �&&!
��	�� 
	&����
!&���� ��� ��	 ���	
 ��	
	 �� �� !��!&&	��,!�� ��	�	 &!
"	� �� �����

�� �	��
��	 ��	 ρ− δ ���&	 ��	���&���� �� ��	 ��	� ,
�� -�*#��	� 
	&����
!&����� � ��
��


��	�
	��&�� �!���
� &���	� ����� ������	�
 ,�
������ �� ���� �"����#�	 �� �&&!
��	�� �
	��&�

��	 ������&�� #	��"��
 �, �!�	
�!� �#�	
"�#�	� �, ��	 ��� ��
�
�����

��	 &���&	� �, θt ��� bt = 1
δη

′ (xt−1 +AT rt−1; θt−1
)
�� &���	�� &���	&�	� ���� ��	

�	
�"������ �, ���� ��
	 
	�	
����� ��	� ���� ��"	 ��
�� &���	&���� #	��		� ��� ���

-���2�

����������� 	
�
 ��� (x∗, r∗) �� � 
��� ��	
� �� ��� 	�����	�
 ����� �
� ����� ��� θt = θ�

bt = b 
���� ���
 x∗ 	� � �	
	��� �� ��� ����� ���� ��
��	�
 ��� λ = θ (1− b)�

������  
�� 	3!� ������ �	 
	� ��	 4%	� ����� &��������

x∗ + θ
∂ ‖x∗‖1
∂x∗ = x∗ +AT rt.

 
�� 	3!� ������ �	 
	�

r∗ (1− b) = y −Ax∗.

���#��	 ��	 ��� 	3!������� �	 
	�

(1− b)θ
∂ ‖x∗‖1
∂x∗ = AT (y −Ax∗) .
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��������� 	� 
�� 
�� λ = θ (1− b)�

�� �
 ��������� �� ���� ���� �� � ����� 
�����
�
(
xt, bt

)
���� 
������� ��� ��� �
������


xt 
�������
 �
 	���� ���� �� �
 ���������� ���� ��� ����� �� ��� ��� ��������� �
 �  �!!"

�#������

��� ����� �	
���

� ��� ��� ����� �����
�

� �
������

�� ���
 
�
���� 	� �������
� ������� ��$� �� 
��	
 ���� ��� %������� �� ��� ���������
 
��

%� ��������� ��� 
���� ��������� ���������
� &�'������ ��� 
��	
 ��� ��
�

��( 
��������


�� 
�����
� ���
������� �����
�
 ��� ���
� 	���� �������
 #���� �� ��� ��� #��������
�

�
 #�

�%���

������� ��	� ��� ��� {x(n), w(n) ,A(n)}n∈N �� � 	
���
���� ������	� 
� ������	� ����

��� ���
��� 
� A(n) ������ �

��� ���� ���� ��

 ��� ��
���	� 1/m� ����� ��� ������

x(n) ��� �
��� ��	�

� w(n) ������� ��� ���
������ 
� �������
�  � ��� ψ1 : R → R�

ψ2 : R× R → R �� �����
!���	���� ���	��
��� "������� ���
{
xt
}
�
{
rt
}
%� ��� 
�����
� ��

�
������ ��� ��
�����
 #����
�� %( ���� ���� ����
� 
����(

lim
n→∞

1

m

m∑
a=1

ψ1

(
rta
)
= E {ψ1 (τtZ)} ,

lim
n→∞

1

n

n∑
i=1

ψ2

(
xt+1
i , xi

)
= E {ψ2 (η (X0 + τtZ) ; θt) , X0} ,

	���� Z ∼ (0, 1) �
 ����#������ �� X0 ∼ p0�


���
�
�� ���� ��� 
�����
� �� ��
���
�
 {x(n), w(n) ,A(n)}n∈N ����)�� %( n �
 
���

�� %� � 
��������� 
�����
� �� x (n) ∈ R
n� w (n) ∈ R

m� A (n) ∈ R
m×n 	��� m = m (n) �



�
� ���� m/n → δ ∈ (0, ∞)� ��� �� �������� ��� �����	��� 
��������
 ����

*� ��� ��#���
�� ��
���%����� �� ��� ������
 �� x (n) 
�������
 	��+�( �� � #��%�%��,

��( ���
��� p0 �� R 	��� %������ 
�
��� ������� -������ n−1
∑n

i=1 xi (n)
2 →

Ep0

{
X2

0

}
�

.� ��� ��#���
�� ��
���%����� �� ��� ������
 �� w (n) 
�������
 	��+�( �� � #��%�%��,

��( ���
��� pW �� R 	��� %������ 
�
��� ������� -������ m−1
∑m

i=1 xi (n)
2 →



������� �	 �
��� ���
���

� 
� �
�������� ����
�� ��

EpW

{
W 2

} ≡ σ2�

�� �� {ei}1≤i≤n� ei ∈ R
n �	
��	
 ��	 ��
�
���� ��
�
� ��	
 limn←∞ mini∈[n] ‖A(n)ei‖2 =

1�

��	 �������
 ����� �
 
���
 �
 ��� ����� 
������
 ��	 �����
����� �� ��	 
���	 	�������
�

�	 ���� ������� �� �
 ��	 �������
�� �� ���� �	 	 �	
�	� �� ��� �����	 
����� !�

��	� ��	

�"� ��������# �
� �	���
�$	 ��	 �
��� �� ��	 �	
��
	��

xt +ATrt = xt +AT
(
y −Axt

)
= xt +AT

(
Axtrue +w −Axt

)
= xt +

(
ATA− I

) (
xtrue − xt

)
+ATw.

%	
��	 et =
(
ATA− I

) (
xtrue − xt

)
+ATw� ��	


xt+1 − xtrue = η
(
xt +ATrt; θt

)− xtrue. &'�()

*��� 	
��� ��
(
ATA− I

) ∼ N (0, 1/m)� ��	
 �	 ���	 ��� et+ ,) E
{
eti
}

= 0- .)

E

{
etie

t
j

}
= 0, i �= j- �)

E

{∣∣eti∣∣2} =
1

m

∥∥xtrue − xt
∥∥2
2
+ σ2.

��	 �	
��
�
� 
�	� �
�
� ��
����
 η (·) ��� �	�� ����	 n ���� �	

xt+1 − xtrue = η
(
xtrue + τtz; θ

t
)− xtrue. &'�,/)

��	�	 z ∼ (0, I) �
� ��	 �����
�	 ����#	�	�


τ2t � 1

m
E

{∥∥xtrue − x
∥∥2
2

}
+ σ2. &'�,,)

τ2t+1 =
1

m
E

{∥∥η (xtrue + τ tz; θt
i

)− xtrue
∥∥2
2

}
+ σ2. &'�,.)

��	 ����	 ��� 	0�����

 ���	 ��	 
���	 	�������
 �� 123 ��������#
�
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�������� ����
�� ��

�� �� ����	
� ����� 
��
� �� �	
 ����
 
��������� ��
 �
� σ2 = 0 ��� �
��
 �	
 ����

�	�
�	������ ��� �
� ���������
 ��

mse
(
τ2t ; p0, α

)
� 1

n
E

{[
η
(
xtrue + τtz; ατt

)− xtrue
]2}

.

���
 �	�� Fεi �� ����
 ����������

sup
p0∈Fε

mse
(
τ2t ; p0, α

)
= sup

p0∈Fε

1

n
τ2t M (ε, α) ���� !

"	
�
 p# = ε
2δ−∞ + (1− ε) δ0 +

ε
2δ+∞�

����#�$��� M (ε, α)� �	
 ��#�� ��

lim
ε→0

α#√
2log (ε−1)

= 1.

%
��
 �	
 #���#�& �	�
�	��� ���

M# (ε) = inf
α>0

M (ε, α) .

�	
 ���#�# �� �
����
� "	
� p = ε
2δ−∞ + (1− ε) δ0 +

ε
2δ+∞�

M# (ε) = E

{
[η (x+ z; α)− x]2

}
=
{
ε
(
1 + α2

)
+ (1− ε)

[
2
(
1 + α2

)
Φ (−α)− 2αφ (α)

]}
.

'�#
��
 (4.11) ��� (4.13)� �	
� ��� 
��	 δ ∈ [0, 1]� �
� ρMSE (δ) 

 �	
 ����
 �� ρ �������

M# (ρδ) = δ.



������� �	 �
��� ���
���

� 
� �
�������� ����
�� ��

��� ����	
	� �����

	�� ��� ��� ���
� �������� 
���� (δ, ρMSE (δ)) 	
 ����	��� 	� ���

������	���

⎧⎪⎪⎨
⎪⎪⎩
Gε (α) =

{
ε
(
1 + α2

)
+ (1− ε)

[
2
(
1 + α2

)
Φ (−α)− 2αφ (α)

]}
= δ

∂Gε(α)
∂α =

{
2αε+ (1− ε)

[
4αΦ (−α) + 2

(
1 + α2

)
Φ′ (−α)− 2φ (α)− 2αφ′ (α)

]}
= 0

����� φ (α) = 1√
2π
e−

α2

2 ��� Φ (α) =
´ α
−∞ φ (x) dx� �� 	
 ��
� �� ���	�� ���� φ (α) = αφ (α)

��� Φ′ (α) = φ (α)� ���
 ��� 
����	�� �� ��� ����� �����	��
 	


⎧⎪⎪⎨
⎪⎪⎩
δ = 2φ(α)

α+2(φ(α)−αΦ(−α))

ρ = φ(α)−αΦ(−α)
φ(α)

.
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������� ����� x = [xI1 , xI2 ] ��� ��� ����	�
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%���" �� �#� ����� ������ ������� �#��# ��������� ��� ���"�& �� ���� �#� ������ �������

�� �#� ������� �� �������
 '��

Fε = {p : p {0} = 1− ε} (	
)	*

�� �#� ������ �� ����������� "����������� ���# � ���� 1−ε �� +���
 ,����� � ��������������

������ x = [xI1 ; xI2 ; ...; xIs ] �#��� pεi ∈ Fεi ��" pεi = pεj �� i, j ∈ Ik& k ∈ [s]
 ��� �#�

������� �� ����� ����������& ������� �#�� ���# ������ �� A& "�����" �� Ai& i ∈ [n]&

�������� ������� ��������" ���� �
�
"
 -������� ���"�� ��������� ���# N (
0, σ2

i /m
)

 ��� �

����� ����� ��"��� Σn
i=1σ

2
i = n
 �#� ���� �� �� ������+� �#� �������������� ����� ���.���
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min
σ2
1 ,··· ,σ2

n

1

n
E

{
‖x̂− x‖22

}
, s.t.

n∑
i=1

σ2
i = n, ������

��	
	 x̂ �� 
�	 ����
	��	� �	����� 
	����

��
����

��	� ������ 
� ���	
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������ ��� ����
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�	� �	�	
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������ N (
0, σ2

i /m
)
� "�	 �
������ ��� �� ��
 ��
���� ��! ��
	 �� ��#	
	�
 ������� ��!

��$	 ��#	
	�
 �2%��
�� "�	 
	$��	� ���� 
	
�	� �� ������ε�� �� ��$	� �!

xt+1 = η
(
xt +Θ−2ATrt; Θ−1θt

)
, ������

rt = y −Axt +
1

m

∥∥xt
∥∥
0
rt−1, ����&�

��	
	 Θ2 � diag
(
σ2
1, σ

2
2, ..., σ

2
n

)
� "�	 ��'�
 ��#	
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�	 �
����
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	��
������� �	
�		� x ��� y �! � ����
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	 �
���� ����� ������	�

$�
����	 ���	� ���	+	� �! i ∈ [n]  �
 $�
����	� xi ���  ��
�
 ���	� ���	+	� �! a ∈ [m]

��

	�������� 
� ���	
$�
���� ya� *	��
	 
�	 �	����	 ����	�  
�� 
�	  ��
�
 ���	 a 
�


�	 $�
����	 ���	 i �! rta→i ��� 
��
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�	 $�
����	 ���	 i 
� 
�	  ��
�
 ���	 a �! xti→a�
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 t �	��
	� 
�	 tth �
	
�
���� �
 ��� �	 $	
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 (&�)

rta→i = ya −
∑

j∈[n]\i
Aajx

t
j→a, ����-�

xt+1
i→a =

1

σ2
i

ηt

⎛
⎝ ∑

b∈[m]\a
Abir

t
b→i

⎞
⎠ , ����.�

��	
	  �
 ��
�
����� ���$	��	��	� η (·, θt) �� ������,	� 
� ηt (·) �	��	 �
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�+ � 
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��� ���� O (1) ��� O (n−1/2
)
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�� �
� ��	� ��� ��� ������
 ��
��

�
� ��
����� ��
�� 
� 
� ������� ���� ���� n ��� m �
� ��
�� ��� δ � m/n 
� � ��������

��

���� 	��
�
��� �
��� Aa,i ∼ N (
0, σ2

i /m
)
� 
� 
� ����
 Aa,i 
� �� O (n−1/2

)
� ���� ����

rta→i = ya −
∑

j∈[n]Aajx
t
j→a + Aaix

t
i→a ���
� ���� ��� ���� ��
�  �� O (n−1/2

)
! ��	����

�� i� "�� ��� �

�� rta→i = rta+ δrta→i ���
� rta 
� �� O (1) ��� ���� δrta→i 
� �� O (n−1/2
)
�

#� �
�
��
 �
�������� 
� ����� ���� xti→a = xti + δxti→a� ���
� ���
�� xti 
� �� O (1) ���

δxti→a 
� �� O (n−1/2
)
� $��	
�� ���� O (1) ��� O (n−1/2

)
��
��� ��� �%���
���  &���! ���

 &��'! ������

rta + δrta→i = ya −
∑
j∈[n]

Aaj

(
xtj + δxtj→a

)
+Aaix

t
i,  &�()!

xt+1
i + δxt+1

i→a =
1

σ2
i

ηt

⎛
⎝∑

b∈[m]

Abi

(
rtb + δrtb→i

)−Aair
t
a

⎞
⎠ .  &�(�!

*
��  &�()!� 
� 
� ��
�
�����
��
� �� 
�����
+� ����

rta = ya −
∑
j∈[n]

Aaj

(
xtj + δxtj→a

)
;  &�((!

δrta→i = Aaix
t
i.  &�(,!

#� -����
 ��	���
�� �� ηt (·)� .%���
��  &�(�! �������

xti + δxti→a =
1

σ2
i

ηt

⎛
⎝∑

b∈[m]

Abi

(
rtb + δrtb→i

)⎞⎠+

1

σ2
i

Aair
t
aη

′
t

⎛
⎝∑

b∈[m]

Abi

(
rtb + δrtb→i

)⎞⎠ ,  &�(&!

�
�� ��
�� 
� 
� ����
 ����

xt+1
i =

1

σ2
i

ηt

⎛
⎝∑

b∈[m]

Abi

(
rtb + δrtb→i

)⎞⎠ ;  &�(/!

δxt+1
i→a =

1

σ2
i

Aair
t
aη

′
t

⎛
⎝∑

b∈[m]

Abi

(
rtb + δrtb→i

)⎞⎠ .  &�(0!

�����
����  &�(,! 
���  &�(/! ���  &�(0! 
���  &�((!� 1��
� ��
� ��� ��
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O (n−1/2
)
� �� ����

xt+1
i =

1

σ2
i

ηt
(
σ2
i x

t
i +

(
ATrt

)
i

)
, 	
����

rta = ya −
∑
j∈[n]

Aajx
t
j+

∑
j∈[n]

A2
aj

σ2
j

η′t−1

(
σ2
jx

t−1
j +

(
ATrt−1

)
j

)
rt−1
a . 	
����


��� ���� ��� ����� n� A2
aj ≈ σ2

j /m� ��� ���� ���� �� ��� ����� ���� ���� �� ��������

	
���� ��� �� �  ��!������ ��

∑
j∈[n]

1

m
η′t−1

(
σ2
jx

t−1
j +

(
ATrt−1

)
j

)
rt−1
a =

1

m

∥∥xt
∥∥
0
rt−1
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����'��� ��� �� �����' ��� ��,�� ����-� �� ���  �� ���' 	
�
�� $� ��� �������� ����'��� .�/

�� ����� ��� �������� 0� �����0 ��� ���������  ���� �� .�
/ 0���� �� ���� ������ �� ��������

��� ���������� ��� -�' ������

��� ���� ������� ��� �� �������*�� �� �����0�� #������� ��� ��'� ����� ������ 0����

(m,n) → ∞ �������������' 0��� � �������� ����� m/n → δ� $����� ��� ����- � �����'

��������� ��������� ������ 0��� |Ii| /n → ci ��� ���� �������� ci� #������� ��� �����

���������  ���� p# (εi)� i ∈ [n]� ��� ��  ��� ���� lim(m,n)→∞ 1
m

n∑
i=1

M# (εi) < 1� ���

������! %+� �� ��� ������� $%& ��������� �� ����� �'

1

n
E

{
‖x̂− x‖22

}
.
=

1
n

n∑
i=1

M# (εi) /σ
2
i

1− 1
m

n∑
i=1

M# (εi)

σ2, 	
�12�

0���� ��� �'����
.
= ������� ��� �������' �� ��� �������������� ��'� ����� �������

������ 
�3 	�����	
� �	�
 �
� ����	
�� �������� #������� ��� ��������' � ���� ������ x
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M# (ε)

1−M# (ε) /δ
σ2,

����� �������� ���� ��� 	����� ����� �� ��� �

������ ��! ����	�
����	
�
�� ��� ��� ��
	���		 ��	��� "�	 ��������� �
��# σ2 = 0� $��%
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�'�(����� 	����� 
� �(���)�& ����	� ���� 
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��%�	
������� ��	�� ��
� ��(
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1

n
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M# (εi)
.
= δ.
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�& ���' �� 1
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���� ��� ��� �� �+, � "�	���	��	�# ���� ��� (�
�� �	
������� ��	�� �� ��&�(��&��� �� σ2
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xt +Θ−2ATrt = xt +Θ−2AT
(
y −Axt

)
= x+ et, ������

��	
	 et �
(
Θ−2ATA− I

) (
x− xt

)
+Θ−2ATw� ��	 	�
����� ��
� �� ��	 ���
��

(
Θ−2ATA− I

)
�� et �� ⎡

⎢⎢⎢⎢⎣
σ−2
1 AT

1 A1 − 1 σ−2
1 AT

1 A2 · · ·
σ−2
2 AT

2 A1 σ−2
2 AT

2 A2 − 1 · · ·
���

���
� � �

⎤
⎥⎥⎥⎥⎦ .

�� ��� �	 �	
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� σ−2
i AT
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i AT

i Aj # i �= j# ��� �	
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����	 σ−2
i σ2

j /m� $� ��	 ���� ���� w ∼ N (
0, σ2I

)
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E
{
eti
}
= 0 '� E

{
etie

t
j

}
= 0, i �= j �� ��
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�	 n# �	��	 τ̃2t,i � E

{∣∣eti∣∣2}# ��	
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{∣∣eti∣∣2} .
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1
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i

⎛
⎝ n∑

j=1

σ2
j

m
E

{∣∣xj − xtj
∣∣2
2

}
+ σ2

⎞
⎠ .

���� �	�
� �� ()��������� ��	 *+, �� ��	 (t+ 1)th ��	
�����%

τ̃2t+1,i
.
=

1

σ2
i

⎛
⎝ n∑

j=1

σ2
j

m
E

{∣∣xj − ηt
(
xj + etj

)∣∣2
2

}
+ σ2

⎞
⎠ .

-
�� ��	 �	������� �� M# (εj) �� �����#

E

{∣∣xj − ηt
(
xj + etj

)∣∣2
2

}
= M# (εj) τ̃

2
t,j . ������

.� � 
	�)��# ��	� ��	 ��	��� ����	 �τ̃t,j = τ̃t+1,j� �� 
	���	�#

τ̃2i
.
=

1

σ2
i

⎛
⎝ 1

m

n∑
j=1

σ2
jM

# (εj) τ̃
2
j + σ2

⎞
⎠ , i ∈ [n]. ����/�

��	 	�
����� ��
� �� ���
)�	 τ̃2i ��� �	 ���
)�	� �� ���	
���� ���� ��
 ��� i ∈ [n]#
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τ̃2i
.
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σ2
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i
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M# (εi)

, i ∈ [n]. ������

�	���

 ������ ���� ��
 ����
 
�	����	
 ������� �
 	����


1

n
E

{
‖x̂− x‖22

}
.
=

1

n

n∑
i=1

M# (εi) τ̃
2
i ,

����� ���
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1
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M# (εi) /σ
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1− 1
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M# (εi)
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· 1
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√
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√
M# (εi)

1
n
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√
M# (εi)

, i ∈ [n]. ������
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����� ��� �������� ����� ε(1)/ε(2) = 100
 ��� ���� ����� ����� ��� ��� ��� ������ �����
������������ ������� ���  ��� �! "#$� {0.1, 0.2, 0.5, 1, 2, 5, 10} ������ ��� ����� ���
����� ����������
 ��� ���������������� ����� ��� ��������� ���� �� ����� �� ��� ����� ����

��� ����� ����� ������ ���� �� ��� ���� ������� ���� ����� ��� �������� ����� %&&
 '�
�� ��������� �� ����� ��� ���� ��� ��� ������ ���� "#$(% ����� �� ��� )���� ��� ���
 �������� ���������� ���� ρ
 ����  ���� ���� �� )!��� ρ ����� �!��� ��� �� ����� ���� ��
����� ��� �� � "#$
 ��� ������ ������� ����� ���������� ������ ��� ���������� ���� ���
���� ����� �� *+	,

��� ��������	
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�
���
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 ���	�

����� ����	�
��
� ������
	��
��� �		�	

��� ����������� �� ���������� �� ��� �-���� �� ����� ����������. �� ���� � ���� ��� ���

����� ������ ������ ��� �� ������� ���� ��� ����������� ������ ����� ��� �������� ����� ��

����� �� ε(1)/ε(2) = 100
 /������� ��� ����� ��������� ����� p#
ε(1)
��� p#

ε(2)

 0�� ���1� ���

����� �������� �� ������� σ2 = 1
 2�� δ = m/n ��� ρ = 1
m

∑
εi
 '� ������ 	
�. ���  ��� �!

"#$ �������� ������ ��� ����� ��� ����� ���������� ��� ������������ ����� �� ���� �����

����� ��� ��� ������ �����
 ��� ���������������� ����� ��� ��������� ���� �� ����� �� ���

����� ����
 3� ��� ���� ��� ��� ��� ����� �� (ρ, δ) ����� ��� ���������������� �����. ��� ���

������ �������������� ������ ��������� ����� ����� ����������
 4���� ��� ����������������

����� ��� ����� ��������� ���� ��� ��������
 ��� �������������� ����� ���� �� ��)����
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� ������ ������ 	��� ���� � ������ �� �
��� ���� ��������� ��� ������� �	 ���� �� ��� ���

�� ������ a������ ���	
���� ����� �� ��� ������
����� pε,μ ∈ Fε ���� ���� ��� �������������

!"# ����� �� Ma (ε) = (1− a)M# (ε)� $���� 0 < a � 1� %�
�� �� a� ��� 
���� �	 μ ���


� �������� 
�� ��� �&������ 	��� �	 ��� !"# �	 ��� �����'����� ��&�����

(� ��� a = 0.02 $���� �� ��� ���� �� ���� �� ����� )�� m = 2000 ��� n = 4000�

*����� � ������ ������ $��� �$� �
��'������ 
���+�� ����� n1 = n2 = n/2� ��� ��������

����� �� �� ��� �� ε(1)/ε(2)� ��� ������ x �� �������� ��������� ,-.. �����/������0 	��� ���

������ ������ 1�� ���� �����/������ ��� *!2�2,ε0 ��������� �� ������� 	�� �������������� ��

�
���� x̂� �� 1����� ���� $�  & ρ = 0.18 
�� 
��� ��� �������� ����� ε(1)/ε(2)� (� �������

��� �������������� !"# ‖x̂− x‖22 /n� 1��� ��� ��������� �������� ��� �
����� !"# �	���

��$�� ���������� �� ��$��� �������� ��� ���	������� ���� 
������ ������ $��� ��� ��������

����� ���������� ����������� ����������� ���$� �� ������ ���
�� ��� 
��� ����� �� ��� ���
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� ,���.0� ��� ��������
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�����,

PCE = min
σ2
1 ,··· ,σ2

n

1

n

S∑
s=1

E

{∥∥Ψ (x̂)Is − xIs
∥∥2
2

}
E

{
‖xIs‖22

} , s.t.
n∑

i=1

σ2
i = n. �-����

����� ������ 
���� �� ���

�� �� "� y = AΨ (x) +w� Ψ (x) �� ��� ������� ��������
 ��

x� #��� ����
������� ���"��
 ����� 
� ��� ������"
���� �� ���� �����+ ��������� ������� �

���� "������ "������ ��������
����� ���
���� �� ���� ����� ��� ��� ������� ()*�

�� ��� ���� 
�� ��� 
���
� ���$ �� .�� ��� ����
����� ��� ���"��
 �-����,

PCE = min
σ2
i s

1

n

n∑
i=1

E

{
‖x̂i − xi‖22

}
εi

=

1
n

n∑
i=1

M# (εi)/
(
εiτ

2
i

)
1− 1

m

n∑
i=1

M# (εi)

σ2,

����� ��� 
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σ2
i =

√
M# (εi) /εi

1
n

n∑
i=1

√
M# (εi) /εi

, i ∈ [n]. �-�-/�
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����� ���� �����
 ������"#� 	���� ����������� �� ���� ������� $� ������ �� #�� ������%

����� ������� ������� &'()* ��+� �����$�� ��� ������ �������
 ��� ����������� ����
���


���� �� ��������� 	
 ��� ���������� ��$ ����#�������� ���������
 ��� ��� ����	����
 ��

"#�����
��� ��� �����#� ������� ���� ��� ����� �������
� �
�
� ��� ����� ����������
 '()

�� �� ��������� �� ��� ���������� �� �
�
�
 ������ ����#������ �������� ��� #�� ������%

�	�� �������������� �� �����
 �������
 ��� ����#������� �� ������� ������� ����������

�� ��������� ��������
 ,� ��� ������������ ����������� �� -�������- ���� �� ����� �� ���

��������� ����%������������ &,.�* ���������� �� ��������� ��� ���������� 	��#��� �� 	
 ���

��������� #������
 ��� '() ������"#� ��� 	��� ������#��
 ������� �� ����
�� ���#� /����

��!� �0� ��� ((1 ���	��� �����
 2�$���� ��� ����
��� �#��� �#� �� 	� �����3�����
 ���%

������ �� ��� �����������#� 4�. ���� $���� ��� �#�	��� �� ����#������� ��� ��� �����

������ �� ��5����� ������� ��� ��5�����
 ,� ��� �����������#� ����� ��� �
�����
 �� ��� ��%

����� ��� ����������� ����#����� 	��� � ��$� ��� �� ���� ��� ������"#�� �� ��!� �0� ����


6#���������� ��  ��$� 	
 ��� �#����� '() 	���� ((1 ��������� ��"#���� ����� ����%

������ ��5������ 	��$��� ���� �$� 	��� � �� ��� ����#������ ������ �� �� �� ����� ����

��������#����� �#������#� ���������
 ,� �7�� ��� �#���� ����#���� �#���%�������� ����������

������� ������ ��� �������� ��� ���������� ����� ����#���� �����������
 .����� ������

��������� ��#� ����������� ����� �� ���������� ��� ��� ���#��� �� �������� $��� 8��
�

����������� ��������� ����
���


���� ������� 3����
 ���#��� �� ������ ������ �#������ ����� $��� ���
  ��$��� ���

#������ �������
 �������������� ������ ��� ������ ��������
 9� �����
 ��� ����� ��������

������	#���� ��� 	��� ������ ������� ��� ������ ��� ������������� '() ��������#����� ��%

������� ���� ��� 	�������� ����� ����
���
 :���� ��� ����� ����#���� ������"#� ��� �����

���������� 	�#�� �� ���$� �� � ��� �� �#����� ���� �#��� ���������� ��� ������ $��� � ���%

��3� �#�	�� �� 	��� �
 ���� $� ��� � ���
 ������ ������#�#�%��#�%�������� ���	�	����


������	#���� ����� �� ��� ������ ������
 ��� ������������� ������� ��� 	��� ������� $���

�� �������� ������ ����
 ��� ����� ����� ���������� ��� 	� ����#���� ��� �#������� ����%

����� ��� ��� ���� ������� ��� ����� �������
 ���� 	��� �������������
 ,� �#��� �#� ����
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	����� �	 ��� ����	��" #�	������� ��� ������
�� ���	$

����� ��	%���� �� ���� 
������ �� ���	 �����
���� 
	� ���
#��� ��� ��
	�����
� ���� �������

���	� �������� &������� �	��� ���� #�	�� �����	����	�� %�����
� �� ����� 	� ��
� �������

��� ��������� 	
 ��� 
������ �� 	�������� �� 
	��	��� '� ����	��
� ��� ()* ������

�	��� �� ��
��	� ��+ ��� ��%� ��� �
���� 
��� �������� �� ��
��	� ��,�-� .� ��
��	� ��,�+ ��

��
�� ��� ����	/����� ������� ������� ���	����� 
	� ��� 
	��	� ����	�� ����	�� ������

�	���� .� ��
��	� ��,�, �� ����	��
� ��� ����� ��������	� 
	� ��� ����%�� ���	����� ���

�/���� ��� ������ �	 ����� �� ��� ������ 	
 ��	
#� ����	�
���� �	 ��0����� .� ��
��	� ���

��� ��� �� ���
��� ��� ��1
���� �� ����	���� ��� �	��� �	 � �����	����	�� 
��� ����

�� ��	�	�� �� ���������%� ��� �	�� ���
�0
 ������ ���	� ����������	�� 2���	����$&�������

����������	�� '� ������� ��� ������ �	��� ���� ��� �
���� 
��� �������	� ����%���	�� ����

�� ��
��	� ��3 ��� �� �� ��%� ��� 
	�����	����� 456 ���	����� ��� ��� ��� ����� �%	����	�

�	 ���� ��� ����� ��������	�� .� ��� ���� ��
��	�� �� ��	�	�� ���������� �	 �������� ���

��
	�����
��	� ���	� �� ��%��� � �	��� �������� ���	��
� ������� ������� �� ��
��	� ��7

�� ��%� ��� ������
�� ����� 
	� 
	������	� �	 ��� ���	����
�� �������� .���� ��	
������

�/����� �� ���	 ���	�������� �	 ��	� ��� ���
� 	
 	�� 	���������	� �����������
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)	������ ��� ()* �
�����	 ���� K ∈ Z
+ ����	��� �	� ��
� ����	� k ������������ ���

��%�� ��

yk = Akxk +wk, 8��-9

����� yk ∈ R
mk �� ��� ����������� %�
�	�� :��� �� �� ������	�� ��0����	�� �����

Ak ∈ R
mk×n ���	��� ��� ����������� �����/ 8������ ���� � 
	���� %�
�	�9� xk ∈ R

n

������ 
	� ��� ��#�	�� ������ ������� ��� wk ∈ R
mk �� ��� ������%� ����� &������� �	���

���� ���� ���	 ��� ��� 
	%�����
� �����/ σ2
kI� k ∈ [K]�

4����� ���� ��� ��#�	�� ������� xk"� ��� 
�	� ������� ����	����� ���
� ��������

���� ���� ����� ��� ���� �������	� ��� �/����� �����$������ 
	�������	��� .� ���� 
�������



������� �	 
����
��
�� ��� ��������
� ����������� �� ��� ��

�� ��� ����	
�����
 	��������� 	� ��� ��	�� �����	�
 ����� ����� �
�� � �������� 	� ���� ����

	�� xk�� ����� ��� 
����� ������ ��������  �� xk,i !� ��� i"�� 
�������� �# xk ��� ��$��

supp (xk) = {i ∈ [n] : xk,i �= 0} !� ��� ������� �# xk� %�� ��� �
�� � ����� �������

���� supp (x1) = supp (x2) = · · · = supp (xK)� &�$�� x·,i = [x1,i, x2,i, · · · , xK,i]
T ∈ R

K

��	
� '����� ��� i"�� 
��������� #��� �	(����� k�� ��'������ )�	�� ��� �*����� �
����

����� ��

y = Ax+w, �����

����� A = diag (A1,A2, · · · ,AK) 	� � !��
+ �	�'���� ����	,� y =
[
yT
1 ,y

T
2 , · · · ,yT

K

]T
�

x =
[
xT
1 ,x

T
2 , · · · ,xT

K

]T
� ��� w =

[
wT

1 ,w
T
2 , · · · ,wT

K

]T
� %��� ��� ��+���� �	'��� x

#������ ��� ����"+���� !��
+ ������ ����
���� �--.� ����� ��� �	'��� x 	� �	*	��� 	���

!��
+� '	*�� !
 x·,i�� ��� ��� 
��������� 	� � !��
+ ��� �	���� �	�����������
 /��� ��

�	�����������
 ���/����

��� ��� ��	 
�� 
������	������ � ����������� ������

�����

����� �����	 
��� 
�������

0� ����� �� ���	*� ��� 1�2 ��'��	��� #�� &3� ��
������
�	�� ��� ����
�� 	�� ���#�����
��

��� 4�
����5 
��� 	� ����	�� 	� ��	� ��
�	�� ����� m1 = m2 = · · · = mK = 1� n = 1� ���

A1 = A2 = · · · = AK = 1� )	�� ��	� �������	��� ��� �	'��� ����� 	� �	���	$�� ��

y = x+w ∈ R
K , ���6�

�����w ∼ N (0, I)� 1����� ����� 	� �� ���� 	�#�����	�� �� ��� �	'���� +���� 	� ��*��
��

)� 
���	��� ��� ����� #�*���!�� �	���	!��	�� �� ���	
�� �66� ����� 	� ����	��	
���
 '	*�� ���

����� 
��� �	�	��� ���� �7����� ��
������
�	�� ������ )� '������	�� ��	� 	��� ��� �����

�	�� � K �
���� �	'��� ����� 	�
���	�' �	'��� xi�� i ∈ [K]� 8�
� xi 	� 	�����������


'�������� ��� ��� �2"���� ‖x‖2 ��� ��� ����� #�*���!�� �	���	!��	��9

p (‖x‖2) = (1− ε) δ0 + εδ∞. ���:�



K = 1 2

ηα (y) =

⎧⎪⎪⎨
⎪⎪⎩

‖y‖−α
‖y‖ y if ‖y‖ > α

0 otherwise

.

K = 1

y

�2 ‖x‖2

K = 2 K > 2

K = 1 K = 2

x
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����� 
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��� �� 
�� 	������ �����

��� �	��� 	��
�������� �� ������  !�"#� ������  !�"# ��$�� 
�� �����
�
� ����� ��� %&'

������	� (
 
�����
� K 	��� ������) ��
� ��������
��� ��� � ��

�� ����� yi 
� $�������

����� xi�

&������� 	����  *�+# ��� ��
 w = 0 ��� 
�� 	�	��
� ,� ��	 
� ���$� 
�� %&' ������	

���

�� ��

min
x

1

2

K∑
k=1

‖yk −Akxk‖22 + λ

n∑
i=1

‖x·,i‖2

s.t. ∀k, l ∈ [K] , Supp (xk) = Supp (xl) ,  *�-#

����� x·,i �� � ���
. �� 
�� ������ 
�	�����
� ��/��� �� x·,i � [x1,i, x2,i, · · · , xK,i]
T � ���

���
. k) �� ��$� 
�� ��
�	����� 
��
 ���

���

CA,y (xk) ≡ 1

2

m∑
a=1

(yk,a −Ak,axk)
2 + λ

n∑
i=1

‖x·,i‖2 ,

����� Ak,a ��������
� 
�� ath 
���	� �� 	�
��� Ak� ��� 	�����	 ������
�	 ����
�� ����

J t+1
i→a (xk,i)

∼= λ ‖x·,i‖2 +
∑
b �=a

Ĵ t
b→i (xk,i) ,

Ĵ t
a→i (xk,i) ∼= min

xj �=i

⎧⎨
⎩1

2
(yk,a −Ak,axk)

2 +
∑
j �=i

J t
j→a (xk,j)

⎫⎬
⎭ .

'��
� J t+1
i→a (xk,i) ��� Ĵ t

a→i (xk,i) ��� ��
� 
��$��) �� 
�� ��	�������� �
 �� ������
�


�������	�
���� 0�
�
� 
��
 �	���
��� �� ���	��
� �� Ak ��� ����	�� �� ����� O
(

1√
m

)
)

���
� ��� �
�
��
�
���� 	�
� �	����� 
��� 1� 1� � �����
 �� ��� � ��
��� ����� ������

��������� ��� Ĵ t
a→i (xk,i)  ����	� 
��
 Ĵ t

a→i (0) = 0#2

Ĵ t
a→i (xk,i) ∼= −αt

k,a→i (Ak,a,ixk,i) +
1

2
βt
k,a→i (Ak,a,ixk,i)

2 +O
(
(Ak,a,ixk,i)

3
)
.

����� αt
k,a→i ��� βt

k,a→i ��� 
�� ��
����
�� 
��3
���
 �� 
�� /��
 ��� ��
��� ����� 
��	



K

Ĵ t
a→i (xk,i) J t+1

i→a (xk,i)

J t+1
i→a (xk,i)

∼= λ ‖x·,i‖2 −
⎛
⎝∑

b �=a

Ak,b,iα
t
k,b→i

⎞
⎠xk,i +

1

2

⎛
⎝∑

b �=a

Ak,b,iβ
t
k,b→i

⎞
⎠x2k,i +O

(
n (Ak,·,ixk,i)3

)

∼= 1

2γt−1
k,i→a

(
xk,i − xt−1

k,i→a

)2
+O

((
xk,i − xt−1

k,i→a

)3)
.

Ak,·,i ith Ak
∼=

Ĵ t
a→i (xk,i) xt−1

k,i→a = arg minxk,i
Ĵ t

a→i (xk,i)

xtk,i→a γtk,i→a

J t
i→a (xk,i)

∂J t
i→a (xk,i)

∂xk,i
=

λxk,i
‖x·i‖2

−
⎛
⎝∑

b �=a

Ak,b,iα
t
k,b→i

⎞
⎠+

⎛
⎝∑

b �=a

A2
k,b,iβ

t
k,b→i

⎞
⎠xk,i = 0.

uk =
∑

b �=a Ak,b,iα
t
k,b→i∑

b �=a A2
k,b,iβ

t
k,b→i

vk = λ∑
b �=a A2

k,b,iβ
t
k,b→i

xk,i − uk + vk · xk,i
‖x·i‖2

= 0.

x·,i

‖x·,i‖2
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����
��
�� ��� ��������
� ����������� �� ��� ��

���� ����	 �

��
�� � 	��������
�� ����	
�� �� 
	� �� 	�
� ��� �� ��
��	 x·i‖u� 
���� 
	

�
�
�� 	��	 vk = vl ��� ∀k, l ∈ [K]� ��������� �� ��� ������ 	�� ������

	 �� v� ��	

u = [u1, u2, ..., uk]
T � �� ����

x·i
(
1 +

v

‖x·i‖2

)
= u.

����� 	� � � ! ��� ����� 	�� ����� �"��	
�� ��� ��	 xt
·,i→a = x·i�

xt
·,i→a = η (u, v) =

⎧⎪⎪⎨
⎪⎪⎩
(
1− v

‖u‖2

)
u if ‖u‖2 > v

0 otherwise

.

#��� ���
�	� γt
k,i→a = η

′
(uk, v)� �����

η′ (uk, v)

⎧⎪⎪⎨
⎪⎪⎩
(u2

k−‖u‖22)v
‖u‖32

+ 1 if ‖u‖2 > v

0 otherwise

.

�� ��� 	�� ���� ��� �� ����� 
� $%&'� ��� xt
·,i→a ��� γt

i→a 	� ��
�����	 αt
k,b→i� ��� βt

k,b→i��

�
���
��

αt
k,b→i =

1∑
i �=j A

2
k,a,jγ

t
k,i→a

⎧⎨
⎩yk,a −

∑
i �=j

Ak,a,jx
t
k,i→a

⎫⎬
⎭ ,

βt
k,b→i =

1∑
i �=j A

2
k,a,jγ

t
k,i→a

.

���� ��	
�
�� 	�� ���( ��
������� ����� ��	� 	���� A2
k,a,jγ

t
k,i→a ��� 	����A2

k,a,jβ
t
k,i→a�

��	 rtk,i→a = αt
k,i→a/β

t
k,i→a� �� ��� ��
	� 	�� ������� 
���
�� 
	���	
��� ��

rtk,i→a = ya −
∑
i �=j

A2
k,a,jx

t
k,i→a,

xtk,i→a = η

⎛
⎝∑

b �=a

A2
k,a,jr

t
k,b→i, θ

t

⎞
⎠ ,

����� θt 
� 	���	�� �� 
���
�����	 �� k�

��� ����� �"��	
��� ���� 	� ��� #)* �����
	�� ��� +,-� ��� �
.����	 ���� 	�� �����
�



������� �	 
����
��
�� ��� ��������
� ����������� �� ��� ���

��� �� �	
� �� 
�� ������
����� 
�
���	����� ����
�	� η (·)�

xt+1
k = η

(
xt
k +AT

k r
t
k; θ

t
)
, �����

rtk = yk −Akx
t
k + btkr

t−1
k , �����

���
� btk = 1
mK

∑
j η

′
(
xt−1
k,j +

(
AT

k r
t−1
k

)
j
; θt−1

)
� ��

��
�	
�� �� ���� �������	��� �
�
���


��� �� n → ∞� ��� 
�� xk � ��!� 
�� ���� ���

�"�
�	� ��� �	 �
� ��� 
�� Ak � ����� ��#�$


��
 btk = btl � ∀k, l ∈ [K]� %� ��&�� bt � btk�

��
�	��� 
�� �"	!� ����
���� �� "���
 �#	� 
�� '() �	��� ���*�� 
�� ��	��� 	� #��


���
�
� θt ��� bt ���	 ��!� ��	�� �	����
�	�� ��
� 
�� #
	"��� ���+�� %� �	
������ 
��

#
	#	��
�	� "��	�� ���
� ����
�� ��,������
{
θt
}
t≥0

���
{
bt
}
t≥0

��� "� ���� �� �	�� ��


��
� &- #	��
�
(
xt, rt

)
��� "� �	��� !�� 
�� �
�
�
�	�� ����� ��� ������

����������� 	
�
 ��� (x∗, r∗) �� � ���� 	
��� 

 ��� ��
�� ��
 �������
�� ����� ��� �����



� θt = θ� bt = b ����� k ∈ [K]� ���� x∗ �� � ������� 

 �
�� 
�����
� �� ��� 	�
����

���+� 

�

λ = θ (1− b) .

��


� �
	� �,��
�	� ����� �� ��
 
�� &-�� #	��
 �	���
�	�

x∗
k + θkvk = x∗

k +AT
k r

∗
k,

�	
 vk ∈ R
n ���� 
��
vk �� � ��"��
�����
 	� 
�� �1��	
� �
 x∗

k� �����

vk,i =

⎧⎪⎪⎨
⎪⎪⎩
sign

(
x∗k,i

)
if x∗

i �= 0

c ∈ [−1,+1] otherwise

.

�
	� �,��
�	� ����� �� ��
 (1− b) r∗k = yk −Akx
∗
k� )�"�
�
�
��� �� 
�� �"	!� �,��
�	��

�� ��!�

θ (1− b)vk = AT
k (yk −Akx

∗
k) . ���.�
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���� ��� ��	�
��	�
 ����
�
�� �� ������� ����� �	� �� ��
���� 	�

K∑
k=1

AT
k (yk −Akx

∗
k) =

∂
∑n

i=1 λ ‖x·,i‖2
∂x

= λ

K∑
k=1

vk. ������

����
��� ��� �������
�� �
�� ��� ����	�� �	��
�� �
����� 	����
���� ����
�� 	�� �
��

��
�
 ����� 	�� ������ �� ���

θ (1− b) = λ,

��
�� 
� 	��� ���  !�� ����
�
�� �� ��� "#$ 	����
����

����� ����� 	
����
��� ����
 �� K → ∞

%� &�'( ��� �	���
�� �
�
� �� ����� )	��� ������� 
� ����� 	� ��� ������ �� ����*�K → ∞�

+
�
�	� ������� ��� ���������� ����
�� ����* ��	��� �
��	�� 	�� 	��� �
,�� 
� &-./ 0�(� 1�

	�� 
��������� 
� ��� ��	�� ��	��
�
�� �
�
� 	� K → ∞ �� 	���

�� "#$ 	����
��� �� ���

����������� 2�+ �������� 3���� �� �
�� ���� ��� ���
,	�
�� 	�� ����	�� ��� ���	
���

�������
�� �� ��� ������	�* ������� 
� &-./ 0�(� 4�� ��	�� ��	��
�
��� �� ���	
��� 
�

��
� ����
�� ���� ��� �� �� ��� �	�� 	� ��� ����� )	��� �
�
� 	�� ��	,� �	��� �	� ��

��� 
�����	�
�� �������
�	� �
�
�� 4�
� ������ �������� ��� ���
,	�
�� ��� �� �� ����
 ���

������������� �	�� 
� ��� ��!� ����
��/ 
���/ ���,���
 	����	�
�� �	���
�� �	�� ��� ��� �
��	�

����*�� 1� �
�� ���� ��	� 
� 
� 	 ����
��� �	
 �� �,������ ��� �	��

1� ������	�� ��� ��	� 
� ��
� ����
�� 
��� ��� ������
�� ������
�
���

����������� 	
�
 �������� �	�
�� ��
�� �� ���.�� ��
�� 
�� ������� �� MK (ε, α) ��

�3�.�� ��� ��
 δ = m
n � ����� m = m1 = m2 = ... = mK � ���
��� ������ 
���� �� ��

����
�
� ������ ����� w = 0� �� ���� 
��
 �� K → ∞� 
�� �������� ��
� δ �� ����� �������

�	

δ = 1− α2

K
, ������


� ����� �� 	��
�,� ��� 	����	�� �����������
���

4�� ����� �� ��
� ������
�
�� 
� �
,�� 
� "�����
! 3�.� 5��� ��� 	��,� �������/ �� ���

��	� ���� K → ∞/ ��� ��	�� ��	��
�
�� ���,� ������� �� ,	��� α√
K
� 4�������� �� �	�
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�����	 
��
 ����	 ����������� �� ��� ���� �	��� ��������	 ����� �����	 ���������	� ��������
��	 �	 ������ ���� ��������! �� ���"#$��

���� ��	 ��	��	�� �� ρ− δ  ���	 �� �����	 %
��&�

�	 ���'�	� ���	� �� ��	  ����� ��	��( �� )		�"����!��  ��	�  �� �	 	!���(	� ��

�	�	�!��	 ��( ������ x ���� �������( ε �� %
��& ��� ��( δ ��� ��( ε ≤ δ
2 �� ���(��!��� ��!	

�� ��	 !	����	!	�� !����* ��  ���	� ������!�( �� �����! ���! � ���	� ������������� +� ��

	��( �� �		 ���� ρ  �� ��� �	 ��	��	� ���� 1
2 �� �	 ���� x �� �	 ���'�	�( �	 ��	����	� ��	

 �!��	*��( �� ��������!� ���! ,-�. ��/ �� ������( O
(
n3K3

)
� +� ��	 !	����	!	�� !����*

�� �	����	� ���	� �� ��	 �	 ���'�	� �	���	� �� ��	  �����0�	 �����  ���	��� ��	� ��	

 �!��	*��( �� �	 ��	���� x  �� �	 �	 �	��	� �� O (nK) %�		 ,���/ ��� �	�	�	� 	� ��	�	��&�

1��	�	�. ��	�	 ��������!� ������( �� ��� ����� ��	 ��!����� ���	 δ �� �	�  ���	 �� 1
2 � +� ��	

��� �	������ %
��& ��	 !	����	!	�� !����* A �� �	����	� �� �	 � ��� 2 �������� !����*

��� ��	 ��	��	�� �� ����� ����� �� ,-�. ��/ �� � ��	�	�� ��	 �	������� ����	 �����������

��!�� ���� ��	 ��	� ���	� �� ,-�. ��/ ��� ,34/ ���  �!��	*��( �� �	 ��	���� x �� O
(
n2K2

)
��� � ����	����!� ��	 �	� �!��2��
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�� ���
�� ����� "#��$ ��� 
����� 
�� ���� ���	���
��� ��  �	
��� "#�%$� ���� ������

���� �� ����� ��
���������� 	���� ����� ��&����
 ������� ��� 	����	
 ��&����
 ������ �


����������
� ��� ���'�	
 
� ��&����
 ����� �����( ���� �� ������ mk �= ml( ∀k, l ∈ [K]�

)����� 
�� �*��� ������	� 	���
����
 �� "#��$ ��� ����� 
�� ������	� ����� ��&����


����� 
�� ����� ������
�� +�
� 
��
 ���� �� �� ��
 ���� ����� ���
����
��� �� x( �� ���

��,�� Λ = diag (σ1, ..., σK) ��� ��������� 
�� ����� ������	� �� ��� ������
�� �����
���

�� ��� �
��� ,�� 
� �
����� "#�#$ �-	��
 
�� ����
 �� �����	�� �� Λ−1y� .������ �	����� ��	�


�� ��
��
 �� Λ( �� �	
����� ��
��� �� ��
���
� x̂ �� ����� 
�� 
�������� 
��	
���

x̂ = η
(
y; Λ−1, α

)

=

⎧⎪⎪⎨
⎪⎪⎩
‖Λ−1y‖−α

‖Λ−1y‖ y if
∥∥Λ−1y

∥∥ > α

0 otherwise

�
(
1− α

‖Λ−1y‖2

)
+

. "#��%$

/� ��
�������� 
�� ������
�� α( �� �
��� 	������� 
�� ����
 
�������� ���
����
��� "#�0$

��� ������ �� ���
����	 ����������
�	 	����	
����
�	 �� x� ��� ����� ����� � !

M#
K = E

{∥∥η (X +W ; Λ−1, α
)−X

∥∥2
2

}

= (1− ε)

K∑
k=1

1

K
E

⎧⎪⎨
⎪⎩
⎛
⎝
√√√√ K∑

l=1

σ−2
l W 2

l − α

⎞
⎠

2

+

⎫⎪⎬
⎪⎭σ2

k

+ εα2
E

{ ∑K
k=1X

2
k∑K

k=1 σ
−2
k X2

k

}
+ ε

K∑
k=1

σ2
k,

����� � �����	
 ��� 
� ����� �� �������� ���� � ����� �����	�� �� ���� �
 ���� ����
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��� ���	
� �� σk
� ����	
 ��� ��������	�� ��	�� ��� ����� �	�����	� �������� ���� 	��

���� ��� ��� ������
�	���� ����� ��� ������� ��������� α 	���� �� �� ������� �������	
 �	

���� ��������	� ���� α ����������	� ��� ��� 	�������� ������  ���� ���� � ���� ��������� ��

������� ��� ����� ���������� �� �������	�	
 ��� ����� ��������	 �	 ����

��� �������	���	�� ������� ��	 �� ������� ��  � � ���� ���� ��� !���� ���� ��	�����

�� � ���� ��	��	��	� �	�� �����"�����  � ������ ��� #��	�����$%������	 �����&

pX·,i (x·,i; ε,0,ΣX) = (1− ε) δx·,i=0 + εfG (x·,i;0,ΣX) , '(��)*

 ����

fG (·;μ,Σ) = |2πΣ|− 1
2 exp

(
−1

2
(x− μ)T Σ−1 (x− μ)

)
, '(���*

 ���� δx=0 ��	���� ��� +���� ����� �� x = 0� �	� fG (x; 0,ΣX) �� ��� %������	 ��	����

��	����	  ��� ,��� ���	 �	� �������	�� �����- ΣX � .���� ��� ���������� �	 ΣX ���

�	�������� ������
�	������� .� ���� �	 ���� �������  � �	�� �	����� ������  ��� ������$


�	���� 	������ ��	��  � 	��� ���� ��� ��������	�� �	������  ��� ��
��� ����	� �	 ���

��
	��$��$	���� ������ ��� ��
	�� �	��
� ��	 �� 	��������� �� �����	
 ΣX = I� �	� �����	

��� ��
	��$��$	���� ����� �	���	
�� �� ��/����	
 ��� 	���� �����	�� σ2
k
�� 0� ��	 �� ����"��

���� ��� ������ ������ �	� ����� ��/�����	� ���� �	�$��$�	� ��	��� ��������	��	��� 1�

���� 	��� ���� ��� ����������� ������	
 ���� � ���� ������������� ��������� ���	 �	 ��� 2��

���� 3 ������	
� #������ ��� �����	 ������ �������� �	� ��� ������ ���� ��� 	�	,���

�����	�	�� ���� x·,i ��� ����������� ����� ΣX �� 	�� ���
�	��� 0	 ��� ���� �� ���� ��������

 �  ��� "����� ����� �	 '(��)* �	� �����	� ������� ������� �� ��� ���� ΣX = I� ���	  �

������� ���	� ���� ������ �� ������� ��� ����  ��	 ΣX �= I�

��� ������ ��	
 ����
	�	 ��� �
�
���
�
��	 ���
�

4�� ����������	�� ��	��	��	���  � ��"	�

Rk =
1

1 + σ2
k

, '(��(*

 ���� �� �	 �	�������� ��	����	 �� ��� �56 �� ��� k$�� ��	����
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������� ��	 ��� ������� �
 ������
� ��� ���	

�
��
���� �� xk� ������� �� x̂k = gk
(
y;σ2

)
� �
 ����� �� ��� ����������� �����������

x̂k = gk
(
y;σ2

)
= E [Xk|Y = y] =

ˆ
xk · pX|Y (x|y) dx

=
1

1 + 1−ε
ε

∏



1√
1−R�

exp
(
− R�

2σ2
�
y2


)Rkyk, ���� !

����� ��� ��������
´

������
 
"���������� �������� ���� ��
���� �� x1, x2, ..., xk �� �����


"�����
 RK � ��� �

������� ��	 �
 ���� ����� ��

Mk,K = E

[(
X̂k −Xk

)2 |Y = y

]

= ε (1−Rk · Ik,K) , ����#!

����� R = [R1, R2, · · · , RK ]T �

Ik,K =

ˆ ∏
l fG (xl; 0, 1)

1 + 1−ε
ε

∏
l

1√
1−Rl

exp
(
− Rl

1−Rl

x2
l
2

)x2kdx, ����$!

��� ��� 
"�
����� K �� Mk,K ��� Ik,K �
 ������"��� �� �
���
�
� ���� ��� �����
�������

���"� ������
 �� ��� ��� K ��
������
 �� ��� R �������

%� �
 ����� ����� ���� ��� ��	 ������
���� �� ��� k&�� 
��
�� �
 �'����� �� ��� �()


�� ����� 
��
��
� *� ���� 
�� �� +�

� ��� ���� �� 
����,�
 ��� �
����
- ��� � ����� 
��
��

k� ��� ������ ��� �()
 �� ����� 
��
��
 ���� ��� 

����� ��	 ���� ������ ������
����! ���
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�� k ���
� ���
 �
 ���"������� ������� ��� ������"��� �� ��� ����. 
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��"��"���

%� ��������� �� ����"�� ���� 
�
� ������
 ���� ��� ��/"���� ��� ��� ��� ��
�������

�
���
�������� �����
�� �� ��� ���� 
������� 0�,��

g′k
(
y;σ2

)
:=

∂

∂yk
gk
(
y;σ2

)
=

∂

∂yk
E [Xk|Y = y] . ����1!
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�� ��� 	
 �
�
�
� ����

g′k
(
y;σ2

)
=

gk
(
y;σ2

)
yk

+
g2k
(
y;σ2

)
σ2
k

· 1− ε

ε

∏
l

1√
1−Rl

exp

(
− Rl

2σ2
l

y2l

)
. ������

�����
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 ���� ����
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�
��� ���
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�
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�
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�
 �$ ��
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 �
�
��� ���
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�� ��
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�
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	�
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�
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���� ��� 
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 �
����
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�
���
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� -. / ��
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�
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�
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�
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�
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�
�
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�
�
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�
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	�
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 �
�� �1���
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 �
,

�
�
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� �� � �
�
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��� *
�
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���� �
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 �
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�
�
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�
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3
������
,*����
�� �
���
	��
�� pX
(
x; ε, 0, σ2

g → ∞) "����
�� �� � 3
������
,0�
$��� �
�,

��
	��
��� 4�
 %%&' �
��
�
� 	��
� �"�� ���� ��� 	
 ����
�
�
� �� �� ���
����
�
 ��

��$�,���
�����
�� $����
��� 
� ��
 ��
���
� ���� ��
 �"���
 �
���� �
���
	��
�� 
� ��2�����

����� �����	
 �	��� 
�� ������	���� ����
���	����

!� Mk,K 
� ����5� 
�����
� K,���
��
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������ ��
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������
�� 	
���
� ����,

�
��
�� ��
� K �
�� ����
� 6
�
 �
 �
����� ��� �"
�
�� ���
� ��
�
 ��
 ���"����
��� ���
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� ���� ��� ��
 ��
�
 ���
���
� σ2
k8� ��
 
�
��
��� 
#�
"� ��
� 9
�����

���� �$ �
�
���
�� �
 �����
 σ2
1 �= σ2

2 = σ2
3 = ... = σ2

K � ��� � �#
� ����
 z ��� ����
�
� ���

�
�
� x2, ..., xK ���
��
√∑K

k=2 x
2
k = z ∈ R

+� �
 ��� ��
 ���
�	�
 ��	��
���
�� �� ��������


����.� ��� ����
1�
���� ��
 K − 1 ����
"�
 
��
���� �$ x2, ..., xK 
� �
"���
� 	� � �
�"�
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���� �$ � )�
 �
���
	��
�� �$ ���
�	�
 z:
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����
��
�� ��� ��������
� ����������� �� ��� ���

I1,K =

ˆ
fG (x1; 0, 1) fχ (z; 1,K − 1)x2

1

1 + 1−ε
ε
∏

l �=1

√
Rl

fG (x1; 0, 1) fχ

(
z; 1−Rl

Rl
,K − 1

)dx1dz, ������

I2,K =

ˆ
fG (x1; 0, 1) fχ (z; 1,K − 1) z2

K−1

1 + 1−ε
ε
∏

l �=1

√
Rl

fG (x1; 0, 1) fχ

(
z; 1−Rl

Rl
,K − 1

)dx1dz, ������

����� l �= 1� Γ (·) 	
 ��� �
��
 �����	�� 
�� ������

fχ
(
z;σ2, k

)
=

21−
k
2 zk−1e−

z2

2σ2

σkΓ (k/2)
.
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��
�	���	�� �	�� �
�� 	� ��
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�
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� ��� �������	�
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 �� �����


��������� 
�
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 �
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	�� ������
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�
�

��� ����� 
���	
� �
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 ��� ����������
 �

�� 	���� 


��� 
�� ��� ��	
� �
�	
��� σ2
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	�� ��� 
	�	�
� �
�	
��� 
��
�	���	��� ��� 


���
√∑K
k=1 x

2
k = z� &� 
�� 
��� �� ����
�� ��� K ����	��� 	�����
� '(��#) �� ��� 	�����
� ��

*�	 �	
��	���	��+

Ik,K =

¨
fχ (z; 1,K) z2

1 + 1−ε
ε

∏
l

1√
Rl
fχ

(
z; 1−Rl

Rl
,K
)dz, '(�,-)

������ (�-� ��� �.������ /01 ��� �
�� 
	��
� ����� �������� �	�� 	����

	�� K+

lim
K→∞

Mk,K (τ ) = ε '(�,2)

��� ���
	��� ���	�
�	��
 �� ��� 
���� ��� 
���	
� �

�
 
�� �	��� 	� 3�����	. %�2�
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����
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�����

7� �
��	���
�� 
� ��� t8�� 	���
�	��� ��� x̃t = x+zt ����� zt ∈ R
n 	
 ��� ���	�
���� �
�

	
�



������� �	 
����
��
�� ��� ��������
� ����������� �� ��� ���

�����	 
������� 
 ����� �� ��� ����
� ���������� x·,i = [x1,i, x2,i, · · · , xK,i]
T 	 ����

x̃t
·,i = x·,i + zt

·,i. ��	���

�� ��� ���������� �� ��� ����� z 
�� ����������� 
�� ��� ��
������� 
�� ����� ������ 
��

���� 
�������� �� ��� ��
�� � ������� 
�
�!����" ���� ��� ����� ��	��� ��������� ���� ���

������������� ��
�
� �
�� �����	 ��� ##$% �����
��� ��	�&� �
� �� 
������ 
�� ��� #$%

�� ��� �����
�� �
� �� ��������  �
 ��	�'�	 ��� �
! �� ������� x̃t �
� ���� �� �� (�)*


�� �� ���
���� �� +�������� �	�	

�� �������� ��� 
�������� ������" ��� ����� �� ��
�
������� ��� ��
������� �� ��� �,�� 
-

���� ����� zt	 ���� �
� �� 
���� �� �! ��� ��
�� � ������� 
�
�!��� �� ��� ��.� ������� �����

����
�� ����������	 $����/�
��!" ��� �,�� 
���� �����  ������ zt
k0�" ∀k ∈ [K]" 
�� �����������


�� 
����.��
��� 1
����
� ����������� ���� ������������ N (
0, τ tkI

)
" ∀k ∈ [K]" ����� ���

 
��
��� τ tk �
� �� �������� �� �������� �
!�	 2�� τ t−1 =
[
τ t−1
1 , τ t−1

2 , · · · , τ t−1
K

]T ∈ R
K

����
�� ��� �,�� 
���� �����  
��
���� ���� ��� (t− 1)-�� ����
����	 
������ Rt−1 =[
Rt−1

1 , Rt−1
2 , · · · , Rt−1

K

]T ∈ [0, 1]K �! ������������ τ t−1
k ���� ��	���	 ��� #$% 
� ���

(t− 1)-�� �������������� �� �� �� �! M t−1 =
[
M t−1

1,K ,M t−1
2,K , · · · ,M t−1

K,K

]
����� M t−1

k,K �
�

�� ��������  �
 ��	�'�	 ����

τ tk = M t−1
k,K/

(mk

n

)
+ σ2

k, ∀k ∈ [K] .

3��� ��" ��� ������
���� �� M t−1
k,K �� �� �� �������� ������
����� ����� �
! �� ������
-

����
� ��
��������	 2����-������.��! 
�����
�� �� 
�� ������	

4�� �
! �� �������! ��� ������
���� �� τ tk �� 
� �������	 5��
�� ��� ��/������� ��

gk (·; ·) ∈ R 
�� g′k (·; ·) ∈ R �� ��	�&� 
�� ��	�6� �������� ��!	 7�� 
 �� �� x̃ ∈ R
Kn 
��

τ ∈ R
K " ���� ������ 
���� �� ���
�����" ��/��

gk (x̃; τ ) = [gk (x̃·,1; τ ) , gk (x̃·,2; τ ) , · · · , gk (x̃·,n; τ )]T ∈ R
n,
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�� ��� ��	
� ��
�
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�	�
 ����� �
 ��� ����� � ���������


����� y� A� ε� σ2
g � �
� σ2 =

[
σ2
1, · · · , σ2

K

]
�


��������������
x0 = 0� r0 = y� x̃0 = x0 +ATr0� τ0k = εσ2

g/
(
mk
n

)
+ σ2

k, ∀k ∈ [K]�

���������  �� t = 1, 2, · · · � �
�	! ��� ���� 
�	���	� ��� "���

xt
k = gk

(
x̃t−1; τ t−1

)
, ∀k ∈ [K] . �#�$%�

utk =
1

mk

〈
g′k
(
x̃t−1; τ t−1

)〉
, ∀k ∈ [K] . �#�$&�

τ tk = utk + σ2
k, ∀k ∈ [K] . �#�$'�

rtk = yk −Akx
t
k + ukr

t−1
k , ∀k ∈ [K] . �#�$��

x̃t
k = xt

k +AT
k r

t
k, ∀k ∈ [K] . �#�(��

�
� �	"	!��!� ��)
� g′k (x̃; τ ) ∈ R
n� ���
 ��	
� �*'+,�  �""� $�� -� ��.�

τ tk =
n

mk
E

{∥∥∥x̃t−1
·,k − x·,k

∥∥∥2
2
|gk (x̃·,k; τ )

}
+ σ2

k

� τ t−1
k

mk

〈
g′k
(
x̃t−1; τ t−1

)〉
+ σ2

k,

-���� 〈g′k (x̃; τ )〉 ��"� �� �!! ��� �!�"�
�� 	
 g′k (x̃; τ ) ∈ R
n� �
 ��	� -��� ��� 
�"�����	�
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����� y� A� ε� σ2
g � σ2 =

[
σ2
1, · · · , σ2

K

]
�	� ���	
 ����
� 
�����	�� ε�


��������������
x0 = 0� r0 = y� x̃0 = x0 +ATr0� τ0k = εσ2

g/
(
mk
n

)
+ σ2

k, ∀k ∈ [K] 
!�	� mj = max (m1, ..., mK)�


��������� "�
 t = 1, 2, · · · �
#�
 J =

{
[K] , if τ t+1

j − τ tj < ε;

{j} , otherwise.

xt
k = gk

(
x̃t−1; τ t−1

)
, ∀k ∈ J .

utk =
1

mk

〈
g′k
(
x̃t−1; τ t−1

)〉
, ∀k ∈ J .

τ tk = utk + σ2
k, ∀k ∈ J .

rtk = yk −Akx
t
k + ukr

t−1
k , ∀k ∈ J .

x̃t
k = xt

k +AT
k r

t
k, ∀k ∈ J .

����
�	� 
�� 
��	��
 l �= k� τk ������
�
 �
 $���� ���
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������� �	 
����
��
�� ��� ��������
� ����������� �� ��� ���

�� � ����	 ε
 �	 ��
 ��� �
������ �� ��� ��� ���� ��	����� ������ ���� �� ���� ��������

���	��� ���
�	� ���	����� �����
� �� ��� �������	�� �	��
�����	
 ��
� ��	�
������ �� ��	���

���� �	��
�����	 �	�� ��� ��	����
 ��
 ��� �������
  ������	� ������
 �
�����
� �� ��	 �����

��� ��� ����� ��������	 ����	�!�� �� �
��� ��� �!������	� 	���� �	 ���� ���	�� �����


�	 ���� ������	 �� ������ ��� ���
���� �	 "#$% �� ��������	� ��� ��� �	������ �	 ���

���������� 
������ �
�
� ����	 mk �	� n ��&	�� �	 '(
�)� �� ������ mk, n → ∞ ����

mk/n → δk ���
� δk �� � ��	���	� ∀k ∈ [K]� �	� ��� �����
���	� ���
���� Ai*� �
�

��	�
���� �
�� ��� ���	��
� +������	 
�	��� ���
�� �	������
 ,� ���� ��� ���	 
������

���� ������	���	� �����	����	� �� ��� 
������	 �� ��� 
���	��
�����	 ����
����� ����� �����

����
 
���
��� �
��� �� ��� ����	�����


����� ��������	 �� ����� ���	 ��� �!������	� ���	�� ����� �����&�� �	 '(
-()� ����� ��	

�� 
�.�
����	 �	 ��� �������	� ��
�

x̃t
k = xk + zt

k, '(
#�)

���
� zt
k �
� ��� �!������	� ����� +������	 	���� N (

0, τ tkI
)
�	�� ���� � ������ ����� ��

	������	�� τ tk ��	 �� ��&	�� ��

τ tk =
1

n

∥∥x̃t
k − xk

∥∥2
2
. '(
#-)

 �
���
��
�� ��� �� ��� �	����	��	�� ���	� Ak*�� �� ��	 �� �
���� ���� z
t
k �	� zt

l �
�

�	����	��	� ��
 1 ≤ k �= l ≤ K
 /����� ��� ����� ��
 ��� �����
 ����
 �� ��	 �� ����	 ����

��� ����� τ tk ��	 �� �����	�� ��� �����
 ���� �	������0

τ tk → 1

δk
E

{(
gk
(
x+ zt−1; τ t−1

)− xk
)2}

+ σ2
k

=
M t−1

k,K

δk
+ σ2

k '(
##)

������ ��
���� ���
� ��� ��	��
��	�� ����� �� gk (·) �� 1������2 ��	��	���� "3� 4���
�� �%�

zt−1 ∈ R
K � �	� zt−1 ∼ N (

0, diag
(· · · , τ t−1

k , · · · ))
 5��� ���� M t−1
k,K �� � ��	����	 �� τ t−1


6!�����	 '(
##) ����� ��� ����� ��������	 �� ��� �!������	� 	���� ��
��	��
 4�� ��������

�
�����
� ��
 ����� ��������	 �� �
���	��� �	 7���
���� (
#
 �� �� ��
�� ���	��	� ��� ����
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�� ��� ��������
� ����������� �� ��� ���

��������	 
�� ��� ����� 	
��
���� �� ����� ����


����� δ = [δ1, ..., δK ]� ε� σ2
g � ��� σ2 =

[
σ2
1, · · · , σ2

K

]
�


��������������

τ0k = εσ2
g/δk + σ2

k, ∀k ∈ [K]�

��������� ��� t = 1, 2, · · · � 
���� ��� ���� �������� ��� ����

• τ t+1
k = M t

k,K/δk + σ2
k, ∀k ∈ [K]�

• ����
�� M t+1
k,K 
��  !��"#� ∀k ∈ [K]�

��� ���
�� �� �$
�
����� �� %���� ��� ��� �
� &�� ������ ���
���� ���� ��� ��'���� ��

��� ���� �������� �� ���� '��
� ��� '�������� 
�� � ���� ������(
���� ��� ��� �
�(�� ��

����
������ �� ���� '��
� �� �$
���

)� ��� ��*������� ����*���� ��� �+��� ����
��* �� xk �� ��,��� �� ��� ���� -����

limt→∞τ tk = 0 �� �$
�
������* limt→∞M t
k,K = 0� .��� ���� M t−1

k,K �� � �
������ �� τ t−1�

-���� 
��
�� ��� (� ����
��� ���� τ t−2 ��� ������ �� ��� 
��
�� �� δl/�� l �= k� ���������

-� ��� ��,�� ��� �����-��'�

��������� 
��� ��� ����� ���������� �� ������(�� (* ��� 
����� δ∗ = [· · · , δ∗k, · · · ]T �
��

���� �+��� ��������
����� �� '
�������� �� δ ≥ δ∗  ����� �������0-����*#� ��� �+��� �����0

���
����� �� �������(�� �� ����� �+���� k ���� δk < δ∗k ��� δl = δ∗l , ∀l �= k�

��		� 
�
� ��� ����� 1 ≤ k �= l ≤ K	 
���
� ��
� Rk, R
 ∈ (0, 1) �Rk := 1
1+τk

� ��

�����
������ 0 < τk, τl < ∞� �� ����� ��
�

∂Mk,K

∂Rl
< 0, �� �����
������

∂Mk,K

∂τl
> 0.  !�12#

�� 
 ������ �����������	

Mk,K (τl < ∞) < Mk,K (τl = ∞) ,

����� ����� ��� ������ �� ����� ���������������

3���' ���� ������ �� -���� ��� ����� �� '�
�� �� �������+ �� -� ���,�� ��� �+�������

�� δ �� '
������� �+��� ����
��* �� �����-�� �������� � ���
��� �
4����� ��������� ��� ���

�+��� ����
��* �� xk�

τ tk = M t−1
k,K/δk < τ t−1

k , ∀t ∈ N
+,  !�1!#
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� t ��
����
�� ��� ��� tth ��������
� ����� ��� �
� ������ ���� ���� ������

���������
 �� ��� ��	� ���
�� xl ������ �������
∥∥xt

l − xl

∥∥2
2
� l �= k� ���	���� ������� ��
��	�

���
��
� ���� δk ��� ���	���� ����
���	����
 �
 xk� ��� �������
� 
��
������
 ������ ����

Mk,K/τk �� 	
������� 	

�� ��	
��� ��� τk ∈ R
+� �� ��
 �� ���
 ���� ������ ���� ���

���
��
� ���� δk � !��
��� ������ ��� �	����� �
� ��� ��
"����
�� ���� �� ��� ����
���	����
�

#� ���� 	
���� ��� �
������ ���	
� ������� ���
 ���� ���� ��� 
���� ���
�����
� �� !��
�

$%& ��
 �� 
	��������� �������
�� �
 ��� ���� �� ��� �������
� �����"���� 
��
������
��

����������� 	
�
 ��� � ����	 k ∈ [K]
 �� �

 τl
 l �= k� ���	 ��� ��	����	 Mk,K/Rk ��

��	��	���� �	� ������ � �������� ��� ���� �� ���� ��� Mk,K/τk�

���� 
��
������
 �� ���� �� �� "���'�� �� ����(�
� ��� ������ limRk→0Mk,K/Rk = 0�

limRk→∞Mk,K/Rk = ε > 0 �
� limRk→∞∂Mk,K/∂Rk = +∞� ���� 
��
������
� �����
��

���� ����� �
������
� ��� �������
� �
� �� �������
� ����� ��	
�� �� δk � ���� �	���
���

��� �)��� ����"����

����������� 	
�
 ��� δ1, δ2..., δK ≥ ε� ��	����� ��� �������� ���	 ������� ����� Mk,K ��

� ��	����	 �� δk �	� τk� ����� �������� �� x �� �����	���� �� ��� �	� ����	 τ ∈ (0,+∞)K 


����� �
���� ������ �	� Mk,K 
 k ∈ [K]
 ���� ����

Mk,K

τk
< δk. ����*�

�� � ����� ��
���
�
� ���� ��� �
� ��"�
 τ � ����� ��� K �	�
������
Mk,K

τk
� k = 1, 2...,K�

&��
������
 ���+� �
�� 
���� �
� �� ��� K �
��	������� ���� �
� �� ����
 � ��"� �� �� ����

��� ���� k ��� ��,���
� τ  �� ���� ���
�� ��
�'� �� $%& 	
����� ��
�� �
 ���� ��������
 ���

��	�"���
� 
���� "����� τ t ���
��� ��������� ��� �� ���� ��������
 �� �
�� 
��� ��� 	
��


��
�����
 ∪K
k=1

(
Mk,K

δk
< τk

)
� ����� �� ���� -�)���� ���
 �
� �� ��� ��
�����


Mk,K

δk
< τk�

$
 �
�	���"� �)
��
����
 ����
� &��
������
 ��+ �� ����� ����� ���� ��������
� �� ��
 ������

'
� �
� τk �
 τ �� ���	���� .����� ����� ���� ����� ����� ���� ������� τk ���� ��������

Ml,K � k �= l� ��������� ��� ����� τ ���	���� ���� ���
������
 ���� ������
 ��� ���
��� ��

��� (�� �� ����) ��� ���	�����
� ��� ���	���� ����
���	����
� ����� ��� ����� ��	
�� ��� ���

���
��
� ����� ���� �������� ���
���� �� �
��"��	�� ������
� ��������� �
 
�������� ��"�


���
��
� ����� δk �� �� ��
 ������������� �������
� ���� ������� ��� !��
� ����
���	����




������� �	 
����
��
�� ��� ��������
� ����������� �� ��� ���

�� ���������	 
�� ����
��� ��� ���
������� �� ��� ��		����� �������� ��� �	������� ����

��� ���� �� ������ �������� ��
�� �� �	������� ��� ! ��������� ��� ����	�������	�

������ �		 ��� �����	� �� ����	 ��� ! "�� 
��� ������ ��� �����	 ��� ��	� ������ ��� ����

���� ���������� #� ����� ��� ����������� �� xl �=k$� �� ��� ��������
� ������������ �����

��������� �� %���� ��� ��� ��
� ��&���� ��� ���������� "���� ��� �������������� �����	

xk� '����� ��� ����� ���������� ������� �� ��� �() ���������	 �������������� ����� �� ���

����
 ��� ������ �� τk "������ ��� ���������� �� ������ ������� ��� xl �=k$� ����� �� "�

������� �� ��� ��*� ���������� �� τk �� 	���� "�� ��� ������ �������� �� ��� 	��� ���������

�� 
��� ���		� �� ����� ���� ��� ����� ���������� ��������� "� ��� ������� ��������� xl �=k

�� ��� ���� ������� ��������� �� ������ �� ����� ��������� �� ������� ���� ��������� 	�����

�� �	������� ��� !� ��� ��� ���� ����� ���������� ����������� �� �	������� ����! "��

�����
�� ������ �������������� ������ � ����	����� ���������� �� ��
�� �� ��� ��*� �������

�� ��� ��� �����	 �����
�������

�� ��� �*����� ���� �� ��� ��
� τl → 0 �� �+��
�	���	� Rl → 1� ���� Ik,K → 0�

����� Mk,K → ε� �� ����� ���� �� �� �������� �������������� �� �����	 xl �� �"������ ����

,���� �	������� ��		 ���
� ��� ��������������� �� xk� k �= l� �� "� �������� ���� ��+������

����	��� ����� δk ≥ ε� ���� �� �������
�	� ������� ����� �		 ��� xk$� ����� ��� ���� ��������

�� �������� �������������� �� xl "����� ��� ���� �������� ���� ��� �������������� �� ���

���� xk$� ��� ,��� �������� 	���� �+����� ���"	����

��� ��		����� ����		��� �� ����
���� "� ��� )���������� � ����� ��������� ��� ��������

�������������� �� x� -��� %���� ���� ��� τj > τ
′
j ��� τ∗k = arg max

τk

(
Mk,K

τk

)
|τ ′j � j �= k�

��� ��		����� ���+��	��� ��	��

Mk,K

τ∗k
|
τ
′
j
<

Mk,K

τ∗k
|τj < max

τk

(
Mk,K

τk

)
|τj . ����.!

/��"��� ����.!� %���� ��� ��� )���������� ��0� �� ��� ������ ��� k ∈ [K]� ��*�����

Mk,K

τk
��� ������1� ��� ����

Ml,K

τl
$�� l �= k �� 2�� ��� �
���		 ������	 ����	��� ����� ���

���"	�� �� �������� ���� ����	 ����	��� ���� δ =
∑K

k=1 �� 	����� �� /���		��� ��3�

��������� ��	� ���������� ��	 
�	�
�� �
������ �
�	 δ ����� ��
�
��		� 
����
�	 �	�
�	��
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δ = min
τ2,...,τk

(
max
τ1

(
M1,K

τ1

)
+

K∑
k=2

Mk,K

τk

)
������

s.t.
Mk,K

τk
≥ ε, ∀k ∈ [K] .
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 �� ��		���� 
�� �
��
��� τj � �	
� max
τk

(
Mk,K

τk

)
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Mk,K

τk

�� �	�	
	��
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� τj �=k� 
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Mj,K

τj
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�� ���&&�� �� �
�� ��
������� �'�

�	� �	� 
��� !�	����( ����� ���!�� �	������ ����
�	�

f1(τj) = max
τ1

(
M1,K

τ1

)

�� f2(τj) =

∑K
k=2

Mk,K

τk
� ����� f1 ��!�����
� 
�� �
�!���� �

� �	�


�� $��
 ����
�� 
�� f2 ��!�����
� 
�� ���
 	� 
�� ����
��� i �= 1� ���� δmin 
���
� �����


�� �'�

�	� (K − 1) · ∂f1/∂τj + ∂f2/∂τj = 0 �	����

)� *����� ��+� �� �	�!
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�� ,�� 	� �����
� ���	���� �
�
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�
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�� ����� ����������� ��� ���� K = 2 ����� ����� ���� ���� ����� ��� ����

����� ����� �� ��� �������� � ����
 
�� �������! ����� ��� ε = 0.1
 
�� ����� �� ������"

�� #�����  �$%������� "���������"


δ
 = ε &����� �! ����������� ����������  ����' �� �  ��� ��� ������� � �= k ��"  �� δk ��

������ �� �  �� �� �(��� �������! &"�����" �� )������ ������* �� ��� +����'



�� ��������! �� �
 ����� ��� �� �������" ��� ���� ����� ����� "������������� ,���

�� �����"�� ���$� ��- ����� � ���� #�����  �$.������ pX1,X2 (x1, x2) = (1− ε) δ(0,0) +

ε
4UX1 (−1, 1) · UX2 (−1, 1)
 
��� �� "� �(��� ! ��� ���� "���������� ��� ��� ����� ������$

����� ��" ���� �� �� � ���� �� ����� &����� �� ������ 	
	' �� �� 	
�
 #���" �� ���� ����� ��

���������� ���� �� �� ��� ������� �� #�����  �$%������� "����������� ���� ���� ������  !� �

��(�" &"������������$����������' "����������� �����"��� ��� ����+� �� ���/�� �������$

���� �  �������
 � ������������ �� ���� ���������� ��  ��������  ! ����� "����� �������� 

�� �� �� �� ������ �  ���� ����� �� � ��- ������ ����� �


0� ������ 	
� �� ���� ���� ��� � ��- ������ ����� � ���� #�����  �$.������� �  �������

�� )������ ������* �� � �� ������ ���� �/�� �  ������� ��� �� ��� � ����� ������ ����� �

&K ≥ 2'
 1� +( ��� ��� �������! ����� δk = ε� k = 22K� K = 2, 3, 5, 10
 ����� �����������
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������ ����� ��� ��� � ��� ����������� ��� �� ����� �����
 "��� ����� �� ����� ���� !�����

�� ��� ��� ��� K = 2, 3, 5, 10
 ����� 
��������� #��$� ��� ������ !���% ���� �� ���� �������

�� !��� ����� ����� �
�
� K = 1


��� ����� �������� �� &������ ������' ��� � ��� ���������� ���� ��� �������� ���� �� �������

��������
 
�� ����������� ���� �� ����� �������� �� �������!�� ��� ��� ������� �����
 (�

��� ���� !��� ���� ���� ������ 	
� ���� !��� ����� ��� �� ������� �������� ���� ����� ���

����������� ����� ���� K → ∞


(� ��������� �� �� ����������� �� ����) ��� ���� ���� ��� ���*��� x·,i ∈ R
K �������� ���+

������� ����������� �
�
� ��� ����� �� ,	
�-. ���� � ���+�������� ��$������� �����/ Σ
 ���

���������)� ���) �������� ��� ���� K = 2
 0�1�� ��� ����������� ν := cov (X1,i, X2,i) /σ
2
g .


�� ������������� ����� �������� ��� ��������� ��� !� �!������ ��� ��� ���������� �


��� !�  �����1��
 ������ 	
2 ������� ��� �
 ���$�� ��� ��3����� ν �!������ ���� ���������

	
- ����� ��� ����$������ �� ����� Mk,K 4� ��� ����� �� �������/ 5
� ��� �������� !) ��+

��� ��������� ���������
 #��������� ���� ���������� ��� ���!��� �� ������������ �� �����

��� �/��� ����$��) ������� �� �������� �������) �� ν
 (� ��� �/����� ���� ���� ν = 1�

x1 = x2 ��� ��� �
 ���$� !������ � �������� ����
 
�� �����$��) �� ��� ���$�� ����

ν �= 1 ����� ���� !��� ���������� ��� ��� ������� ��� ����)� �� ��� ������ ������
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�� �� ��	 ��� �� �����	 �
� ��� ����� ������
�� ��  � !����"���


� ��� ���	
�� ��� �����������
�� #$% "�� 	
&����� ������ �
���� ����'��

����������� 	
�
 ����� �����	 
���	 ����� 
��� ��� �������� ���� ε� ��� ��
�	��� ���� δk�

��� ����� �������� σ2
k� ���� ��� ��������� ��	������
 ��� ��� �������������� � ! "��

�����	 #	��$ xk ��������� �� M t→∞
k,K � k ∈ [K]� 
����

lim
t→∞

M t
k,K

τ tk − σ2
k

= δk, and
∂M t

k,K

∂τ tk
< δk. ��� (�

!�� �
�
� �)���
�� 
� ��� (� 
� ������
���* ������� 
�* �" 
�
�
�� ��� ���������� �����

�" ���  �� �� ���� ���	 �� ������ ���� ����
Mt

k,K

τ tk−σ2
k
	����+� 	������� 

�� ��� ��	��� �" τ tk�

�����"��� ∂

(
Mt

k,K

τ tk−σ2
k

)
/∂τ tk < 0� 
�
�� �
��� ��� 
��)���
�* 
� ��� (�� , �����
��� 
�* �� -�	

��� ���������� #$% ��� �� ����
��	 "��� ,����
��� �� �

��� �����	
�� 
����

����� �����
�
��� ��� ���	 �� 	����
�� ��� ��	���*
�� ��
��
���� �" � ���������	 ����
��

�����������
�� �����
��� 
� ��� ��*�����
� ���
��� ,����� ���� 
� ���	�
�� ����� 	
���.

�
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��� �������� /� ��
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�� ���

��� �
�����
�� ����� ��� ���	���* ��������	 ����� ������ �
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�� �� ���� ���� 1− ε
1−ε(1− 7.3× 10−8) · (1− 2× 10−9
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�������� ������� ������� ������ ������� ���� ��� ����������� ������
 ����

��� ��� ������ ��� ����� �� ρ ������� δ
 n = 1000
 ���� ����� �� �������� ���� �  

�����!������


N
(
0, 1

mk

)

 ������ 	
� ����� ��� ��������� ��� ��� ��������� ����� ����������� ��� ���

���� ���������� �"#����
 $�� �%�������� �������� �� ������ �� (0.05, 0.95)
 ���� ������

"���& �������� n = 1000 ��������
 '�� ���������� ������ ��� ���� ����� �� �������� ����

�  �����������
 (� �� ����� ���� ��� ��������� ������� �� )���� �������� �������� ��

��� ��������� ����
 '�� ����������� ���� "������ #���� �������� �� *������ ������+ ���

��)������� �������� ���� ��� ����� ������� �� �����, ��-����� ���� ��� ����� ��������

δ < 0.7


(� ������ 	
. �� ������� ��� ����������� ���� "������ ��� #���� /01 ��� ��)�������

��������
 2� ��� ��� ������ �������, ���� ε = 0.33 4% δk = ε3 k = 2 ∼ K
 '�� ������ �� ����

������ "���& n = 200 ��� ��� ���"�� �� "���&� K = 2, 4, 8, 16
 ���� ���� �� �������� ",

5  �����
 '�� 4����� ��� ���� ����� �������������� ���� ������� ���"�� �� �����������

��� ������ "���&
 '�� ����� ������ ���� �� ��� ����� ������� ���� �� ��� ���� ����� ���

"����� ��� �����������
 6�������� ��� �������� �������� �� ���� ���� �� #���� �� ��)�������

��������3 �� ��� ��� ���� #���� �������� ����������� ��)������� �������� ��� ��� ����
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�����		 ���� ��� �	� ��� "#, 	����� ����� ���� ����� ��� -���� ./0

���������� $�� ��	���	 	��� ���� �� '
��� ��� ����� 	������� ������� �%��� ����
�����

	������� ��	�� �	 � ������� ����� ���� � 	����� 
���� ����������� $�� 1
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�� ��������	 f (D) =
∑
i
fi (Di)� 
� ����� f (D) 
� ���	
����� ���� D 
� �����
������� 
	

������ 	� ���� 	��	 ��� ��� i� fi (Di) 
� ���	
������

���� D 
� ��	 �
������� Di 
� �� ���� ������ ���� �
���� rank (Di) = |Ω (:, i)|� ���
	��������

(
DT

i Di

)−1
��
�	�� ������
�� 	� (2.6)�

fi (Di) =
∥∥∥Y:,i −Di

(
DT

i Di

)−1
DT

i Y:,i

∥∥∥2
2
.

 �	� 	��	 Di ��� DT
i ��� ���	
����� 
� Di� ��� ���
	
���� ���	
��
��	
��� ��� ���!
���
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����� ����	
��� ��� ���	
������ 
� ���� fi (Di) 
� ���	
������ 
	 
� ����
��	

	� ����� 	��	 	�� 
������ �����	�� A−1 
� ���	
����� 
� A ���� A 
� �� ���� �����

 �� �� ����� ���� 	�� ���	
��
	" �� 	�� 
������ �����	��� #���
��� 	�� ���� 	��	

�� ���" ������ 	�� (i, j)th ������	 �� A !" δ� 
�� �����	
�� ��	�
� ��� !� ��
		�� ��

A + δeie
T
j � ei ∈ R

d 
� � ������ ���	�� ����� 
	� ith ������	 
� ��� ��� ��� 	�� �	���

������	� ��� $����


�� �
%������ !�	���� A−1 ���
(
A+ δeie

T
j

)−1
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'�� !" ��
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A−1 − (A+ δeie
T
j

)−1

=A−1 −A−1 +A−1ei
(
δ−1 + eTj A

−1ei
)−1

eTj A
−1

=δA−1eie
T
j A

−1/
(
1 + δeTj A

−1ei
)
,

����� ��� �� ���� ��������	 ����� ���� δ → 0� ���� ������ ��� ���������	 �� ��� �������

�������� A−1� ����� ���  ��� ���� �� ��� ������������

!� "������ ���� ∃ i ���� ���� rank (Di) < |Ω (:, i)| ��� Y:,i /∈ span (Di)� #�$ ���� i� ��

 ��� ���� ���� ��� ���� ���������� i� fi (Di) �� ��� �����������

���� ��� ������ Y:,i /∈ span (Di) ������� fi (Di) > 0� %� ����� ��������� Di (ε) ����

���� Di (ε) → Di �� ε → 0� ��� fi (Di (ε)) = 0� "���� Di �� ��� �� ������ ���� ���&� ���

���'���� ����� ������������� �� Di ��� �� ������� �� Di =
r∑

j=1
λjujv

T
j � ����� r < |Ω (:, i)|�

(����� yr =
(
I −DiD

†
i

)
Y:,i� "���� Y:,i /∈ span (Di (ε))� yr �= 0� )�� ȳr = yr/ ‖yr‖2� %�

��������� Di (ε) = Di + εȳrv
T
⊥� ����� ��� ������ v⊥ �� �� ���� �2*���� ��� �����'���� ��

��� vj�� j ∈ [r]� +� �� ����� ���� Y:,i ∈ span (Di (ε)) ���� ε �= 0� ���� �� ����

⎧⎪⎪⎨
⎪⎪⎩
fi (Di (ε)) = 0, when ε �= 0

fi (Di (ε)) > 0, when ε = 0

,

��� Di (ε) → Di� ���� ������� ��� ������������	 �� ��� ������ �������� fi (Di)�

,�� ���� ���& �� ��� ������� ��������

f (D) = fi (Di) +
∑
j �=i

fj (Dj) .

+� �� ����� ����

span (Dj (0)) ⊆ lim
ε→0

span (Dj (ε)) .
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���� �� �	
� fj (Dj (ε)) ≤ fj (Dj (0)) �� 
�� �����
��� �� ������
����

lim
ε→0

f (D (ε)) = lim
ε→0

fi (Di (ε)) +
∑
j �=i

lim
ε→0

fj (Dj (ε))

≤ lim
ε→0

fi (Di (ε)) +
∑
j �=i

fj (Dj (0))

< fi (Di (0)) +
∑
j �=i

fj (Dj (0))

= f (D (0)) .

��� ������
����
� �� f (D) �� ����� ���
���

��� ������	� 
� �
� ������� 	� ����	
� ���

�������� �	 
�� 
�� ������
�� �� ���
��� �����

���� 	������� ��
	��� 
�� ���	
� ������	 (2.11) �� 
	��	��� εk ���� εk−1 ����� 
�� ���

��
��� 	
��� ��	�����!�

"���
 �� �� 
�� ���
���	�� D (εk−1) (2.9) 	�� ��� 
�� ��
��	� ���#����
 �	
���

X (εk−1)� $��	�� 
�� ���� �� f (D) �� (2.5)� ��� ���
 
�� ������� �� X (εk−1) ������

�� d1 	�� d2% 	�� 
�������� ���	�� ����	�&�� �����& 
�� ���	
�� '���� X (εk−1) �	� ��

���

�� 	�

X (εk−1) =

⎡
⎢⎢⎢⎢⎣

1 0 0 x1

0 1 0 x1

0 0 x2 x3

⎤
⎥⎥⎥⎥⎦ , ()��*

����� x1, x2, x3���� 
� �� �	����	
�� �� ���
��& 
�� ��	�
 �+�	��� ������� ��
��
�� ��

f (D)� ,�	 ���& ��
 �
�	�&�
����	�� 	�&���	% 
�� 	��
� ��	�
 �+�	��� ������� �	��� ���
��-

x1 = −
√

1− ε2k−1

εk−1
, x2 = 1.4

√
1− ε2k−1

2
− 0.2

εk−1√
2
, x3 =

√
2

εk−1
. �����

.�� �� �� 
�� ���	
�� X (εk−1) 	�� ���	
� ���
���	�� D (ε)� ��� ��� ��
��� 	
���



�������� �� �	

�� 
� �	
�
��
�
�� �� ����
�	 � ���

�����	
�� �
����� ��� �����
���� ���

εk = arg min
ε∈[−1 1]

‖Y −D (ε)X (εk−1) ‖2F .

�� �� �� ����� � ����� ������� 
�
����� � �
�� ��� ���������
�	��� �
�
�����
�� ��
	 ����

εk =
0.1x2 − x3

x1x3 − 0.7x2
�����

 ��������� (A.2) ���
 (A.3)� !������ 	� ����� ��� �
����� �� (2.11)�

�������� �	 
�� 
���� ������
�� �� ���
��� �����

"��� �

����# ������� ��� �
���� 
� ��� �����
���� D ����� ��� $% &' 

����(���
�

�����	
���

)� *����� �
�
��� Y r = Y −
2∑

i=1
dix

T
i � +
�� ���� �� ���� �#��
�� Y:,1 ��� Y:,2 ��
���


��� 
� ��� *#�� ��� 

����(��
(
d1, x

T
1

)
,
(
d2, x

T
2

)
� "
 �
���� ��� �����
���� ��
��


��������� �
 �
���� d3�� 	� ��� �
��� 
� ��� ���� �	
 �
����� 
� Y r� ���
��� ��

M =

⎡
⎢⎢⎢⎢⎢⎢⎢⎣

0.7
√
1−ε2

ε

0.7
√
1−ε2

ε

−0.1 1

−0.1 1

⎤
⎥⎥⎥⎥⎥⎥⎥⎦
. ���,�

"���  &' �� ���� �
 �
���� d3� ���� ��� 	� �
���

min
d3∈D, x3

∥∥M − d3x
T
3

∥∥2
F
. ���-�

"�� ����
� d3 	��� �� ��� ���������
� �
����

����� �
 ��� ������� ���������� 
� MMT

����
��� �� λ2
max�. (

MMT
)
d3 = λ2

maxd3. ���/�

0� �������� �� �� ��1���� �
 ��� ��� ��
��� �
�� ������� �
� (A.6)� 2
	����� ��� M

�����# �� (A.6) ��� � 
��������� ���������� ����� ��� 3�� ��� ,�� �
	� ��� ��
�����
� 
� ���

��� ��� ��� �
	� ���
��������� "�� �����%���
�

����
� ��� �� 
������� �� � ��
��� �
���



�������� �� �	

�� 
� �	
�
��
�
�� �� ����
�	 � ���

�� ���	
��
��� 
�	 M̃ = [M1,:;M3,:]� ����
��� 	�� �
������������
	
��

(
M̃M̃T

)
d̃ = λ̃2

maxd̃. �����

���� 
	 ��� �� ���
 �� 	��	 λ2
max = 2λ̃2

max� !��	��

d3 = [d1, d1, d2, d2] /
√
2, ���"�

#���� d1 ��� d2 ��� 	�� 	#� ��	�
�� �$ ���	�� d̃�

�� ���	
��
��� M̃M̃T = [a, c; c, b] #���� a = 0.49 + 1−ε2

ε2
� b = 1.01 ��� c = −0.07 +

√
1−ε2

ε � �	 ��� �� ���
 �� 	��	 $�� ��% ��	�
& �$ 	�� $��� [a, c; c, b]� 
	� ��&
��� �
����

��
�� 
� �
��� �%

λ̃2
max =

(a+ b) + (a− b)
√

1 + 4 c2

(a−b)2

2

��� 	�� ����������
�� �
������	�� d̃ = [d1, d2]
T ��	
� ��

d2
d1

=
λ̃max − a

c
and d21 + d22 = 1. ���'�

(���	
	�	� 	�� ��
��� �$ a, b, c 
�	� 	�� $����
� (A.8) ��� (A.9)� )�
�� 	�� ��%
��

�����&
��	
��� 
	 ��� �� ���
 �� 	��	

√
1− ε2k

εk
=

a− b

c
+

c

a− b
− c3

(a− b)3
+ o

(
c3

(a− b)3

)
. ������

(���	
	�	� a (εk−1)� b = 1.01 ��� c (εk−1) ����	�� ����� 
�	� (A.10)� �$	�� �	��
��	$��#���

�����	�	
��� #� ��	�
�

εk = εk−1

(
1− 0.07εk−1 − 0.48ε2k−1 + o

(
ε2k−1

))
.

�������� �	 
��
������� ����� �� ������� �����

��
� ������
& ���#� 	��	 *���
��
+�� (
��, ��% $�

 
� 	�
� �&�

�
	 �&���
� ��� ����

����� 	� � �
���
�� ��
�	� -��� ����
 ��

%� #� #


  ��	 ����� 	�
� ������
	
�� $�� �  &��

������	�� μ �% ���#
�� � ��.�
��	 ������	% 
� 	�� ��/��	
�� $���	
�� �� #�
�� 	���� �&�



�������� �� �	

�� 
� �	
�
��
�
�� �� ����
�	 � ���

���� � ��	�� 
���
��
�� ��
� �
 ���� 
������ ��
 �
���� �� ������
 
�
� ���
� ��
 	������

�	�
���
 �� ����

�
� μ�

�� �
�������
� ��
��� ����

�
� μ > 0� ��
 �������� �� ��
 �
��� � ���
 ���!�



(2.12) ��

fμ (ε) = 3−2(0.7
√
1− ε2 − 0.1ε)2︸ ︷︷ ︸
f1(ε)

− 2ε2

μ+ 1− 1−ε2

μ+1︸ ︷︷ ︸
f2(ε)

.

"
 ���# ��� ��
 �
�������
� �� fμ (ε)� ��
���
 ��
 �
�������
 �� f1(ε) ��� f2(ε)�

f ′
1 (ε) = 4

(
0.7
√

1− ε2 − 0.1ε
)(

0.1 + 0.7
ε√

1− ε2

)
,

f ′
2 (ε) = −4 (1 + μ)

(
(1 + μ)2 − 1

)
ε/
(
(1 + μ)2 − 1 + ε2

)2
.

��
 ��������� ����


��� �!��� f ′
1 ��� f ′

2 	�� !
 �
��$
��

• f ′
1 (0) = 0.28� f ′

2 (0) = 0 ��� f ′
2 (ε) < 0 ��� ε ∈ (0, 1)�

• %& ����&��� ��
 �
	��� ���
� �
�������
 f ′′
1 (ε)� �� 	�� !
 ����� ���� f ′

1 (ε) 
���'

����	���& ��	�
��
� �� ε ��	�
��
� ��
[
0, 0.1

√
2
]
� ( ������
 ���
� !���� �� f ′

1 (ε) ���

ε ∈ [0, 0.1√2
]
	�� !
 �!����
� !& f ′

1 (ε) ≤ f ′
1

(
0.1

√
2
)
= 0.384

√
2.

• %& ����&��� ��
 �
	��� ���
� �
�������
 f ′′
2 (ε)� �� 	�� !
 ����� ���� f ′

2 (ε) 
������'

�	���& �
	�
��
� �� ε ��	�
��
� ��

[
0,

√(
(1 + μ)2 − 1

)
/3

]
�

• )�� ��& ���
� μ <
√
2− 1� �
� εμ =

√
(1 + μ)2 − 1/10. ��
�

f ′
2 (εμ) = −0.4

1002

1012
1 + μ√

(1 + μ)2 − 1
< −0.384

√
2.

��
!��
 ��
 �!��
 �
������ *��
 ���� f ′
μ (ε) = f ′

1 (ε) + f ′
2 (ε)� ��
 ���

f ′
μ (0) > 0, and f ′

μ (εμ) < 0.

(� � �
����� ��
�
 
��� 
����� � ����� �������	
 εmax ∈ (0, εμ) ��	� ���� f ′
μ (εmax) = 0�



�������� �� �	

�� 
� �	
�
��
�
�� �� ����
�	 � ���

��� ��	 
��
� ������� ε0 ∈
(
0, 0.1

√
2
)
��� ��	 
��
� 0 < μ < min

(√
1 + 100ε20 − 1,

√
2− 1

)
�

�� �� ��
�� ����

εμ =

√
(1 + μ)2 − 1/10 < ε0.

���� ��
����� ����������� �
 ���� ��
�
 
����� � ����� �������
� εmax (μ) ∈ (0, εμ) ��

fμ (ε)�

��� �
 ���
 ��
 ������
 ���
���
 ���� ������
������� ��� �����
� ����	��
 �� f ′
μ (ε)�

�� ���  
 ����� ���� εmax (μ) �
��
��
� �� μ �
��
��
�� !� � �
����� ��
�� ���
� 
��� ���


μ �
��
��
�� ��
 �
� ����� �������
� �� ����	� �� ����� �����
� ��
 ���� �� ��
 
�� ��

�������� "��� μ → 0� ��
 ��� �
� 
�������	 �


�
���
 �� #�������
 $��%&� '
��
 ��


�����
 ���� ���� ��� (����	 ����
�

 �� ��
 ���
���� ����� D (0)�

��� ����� �� �	
��
� ���

������� ��	�
 ) ����� �
 ���� ��
 ���������	 �� f̃i(Di)� %�����
� ��
 �����

lim
Dε→Di

f̃i(Di)− f̃i(Dε)

= lim
Dε→Di

(fi(Di)− fi(Dε)) gi(Di)− fi(Dε) (gi(Dε)− gi(Di)) . ������

• "�
� Di �� � ���
����� gi(Di) = 0 ��� lim
Dε→Di

gi(Di)− gi(Dε) = 0�

• &��
����
� lim
Dε→Di

fi(Di)− fi(Dε) = 0 ��� lim
Dε→Di

gi(Di)− gi(Dε) = 0�

*�
�
���
� ��
 ����� (A.11) �� ����	� 
+��� �� �
��� ��
�� f̃i(Di) �� ���������� 
�
�	��
�
�

*�
 ���������	 �� f̃i(Di) �����
� ���� Df̃i
�� � ����
� �
�� ��
�� Df̃i

= Df̃i
�

������� ��	�	 ) Df = Df̃ ⇔
(
Df ⊆ Df̃

)
∩
(
Df̃ ⊇ Df

)
� ���
 ���� f̃(D) ���  


�����
� �� � ��������� �� (���
 ���	 ������ ��������� (2.16)� *�
 ����
�
��� �� ��


��
��
� ���� �� ��
 ����
�
�� ���� ��� 
��� ������ �������� f̃i(Di)� "
 �
�����
 ��
 �����

���� ��� ������

���
 �� �� ����� Df̃i
⊇ Dfi � ���
 ���� Df̃i

= {fi · gi ≤ a} ⊃ {fi ≤ a} ∩ {gi ≤ 1} =

{fi ≤ a} = Dfi � !�� Df̃i
�� � ����
� �
�� *�
�
���
 �
 ���


Df̃i
⊃ Dfi ⇒ Df̃i

= Df̃i
⊇ Dfi .



�������� �� �	

�� 
� �	
�
��
�
�� �� ����
�	 � ���

���� ��� �� 	�
�� Df̃i
⊆ Dfi � ���� �	�
 �� 
� ���
 
�	
 Df̃i

⊃ Dfi � ���� 
� �����

Df̃i
⊆ Dfi �� �����	���
 
� ����� Df̃i

\Dfi ⊆ Dfi\Dfi � ���� �������	���� 
� ����� ���

∀Di ∈ Df̃i
\Dfi � �
 	��� ����� Di ∈ Dfi\Dfi �

 ���� 
� 
��
��� ������ !��� δ1 = δ2 → 0� ��� ∀Di ∈ Df̃i
\Dfi � Di �� ������ �	��

�������
� !�"�#�$� 
� �	� 	����� 
�	
 Di = [d1, ..., dl, dl+1, ..., dn] 
���� dl+1, ...,dn

�� 	 �	%��	� ����	� ����������
 &���� ��Di� 	�� ∀dj , j = 1, ..., l� dj =
n∑

p=l+1

cj,pdp� '���


�� ����� �� �����	���
 
� ����� 
�	
 
���� �%��
 	 �������� Di (εk) ∈ Dfi � 
����

{
Di (εk) � Di +ΔDi · εk| k = 1, 2, ... and ε1 > ε2 > ... > 0

}

���� 
�	
 lim
k→∞

Di (εk) → Di
��

��

�� $����	
� ΔDi =

⎡
⎣y, ..., y︸ ︷︷ ︸

l

, dl+1, ..., dn

⎤
⎦ .

Di (εk) = [d1 + εky, ..., dl + εky, (1 + εk)dl+1, ..., (1 + εk)dn] .

(��	��� Di (εk) �� ������ �	�� �������
� �
 	�
	�� ���� 
�	


fi (Di (εk)) = min
x(εk)

‖y −Di (εk)x (εk)‖22 = 0 ≤ a,


����

x (εk) =
1

l · εk

⎡
⎣1, ..., 1, − 1

(1 + εk)

l∑
j=1

cj,l+1, ..., − 1

(1 + εk)

l∑
j=1

cj,n

⎤
⎦
T

.

'�������� 
� ������ Di (εk) ∈ Dfi � )��� 
�� �	�
 
�	
 lim
k→∞

Di (εk) → Di� 
� ������

Di ∈ Dfi\Dfi � ����� 
�� ����� �� '������ *���� �� ������
���

��� �������	 
�� �
��� �� �� ��
 ��
������ ���� ������ �� Di (εk)� ��� �
��� �� ���� ��
�������� ��

Di (εk) �� ������ ��
��������



�������� �� �	

�� 
� �	
�
��
�
�� �� ����
�	 � ���

��� �����	
��� �
 ∇η (∇λr) �� ���
��� ���

����������� 	
�
 ����������	
 �	�
�� ��� Eij ∈ R
m×n �� ��� �	��
� �� ��
�� ��� �����

	� ����� 	�� ��
����
 
� �
��� ��

(
Eij

)
kl
=

⎧⎪⎪⎨
⎪⎪⎩
1 if k = i, ��� l = j,

0 otherwise.

����
{
Eij : 1 � i � m, 1 � j � n

}

� 	� ���������	
 �	�
� ��� R

m×n�

��� U ∈ R
m×m 	�� V ∈ R

n×n �� ��� 
��� 	�� �
��� �
���
	� ������� �� A �������
��
� 

����� ���� U 	�� V 	�� ���������	
� ����

{
Bij = U:,iV

T
:,j : 1 � i � m, 1 � j � n

}

����� 	������ ���������	
 �	�
� ��� R
m×n�

����������� 	
�
 ��� f �� 	 �	��
�� ��!��� 	� f : R
m×n → R, X → f(X)� "������

��	� � 
� ������ 
� 	 ��
��������� �� X� ��� A ∈ R
m×n� ���� ��� �
����
��	
 ���
�	�
��

∇Af(X) = lim
t→0

f(X +At)− f(X)

t
.

#�
�� A 	� 	 

��	� ����
�	�
��$ A =
∑
i
ciB

i� %�� ∀i Bi ∈ R
m×n� ����

∇Af(X) =
∑
i

ci∇Bif(X).

&����� �� �	
 �
�����
� 
� �	
 �����
��� f(X+At) = f(X)+ 〈∇f(X),A〉 · t+o(t2) �	
�

|t| �� �����
���� ������ �
����
� �	
 ���
���
��� �
�������
� �
 	��


∇Af(X) = lim
t→0

f(X +At)− f(X)

t

= lim
t→0

〈∇f(X),A〉+ o(t)

= lim
t→0

∑
i

ci
f(X +Bit)− f(X)

t

=
∑
i

ci∇Bif(X).
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�� 
� �	
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�
�� �� ����
�	 � ���

�����	
� �

 �������� ����
 	
����������� ����� �� �

 ������ Di� �� ��� �
  ����
�

�� Di = UΛV T !  

�
 U ∈ R
m×m! V ∈ R

r×r! ������� �

 �
�� ��	 ���
� �������� �
�����!

�
��
����
�"! ��	 Λ ∈ R
m×r  

�
 �

 	������� 
�
�
��� ��
 ����
	 �������� ����
�� �
���


η ∈ R
m×r #

 	
�������


UT (∇ηDi)V = UT (∇ηU)Λ+∇ηΛ+Λ
(∇ηV

T
)
V . �$��%�

#
�� 
&������! ��  
�� �� �

 ����� ��� ����
���
�! ��
 �

 '
" �� ������
 �

 (��� ��	

�
���	 ��	
� 	
�������
� �� λr�

• #

 ������ UT (∇ηU) �� �'
 )�"��
����! ��
� UT (∇ηU) = −UT (∇ηU)T � #
��

��� �
 �
��(
	 �" 	�*
�
�������� ���
 ��	
� �� UTU = I� ��������"! �

 ������(∇ηV
T
)
V �� ���� �'
 )�"��
����� $ ����
&�
��
 �� �'
 )�"��
��" �� �
�� �



	������� 
����
� ��
 +
���

• #

 ������ ∇ηΛ �� 	��������

• ,
���� �

 	
(������� �� Eij ��	 Bij � -�
 ��� �������" UT (∇BijDi)V = Eij �

,
�
� �� (A.12)!

Eij = UT (∇BijU)Λ+∇BijΛ+Λ
(∇BijV T

)
V . �$��.�

/" �

 �'
 )�"��
��" �� UT (∇ηU) ��	
(∇ηV

T
)
V ! ��
 
�� �

 	������� 
�
�
���

��  
��
 ��
 +
���� #

 rth 	������� 
�
�
�� �� (A.13) ��

(
Eij

)
rr

= ∇Bijλr.

,
�
����� �� ����������� 	!

∇λr =
∑
i,j

Bij · ∇Bijλr =
∑
i,j

Bij · (Eij
)
rr

= Brr = U:,rV
T
:,r.
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���� �� 	
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��

∇η (∇λr) = (∇ηU:,r)V
T
:,r +U:,r

(∇ηV
T
:,r

)
�
� ��� ����� η� ��
� ��
�
����
� � �� �� �
�	���� �
 	
��
�� ∇BijU:,r ��� ∇BijV T

:,r� ��

���
 �
��	� ��� ������������� 
� UT (∇BijU) ���
(∇BijV T

)
V  ���� �
� ��� ����� k 

(
UT∇BijU

)
kr

= − (UT∇BijU
)
rk

,

((∇BijV T
)
V
)
kr

= − ((∇BijV T
)
V
)
rk

.

!�� 
"�����
��� �������� 
� (A.13) #���� k �= r$ ����

(
Eij

)
rk

= −λkU
T
:,k∇BijU:,r + λr

(∇BijV T
:,r

)
V:,k if k < r,(

Eij
)
kr

= λrU
T
:,k∇BijU:,r − λk

(∇BijV T
:,r

)
V:,k if k < r,(

Eij
)
kr

= λrU
T
:,k∇BijU:,r if k > r.

!�� �%
�� ������ �&
���
�� ���� ����

UT
:,k∇BijU:,r =

⎧⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎩

λr(Eij)kr+λk(E
ij)rk

λ2
r−λ2

k
if k < r

(Eij)rk/λr if k = r

0 if k > r

���

(∇BijV T
:,r

)
V:,k =

⎧⎪⎪⎨
⎪⎪⎩

λr(Eij)rk+λk(E
ij)kr

λ2
r−λ2

k
if k < r

0 if k = r

,

����� ��� ���
��� �
� k = r 	��� ��� ����	��� ��
� ��� ������������� 
� UT (∇BijU) ���



�������� �� �	

�� 
� �	
�
��
�
�� �� ����
�	 � ���

(∇BijV T
)
V � �� � �	�
��
 ��� ��� η = USV T =

∑
i,j
SijB

ij 
 �	 ���	

∇ηU:,r =
∑
i,j

Sij∇BijU:,r

=
∑
i,j

Sij

∑
k

U:,kU
T
:,k∇BijU:,r

=
∑
k

U:,k

∑
i,j

SijU
T
:,k∇BijU:,r

=

r−1∑
k=1

U:,k
λrSkr + λkSrk

λ2
r − λ2

k

+

m∑
k=r+1

U:,rSkr/λr.

���� ������� �	��������
 �	 ���	

∇ηV
T
:,r =

∑
i,j

Sij

∑
k

(∇BijV T
:,r

)
V:,kV

T
:,k

=

r−1∑
k=1

λrSrk + λkSkr

λ2
r − λ2

k

V T
:,k.
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�� ��� ������ 
��� �� ���
��� ���

������ ��� �����	��
����� �
� ��	�� �� ��� ���	� ��������� ��	����
���� �	

MK (α, ε) � E

{
‖ηα (y)− x‖22

}
.

����������� �� 	����MK (α, ε) ��Mk ��� ����� �� �	 ��� ����	 	���� ���� ���� �� ����
�����

	����������

MK = E

{
‖ηα (y)− x‖22 | ‖x‖2 �= 0

}
+ E

{
‖ηα (y)− x‖22 | ‖x‖2 = 0

}
. �����

��� ��� ���� ����‖x‖2 �= 0� ����
	� �� �		
 � ��� ���	� ��������� ��	����
���� �� �!�"��

�� ����∀i ∈ [K]�|xi| → ∞� #���

E

{
‖ηα (y)− x‖22 | ‖x‖2 �= 0

}
= E

{∥∥∥∥‖y‖ − α

‖y‖ (x+w)− x

∥∥∥∥2
2

}

= E

{∥∥∥∥−α

‖y‖x+
‖y‖ − α

‖y‖ w

∥∥∥∥2
2

}

= E

{
‖−α · 1+w‖22

}
= α2 + k.

�"$



�������� �	 �
���
 �� �
���
�����
 �� ������
 � ���

��� ��	 
��� ��	
 ‖x‖2 = 0� ��	�� ���
�� x ��	 ��� �	�� �
� ��	�	���	 y = w� ��	


E

{
‖ηα (y)− x‖22 | ‖x‖2 = 0

}
= E

{∥∥∥∥‖w‖ − α

‖w‖ w

∥∥∥∥2
2

}

= E

{
‖‖w‖ − α‖22

}
= E

{
‖w‖2 − 2α ‖w‖+ α2

}
.

�	� z = ‖w‖� ��	
 z2 �� χ2 ���������	� ���� K �	��		 �� ��		���� ��	 
���������� �	
����

��
����
�

f (Z) =

⎧⎪⎪⎨
⎪⎪⎩
f
(
Z2
)

dz2

dz = c (k) · 1√
2π

· zK−1exp
(
− z2

2

)
z > α

0 otherwise

��	�	 c (K) =
√
2π ·

(
2

K
2
−1 · Γ (K2 ))−1

� Γ(t) �� ��	 ����� ��
����
 �� �
� Γ
(
1
2

)
=

√
π�

Γ (1) = 1 �
� Γ (t+ 1) = tΓ (t)� !�� ��
���	� �
�	����

1√
2π

ˆ ∞

α
exp

(
−z2

2

)
zKdz =

1√
2π

ˆ ∞

α
−zK−1dexp

(
−z2

2

)

=
1√
2π

αK−1exp

(
−α2

2

)
+

1√
2π

ˆ ∞

α
exp

(
−z2

2

)
dzK−1

=
1√
2π

αK−1exp

(
−α2

2

)
+

(k − 1)√
2π

ˆ ∞

α
exp

(
−z2

2

)
zK−2dz.

"	#
	 ��
����
� Ψα (K) � 1√
2π

´∞
α exp

(
− z2

2

)
zKdz� φ (α) � 1√

2π
exp

(
− z2

2

)
�
� Φ (α) �

1√
2π

´ α
−∞ exp

(
− z2

2

)
dz� $	 �� 	

Ψα (K) =

⎧⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎩

Φ (−α) K = 0

φ (α) K = 1

αK−1φ (α) + (K − 1)Ψα (K − 2) K ≥ 2
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��� ���	
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� 	� ����� ���

E

{
‖w‖2 − 2α ‖w‖+ α2

}
=

ˆ ∞

α
f (z) · (z2 − 2αz + α2

)
dz

= c (K)

ˆ ∞

α
exp

(
−z2

2

)(
zK+1 − 2αzK + α2zK−1

)
dz

= c (K) · (Ψα (K + 1)− 2αΨα (K) + α2Ψα (K − 1)
)
.

��
�� ��� ��	 ������ �� 	����
 ��� �	
� 	� ��� ��	�� ��
	���
� ��� ���
 �����
� 	� x�

MK =
1

K

(
ε
(
α2 +K

)
+ (1− ε) · c (K) · (Ψα (K + 1)− 2αΨα (K) + α2Ψα (K − 1)

))
.

�����

 	�� ���� ���� ����� ��!	
���� �	
� �	��� �	
 ��� ����� �
!�
��
�� �
	��
�"� ����� �� 
	� ��

���
�� ������!� #�$����
 
	��� w �	 ������ 
�
�	� !���	
 ���� N% (0, σ2I
)
� ��� 
��$���
�

��� �� ������ �" �	
���
� σ2� ���� �
	��
�" �� ������ ��
� �
� ���� �� $���$� �	
 ��
�!�
�

��� �	
�� ���� ����� �!	�$��	
�

��� ��	!� 
��$�� ��!��

M1 = ε
(
α2 + 1

)
+ (1− ε)

(
2
(
1 + α2

)
Φ (−α)− 2αφ (α)

)
.

���� 
��$�� �	
����� ���� ��� 	
� �
 &'()� *��	 �� ��!�

M2 =
1

2
ε
(
α2 + 2

)
+

√
2π

2
(1− ε) (2φ (α)− 2αΦ (−α)) ,

M3 =
1

3
ε
(
α2 + 3

)
+

2

3
(1− ε)

(−αφ (α) +
(
α2 + 3

)
Φ (−α)

)
,

M4 =
1

4
ε
(
α2 + 4

)
+

√
π

4
√
2
(1− ε) (8φ (α)− 6αΦ (−α)) .

���

��� ��	��� �	
� 	� MK +� �
� �$
���	
� 	� ε �
� α�  	�� ���� ∀ε ∈ (0, 1)� MK �� �	
!�,
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� ��������� �� �
� ������� ��� �� ��� ��� �������
� ����� � !��������

α. "���� ε = 0.05# ���
�� ε = 0.2

�� !��� �� α
 �
� !���� �  ��!�� �� �
��$

∂MK

∂α
=

2

K
(εα+ (1− ε) · c (K) · (Ψα (K)− αΨα (K − 1)))

=
2

K
εα+

2

K
(1− ε) c (K)

1√
2π

ˆ ∞

α
exp

(
−z2

2

)
zK−1 (z − α) dz,

%
��� �� �
� ���
� 
��&  �&� �
� �%� ���� ��� '��
 ��������� ������ ��� �������� ��&

�
�  ����& � �!!�� '���&�&
 �
� ��!��� �
��� � ���� ��� ����� ������ '��%��� ��������

∂MK
∂α ��& �
� α ��� ( %
��
 ���� �
�� Mk � ������ �� α ��& �&��� � ���)�� �������


�
������� ����� �
�  !�� ��� ε( %� ��� �'�� �� *�& �
� �!����� �
�� 
��& α+ �� ��
���� �
�

������� ��� ��� &�,����� K
 -� &����� �
� ������� ��� � 

M#
K (ε) � min

α

MK (ε, α) .

-� �
�� � ε = 0.05 ��& ε = 0.2 ��& &��% ����� �� α ����� � MK �� ������ .	
�/
 0�

!������� �
� α �� ��
���� M#
K ��� '� ����������� &��������&
 0� ������ .	
1/ %� !���� ���

�
� ��� ����� �
�� ��� �!����� α+ ( �
�
( M#
K + ����� � �
�  !�� ��� ε ��� K = 1, 2, 3, 4
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#
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K "����	 ��	�� �#��� � α$�%
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 �� �
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 � ���

��� ����� �� �����	
�
�� 
��

������ ������ K 	� �
�� ��
 ���������� �� �� 	���	�� ����� ������ ��	�	��� 
��	
��	���

��� ���� �� 
��� �� �����	�� k 	� �

�� �� �������

lim
K→∞

∂Ψα (K)

∂α
= −αKφ (α) + (K − 1)

(
αK−2φ (α) +

∂Ψα (K − 2)

∂α

)

= −αKφ (α) + (K − 1)

(
αK−2φ (α) +

(
∂αK−3φ (α) + (K − 3)Ψα (K − 4)

∂α

))

= −αKφ (α) + (K − 1)!! ·
(
φ (α) +

∂Ψα (0)

∂α

)

= −αKφ (α) .

��� ��	� ������ �� �������

∂M (ρ, δ)

∂α

=
1

K

{
2αε+ (1− ε) c (K)

(
∂Ψα (K + 1)

∂α
− 2α

∂Ψα (K)

∂α
− 2Ψα (K) + α2 ∂Ψα (K − 1)

∂α
+ 2αΨα (K − 1)

)}

=
1

K
{2αε+ (1− ε) c (K) (−2Ψα (K) + 2αΨα (K − 1))}

= 0

���� �� ��
�

ε =
c (K) · (Ψα (K)− αΨα (K − 1))

α+ c (K) · (Ψα (K)− αΨα (K − 1))
. � ���

�� ��	�� ��� ��� ������� ���� !������ �! Ψα (K) ��
 Ψα (K − 1) ��	�� ������ �"����	���

#	��� �� ������ K 	� �
��$ ����

Ψα (K) =
(
αK−1 + (K − 1)αK−3 + (K − 1) (K − 3)αK−5 + ...+ (K − 1)!! · α) · φ (α)

+ (K − 1)!! · Φ (−α)

= (K − 1)!! ·
⎛
⎝φ (α)

K/2∑
i=1

α2i−1

(2i− 1)!!
+ Φ (−α)

⎞
⎠

(1)
= (K − 1)!! ·

(
φ (α)

√
2π

(
1

2
− Φ (−α)

)
exp

(
α2

2

)
+Φ(−α)

)

=
(K − 1)!!

2
,
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���

Ψα (K − 1) =
(
αK−2 + (K − 2)αK−4 + (K − 2) (K − 4)αK−6 + ...+ (K − 2)!! · α) · φ (α)

= (K − 2)!! · φ (α)

K/2∑
i=1

α2i−2

(2i− 2)!!

(2)
= (K − 2)!! · φ (α) · exp

(
α2

2

)

=
(K − 2)!!√

2π
.

��	� (1) ��� (2) 
���
 
���� lim
K→∞

∑K
i=0

α2i

(2i)!! = exp
(
α2

2

)
���

lim
K→∞

K∑
i=0

α2i+1

(2i+ 1)!!
=

√
2π

(
1

2
− Φ (−α)

)
exp

(
α2

2

)
.

������ �
�� c (K) =
√
2π ·

(
2

K
2
−1 · Γ (K2 ))−1

=
√
2π

(K−2)!! . ���
������ c (K)� Ψα (K) ���

Ψα (K − 1) ���� ������ �� ���

c (K) · (Ψα (K)− αΨα (K − 1)) =

√
2π

(K − 2)!!
·
(
(K − 1)!!

2
− (K − 2)!!√

2π
· α
)

=

√
π

2
· (K − 1)!!

(K − 2)!!
− α

(3)
=

√
K − 1− α

�
√
K − α.

��	� (3) 
���
 
���� (K−2)!!
(K−1)!! �

√
π

2(K−1)

{
1− 1

4(K−1) +
1

32(K−1)2
− ...

}
��	 �
� ��� �����	

(K − 1) → ∞� �
��

ε = 1− α√
K

.
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��� ��� 	�
�� ����
���� �� �
�� ��

���� Kδ = Mk (ε, α)� ����

Kδ = MK (ε, α)

= ε
(
α2 +K

)
+ (1− ε) · c (K) · (Ψα (K + 1)− 2αΨα (K) + α2Ψα (K − 1)

)
(4)
= ε

(
α2 +K

)
+

c (K)

c (K + 1)
αε− α2ε

(5)
= ε

(
α2 +K

)
+

√
Kαε− α2ε

= ε
√
K
(
α+

√
K
)
.

���� (4) 
�� (5) ���� 	���� −2αε = (1− ε) · c (K) · (−2Ψα (K) + 2αΨα (K − 1)) 
��

lim
n→∞

Γ(n+a)
Γ(n) = na� ����� �� ������ ��
�

δ =
ε

ρ
= 1− α2

K
.

��� �����	
��� �
 ��� M#
K �� ���
��� ���

��� �������� ��� ���� ���� ! ���� ��� 	�"�
� ����� �
� #� 	��
�
��� ���� ��� ������
����	�

M#
K = E

{∥∥η (X +W ; Λ−1, α
)−X

∥∥2
2

}
= εE

{∥∥η (X +W , Λ−1, α
)−X

∥∥2
2

}
δ‖X‖2=0 �$�%!

+ (1− ε)E
{∥∥η (X +W , Λ−1, α

)−X
∥∥2
2

}
δ‖X‖2=∞ �$��!



�������� �	 �
���
 �� �
���
�����
 �� ������
 � ���

��� ���	 
��
� ����� X = 0� �� ���� Y = W � ����

E

{∥∥η (X +W , Λ−1, α
)−X

∥∥2
2

}
=E

{∥∥∥∥(∥∥Λ−1W
∥∥
2
− α

)
+
· W

‖Λ−1W ‖2

∥∥∥∥2
2

}

=

K∑
k=1

E

⎧⎪⎨
⎪⎩
⎛
⎝
√√√√ K∑

l=1

σ−2
l W 2

l − α

⎞
⎠

2

+

· σ−2
k W 2

k∑K
l=1 σ

−2
l W 2

l

⎫⎪⎬
⎪⎭σ2

k

=

K∑
k=1

1

K
E

⎧⎪⎨
⎪⎩
⎛
⎝
√√√√ K∑

l=1

σ−2
l W 2

l − α

⎞
⎠

2

+

⎫⎪⎬
⎪⎭σ2

k. 
����

��� ���� ����� ���� ����� ������� �� ��� ������ ! �� ��� �����	 ������ Λ−1W �

��� ���	 
���� ����� �� ‖X‖2 → ∞ ��� ‖W ‖2 / ‖X‖2 → 0� �� ����
∥∥Λ−1Y

∥∥
2
/
∥∥Λ−1X

∥∥
2
→

1� ����

E

{∥∥η (X +W , Λ−1, α
)−X

∥∥2
2

}

=E

⎧⎨
⎩
∥∥∥∥∥ −α

‖Λ−1X‖2
X +

∥∥Λ−1X
∥∥
2
− α

‖Λ−1X‖2
W

∥∥∥∥∥
2

2

⎫⎬
⎭

=E

⎧⎨
⎩

K∑
k=1

(
−αXk

‖Λ−1X‖2
+

∥∥Λ−1X
∥∥
2
− α

‖Λ−1X‖2
Wk

)2
⎫⎬
⎭

=α2
E

{ ∑K
k=1X

2
k∑K

k=1 σ
−2
k X2

k

}
+

K∑
k=1

σ2
k

=
Kα2∑K
k=1 σ

−2
k

+

K∑
k=1

σ2
k 
��"�

��� ���� ����� ���� ����� �� 
��"� ������� Xk = δ±∞ ��� X �� ������ ��� ��������� X2
k =

X2
l �

��� �����	
��� �
 
�� 
�� �����	� �	��� �� ���
��� ���

������ �� ��� ����������� ������� ��� ������ �������� �� ��� #��� � ����� ���� ��� ���

	���� �� �������� 
���$� �� σ2
2 = ... = σ2

k� %� ����� �� ��������� x2, ..., xK �� 
���$��



�������� �	 �
���
 �� �
���
�����
 �� ������
 � ���

������

Ĩ1,K−1 �
ˆ

c1
∏

l �=1 fG (xl; 0, 1)

c2 +
∏

l �=1 fG

(
xl; 0,

1−Rl
Rl

)dxl\1

=

ˆ c1
∏

l �=1 exp
(
−x2

l
2

)
c2 + c3

∏
l �=1 exp

(
− Rl

1−Rl

x2
l
2

)dxl\1,

	
��� c1, c2 ��� 
�������� ��� xl\1 ����� �
� �������� �������� �� �� l = 2, 3, ...,K� ������

z =
√∑K

l=2 x
2
l ��� ����� I1,K �� � ���
���� �� z� �
��

Ĩ1,K−1dz =
c1exp

(
− z2

2

)
c2 + c3exp

(
− Rl

1−Rl

z2

2

) ˆ
ν
dxl\1, �����

	
��� ν �� �
�� ��������� �
��� ������ �� z (x2, ..., xK)� ����
´
ν dxl\1 
�� �� ���� �� �
�

���� �� (K − 2) ��
��� !�"# 	��
 ������ z 	
�

 ��

ˆ
ν
dxl\1 =

(K − 1) zK−2π
k−1
2

Γ
(
K+1
2

) . ���$�

%����������� ������ ���$� ���� ������ ��� ����
��� �
�� Γ(k + 1) = kΓ(k)� �� &�����'

Ik,K =

ˆ
Ĩ1,K−1dz

=

¨ fG (x1; 0, 1)
2−

K−3
2 zK−2exp

(
− z2

2

)

Γ(K−1
2 )

x21

1 + 1−ε
ε
∏

l �=1

√
Rl
fG (x1; 0, 1)

2−
K−3

2 zK−2exp
(
− Rl

1−Rl

z2

2

)

(
1−Rl
Rl

)K−1
2 Γ(K−1

2 )

dx1dz.

(�� �
� ������� ����&��� �� ����� �
� �)�������
� ���	��� �
� ������ �������� ���*+�

��� �
� �������� �������� ������ �� σ2
1 = ... = σ2

k� ,��� �
�� 
��� ��
��� x �� ��������
� 	�



�������� �	 �
���
 �� �
���
�����
 �� ������
 � ���

��� ��	
��� ���� x2l 
� z2/K ��� ����

Ik,K =

ˆ
Ĩ1,Kdz

=

ˆ 2−
K−2

2 zK+1exp
(
− z2

2

)

KΓ(K
2 )

1 + 1−ε
ε
∏

l

√
Rl

2−
K−2

2 zK−1exp
(
− Rl

1−Rl

z2

2

)

(
1−Rl
Rl

)K
2 Γ(K

2 )

dz

=
1

K

ˆ
fχ (z; 1,K) z2

1 + 1−ε
ε
∏

l

√
Rl
fχ

(
z; 1−Rl

Rl
,K
)dz ������

fχ
(
z;σ2, k

)
=

21−
k
2 zk−1e−

z2

2σ2

σkΓ (k/2)
.

��
������� ������ ���� ������� ���� ��� ���
�� �� �����
 

�� � �������� �� K → ∞! "�

����

lim
K→∞

Rk · Ik,K = 0.

#��������!

lim
K→∞

Mk,K = ε (1−Rk · Ik,K) = ε.

��� ����� �� �	

� ���

������ #� 	����
∂Mk,K

∂Rl
< 0! "� �$����
���
� 	����

∂Ik,K
∂σ2

l
< 0� %��� ���� ��� 	�����


����������

∂

∂σ2
l

1√
1−Rl

exp

(
− Rl

1−Rl

x2l
2

)

=exp

(
− Rl

1−Rl

x2l
2

)(
x2l −

1

1−Rl

)
R

3
2
l

2σl
.
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� � ��

�� �����

�� ��	� �	 ���	

∂Ik,K
∂σ2

l

=

ˆ
∂Ik,K
∂σ2

l

ˆ ∏
i fG (xi; 0, 1)x

2
k

1 + 1−ε
ε

∏
i

1√
1−Ri

exp
(
− Ri

1−Ri

x2
i
2

)dxldxj �=l

=

¨
∂Ik,K
∂σ2

l

∏
i fG (xi; 0, 1)x

2
k

1 + 1−ε
ε

∏
i

1√
1−Ri

exp
(
− Ri

1−Ri

x2
i
2

)dxldxj �=l

=

¨ −c1 · exp
(
− Rl

1−Rl

x2
l
2

)(
x2l − 1

1−Rl

)
R

3
2
l fG (xl; 0, 1)

2σl

(
1 + 1−ε

ε

∏
i

1√
1−Ri

exp
(
− Ri

1−Ri

x2
i
2

))2 dxldxj �=l

<

ˆ −c1
´
exp

(
− Rl

1−Rl

x2
l
2

)(
x2l − 1

1−Rl

)
R

3
2
l fG (xl; 0, 1) dxl

2σl

(
1 + c2√

1−Rl
exp

(
− 1

2σ2
l

))2 dxj �=l ������

=0,

��	�	 c1, c2 ��	 �����

�� 
� (xj �=l, Rj �=l) ��� ��	 ������ �
�
�
�	���	 
�	����
�� ������

�
��� �
��	 ∀xl ∈ (−∞,∞) 

exp

(
− Rl

1−Rl

x2l
2

)
< exp

(
− 1

2σ2
l

)
.

��� �����	
��� �
 
�� ���� ��
��	
�� �� ���
��� ���

��	 !

�� ��
���
�
�� 
� X ��� Y  

pX,Y (x,y) =pX (x) · pW (w = y − x)

= [(1− ε) δx=0 + εpG (x;0,ΣX)] · fG (w = y − x;0,ΣW )

= (1− ε) |2πΣW |− 1
2 exp

(
−1

2
yTΣ−1

W y

)
δx=0

+ε
∣∣4π2ΣWΣX

∣∣− 1
2 exp

(
−1

2
xT
(
Σ−1

X +Σ−1
W

)
x+ yTΣ−1

W x− 1

2
yTΣ−1

W y

)
.
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X̂i = EX [Xi|Y = y]

=

´
xi · pX,Y (x,y) dx´
pX,Y (x,y) dx

=

´
xiexp

(− 1
2x

T
(
Σ−1

X +Σ−1
W

)
x+ yTΣ−1

W x− 1
2y

TΣ−1
W y

)
dx

1−ε
ε |2πΣX | 12 exp (− 1

2y
TΣ−1

W y
)
+
´
exp

(− 1
2x

T
(
Σ−1

X +Σ−1
W

)
x+ yTΣ−1

W x− 1
2y

TΣ−1
W y

)
dx

=

((
Σ−1

X +Σ−1
W

)−1 (
Σ−1

W y
))

i

1−ε
ε

∣∣ΣX

(
Σ−1

X +Σ−1
W

)∣∣ 12 exp(− 1
2y

TΣ−1
W

(
Σ−1

X +Σ−1
W

)−1
Σ−1

W y
)
+ 1

.

��� ��
	��	��� �	����

ΣX̂ = EY

[
EX [X|Y = y]EX [X|Y = y]

T
]

=

ˆ
ε2
(
Σ−1

X +Σ−1
W

)−1
Σ−1

W yyTΣ−1
W

(
Σ−1

X +Σ−1
W

)−1
f2
G (y;0,ΣX +ΣW )

εfG (y;0,ΣX +ΣW )

(
1−ε
ε

∣∣∣ΣW (ΣX +ΣW )
−1
∣∣∣− 1

2

exp
(
− 1

2y
TΣ−1

W

(
Σ−1

X +Σ−1
W

)−1
Σ−1

W y
)
+ 1

)dy

=

ˆ
ε
(
Σ−1

X +Σ−1
W

)−1
Σ−1

W yyTΣ−1
W

(
Σ−1

X +Σ−1
W

)−1
fG (y;0,ΣX +ΣW )

1−ε
ε

∣∣2π (ΣX +ΣW )
(
Σ−1

X +Σ−1
W

)
ΣW

∣∣ 12 fG (y;0,ΣW

(
Σ−1

X +Σ−1
W

)
ΣW

)
+ 1

dy.

�������� ���� ��� 	��
� ������� �� �	
�

ΣZ = EY

[
(EX [X|Y = y]−X) (EX [X|Y = y]−X)

T
]

= −ΣX̂ + εΣX ,

����� ��� ��	���	� �������� �� ΣZ �� ��� �
� 	�����	��� �� ��� ��
� �����	��� X̂�

��� �����	
� �

��

� �� ��� 	�����
� 	� ��
�	�� ���

 � ��� ���������	� !�	�� ��	������� ���
��� �� ���� �� ���!��� ������	� "��#� ��� ���

���!���� ����� 	� �	�� ���� ��� ��!!��� ������ ������	� �� �����
	� [−∞,∞]� �� �����	�
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Ik,K (R, ε) =

ˆ ∏
l fG (xl; 0, 1)x

2
k

1 + 1−ε
ε

∏
l

1√
1−Rl

exp
(
− Rl

1−Rl

x2
l
2

)dx
≤
ˆ ∏

l fG (xl; 0, 1)x
2
k

1−ε
ε

∏
l

1√
1−Rl

exp
(
− Rl

1−Rl

x2
l
2

)dx
=

ε

1− ε

∏
l

(1−Rl)

ˆ
fG (xl; 0, 1−Rl)x

2
kdx

��
 ��
 6σ ���
� �� ��
 �������	 �����������	� �����
 ��
 �	�
���� �	�
���� �� [−6σk, 6σk]�

��
�
 σ2
k = 1 − Rk �� ��
 �����	�
 �� ��
 �������	 ��	����	 �� ��	�� ��
 ��� ����� �


����
� ���	 1− 2× 10−9� ���� �
 ��	 ���
��


ˆ
fG (xl; 0, 1−Rl)x

2
kdx

>

ˆ 6σ

−6σ
fG (xk; 0, 1−Rk)x

2
kdxk ·

∏
l �=k

ˆ 6σ

−6σ
fG (xl; 0, 1−Rl) dxl

>

ˆ 6σ

−6σ
fG (xk; 0, 1−Rk)x

2
kdxk ·

(
1− 2× 10−9

)K−1

=

[
1− 12φ (6)

2Φ (6)− 1

]
· (1− 2× 10−9

)K−1
(1−Rk)

=(1− 7.3× 10−8) · (1− 2× 10−9
)K−1

(1−Rk) .

��
�
���
 �
 �����
 [−6σk, 6σk] �� ��
 �	�
���� �	�
���� �	� ��
 ����������	 ���
��	�
 �����

�
 �
�� ���	 ε
1−ε(1− 7.3× 10−8) · (1− 2× 10−9

)K−1∏
l (1−Rl)�

��� ��� ��	
��
��
� �������
� 
	 ���
�����
� ��
�� ��
����

��
� �� �����
� ���

��
 ��
 �
	 � �	��������	 ���
	���	 �
!	����	 d (X) = lim
m→∞

H(�mX�)
logm � ��
�
 X �� � �
��"

����
� ��	��� �������
� m ∈ N� #��� ��	����	 �·� �� ���
	 ���
�	
	�"���
� ��
��
� �

�	 $���% ����� ���� ��
	 X ��� � �����
�
"��	��	���� ��&
� �����������	� 
���� '
�	�����"

�������	 �����������	� ��
�
 H (�X�) < ∞� ��
	 d (X) = ε�

��� ��	���
� �����"�������
 X ∈ R
K ���� (��	� 
�� )*��+, �	� Σ = I� ���� �����
	 �	
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pX (x; ε,0, I) = (1− ε) δx=0 + εfG (x;0, I) .

����
 ������� � �� ����� 
� ����� ������ B = εI + (1− ε)0 
���� ����������� �� ���

����� ��� ��� �� �

d (X) = E (rank (B)) = Kε.

��������� 
� �� � d (Xk|Xl �=k) = d (X)− d (Xl �=k) = ε!
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